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dϕ
=
N0
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[1 + 2v2 cos 2(ϕ− Ψ0)] , N0 =
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−π

dϕ
dN

dϕ
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v2{EP} =
vobs

2 {EP}
R

=
vobs

2 {EP}
〈cos 2(Ψ2 − Ψ0)〉 . @��^N
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√
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〈cos 2(ϕ1 − ϕ2)〉 =
1

N2
0

π∫
−π

dϕ1

π∫
−π

dϕ2 cos 2(ϕ1 − ϕ2)
d2N

dϕ1dϕ2

=
1

N2
0

π∫
−π

dϕ1

π∫
−π

dϕ2 cos 2((ϕ1 − Ψ0) − (ϕ2 − Ψ0))
dN

dϕ1

dN

dϕ2

= v2
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c2[4] ≡ 〈cos 2(ϕ1 + ϕ2 − ϕ3 − ϕ4)〉
− 〈cos 2(ϕ1 − ϕ3)〉 〈cos 2(ϕ2 − ϕ4)〉 − 〈cos 2(ϕ1 − ϕ4)〉 〈cos 2(ϕ2 − ϕ3)〉 . @���\N
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c2[4] = −v4
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√
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 v2� 
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v2 = (−c2[4])1/4 , @���	N

� ���-���
���3� �� 1/N
3/4
0 � )���
���3 /������- 1/N

1/4
0 �
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������ )����
���4��
/���5�� ��-)������# )���-����# rm

Gθ(ir) = 〈eirQθ〉, @���`N

��� Qθ � 
����� )����� � θ )����
��'�3# �����

Qθ =

N∑
j

cos 2(ϕj − θ). @���aN

���� ��� v2� )�����������
����� )� pT � �
����� � -���-�-�- rθ
0 -����� )����
�;

��4�# /���5�� |Gθ(ir)|�
vθ

2{∞} ≡ j01
N0rθ

0

, @���dN

� ��//����5���'��� 
��� ��� ������ ��-)�����3- 
3�������-

v θ
2 (pT ){∞}
N0v2{∞} ≡ Re

(
〈cos 2(ϕ− θ)eirθ

0Qθ〉
〈Qθeirθ

0Qθ〉

)
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√
sNN ∼ 10 
?��
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3����0 ?�����# � )��-����� �3-� 
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√
s = 9 nK�
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� | η |< 1� :���� 
0���
 
 ��������--3 � �������� ����� �%�$��
����
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��� ����� ��-�  ���� �-�������
���30 ��$3��# r�L�jezzm 103� 104�
105 � 106� �����-��'��� �������� ���� �������-�� ��� ���� pT @)�� ��-������ v2

��� /���5�� pT N ��� )��
30 104 ��$3��# �����
���� ∼ 1.5 
?�uc ��� )������
 � ∼ 1
nK�uc ��� )����
 � �����
� ��� )��
30 105 ��$3��# �������-�� �$����' pT -����
$3�' ���%����� �� ∼ 2 
?�uc ��� )������
 � ∼ 1.5 nK�uc ��� )����
 � �����
�
��� ��-������ v2 ������/�5����-30 ������
 � ������� ��# ����������# 
)���' ��
pT/nq = 1 
?�uc @��� nq ;  ���� ������������30 �
����
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pT = 3 
?�uc ��� )������
 � pT = 2 
?�uc ��� )����
 � �����
N ���$0���-� 106

��$3��#� :��$3 ��-����' v2 )����
 � �����
 � -���# �������� ����# �%�$��# )��
pT = 3 
?�uc� ���$0���-� ∼ 107 ��$3��#�
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�����3� �5���� ����
����
��� /����� )��
30 ���# ��$��3 AFL )�� �����;
�-�# �
���-���� SXYO� (���- �$����-� )�� ������'�30 ��-������0 -���� ������'�
 �� �������� ����� �%�$�� ��-�����# ��//����5���'���� v2 @�� ���'�� ��� )��;
��
� �����
 � )������
� �� � ��� $��'%����
� �����0 ������
� ����0� ��� -�����

ρ� ω� φ� $������
 Λ� Ξ� Ω � ����N $���� ��� ����'�� -��'%� �����-��� ����0 �%�$���
!���
�3- ���� ����- �����-��� ����0 �%�$�� 
 �)��������� v2 $���� )����%�����
-�����
 ����������5�� ?���)�� ������ )����� @�-� )���3��4�# ������ ��	��N� "�;
����� ���a )����3
��� )���-��� �����%���� )�������� ����5�� ξ ∼ √

2N0v2 
 ���
;
����� @���bN ��� /���5�� -������
������� ������
 ��� ����� �30 ��� ���# )��;
���������
������ )� pT ��?//�5����� v2� ��� ������-30 ��� ���# v2 ∼ 0.02−0.03
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��)��
����� �������� )��3 ��� 
 ��$30 ��)��
�����0m )�)��� ��- @�N� $���
�- @[N�
��� )�����'��- @�N� � �.]�� )��� ��- r∗i = ri� 
-���� r∗x ≡ Δx∗ = γt(Δx − vtΔt)�
��� γt � vt � 7����5 /����� � �������' )��3 
 �.]�� ����� 
����'�  �� ����-��;
��� 
 )�)��� ��- ��)��
����� @�N ��
���� ��� � �� )���������
����# 〈Δx〉� ��� �
�� 
��-����# 〈Δt〉 ����-����#� � ��� �� ��-������4��� ������
����� ��.� )���;
�� ���� ����%���� �������5�����# /���5�� ��)��-�� �
����� � ����-�����# 〈r∗i 〉�
���-���
����# �� 2���
���# ������ )��3m

R+i/R−i ≈ 1 + 2〈r∗i 〉/a. @��\_N

"���� �� -���� �������5����3-� /���5��-� R+ � R− )��
���� � �����3-
�5����- ����-����� 〈r∗i 〉� ��� ��� �� �������� ����� �%�$�� �� -���-�����
��3�
���-��'%�� �������� ����� �%�$�� �� 
��-���30 ����������� )�� ��������� 
���
|k̂∗i | = | cosψi| 
 �����# )���� 
����4�# 
���� 
 )��������� R+ ��� R−� Q�� �%�$��
����
����
��� �))�����-�5�� -�����- ���-��'%�0 �
������
 ��� -�����- -�-��;
��
 @)��
���4�� � 
��� 2〈r∗i 〉/a = 〈k̂∗i 〉/3N� !�� ����� �-��'%��� � �������� �����
�%�$�� ��
���-���� R+ �� R− �� -�������' (4/3)1/2 @����
����
��4�# 33% �
���;
 ���� ����������N vcaw�

���-� ����� ��/��-�5�� �$ ����-����� ���������� 
 -�-����0 )��
�# ���)�;
�� 〈k̂∗i 〉� ����� -���� ��
�� ' 
����� ��/��-�5�� �$ ��������)�� r∗;����������
���� ����
  ����5 � �� $���� 
3����0 ���)���#� (���- �$����-� $3�� )���������

_a



�����-��� ����� �����3��� �������5�����# /���5�� 
 ���-���0 �������
�# ���
�/��� ����# ���-����� � ��� ���� ����
����
��4�0 (2l + 1) ��?//�5�����
 ����';
���� Q;��
���-��� ����
��� -�-���� ��� �����# ���)��� l = 0, 1, . . . vcd� ccw�

!���3
������  �� )�)��� �3� �������5����3� ����-����� -���� )����-�� ���;
��-� � )������-�� ��$�����-3� 
 ��������
����0 �����30 ����
 
 YjpS� � qSk�
��0������ 
 �������� � )����� ���� �� ��
���4�- �� ������ ��������- -�����
 ��
)���)�������  ��m1 < m2 )�� ����5����'��- 〈Δx〉 = 〈x1−x2〉 �u��� )��������'��-
c〈Δt〉 = c〈t1 − t2〉 $���� ���
�� ������'��0 /- vad� c^w� 8���� ����� ��� ��0������ 

���� ���
����- �������� � �����)�����# -����'� pxAL� ��� �� ��� � � 
����
�#
)���-������5��# �����;
��3
�� ��� � � )�������3
��4�- ��-������4�� �/��� �;
����  ���' ����-�����#� )��� ���3-� 
������
�� $��'%�0 )�)��� �30 )�����
�

� ��)��
�- )��$�������� ������� ��)��
�� �������' -��'%� ��� $���� �����30
 ����5� ������� ����-���� � b )�� )��������'��- )���������
����- ��
��� $����;
���� )����� � -��'%�-� ���-���� � �����'����� 〈xπ〉 < 〈xK〉 < 〈xp〉� ��$�������
�������5����30 ����-����# 
-���� � �����0��# )� -���� ��
���
 
 f)�)��� ��-f
��)��
����� -���� ����- ����-����
��'� ��� ���� �� ��-30 )��-30 �������
 �
���$��'��- ��������
��- )�)��� ��- )����� vadw�

�������������� ��.������ ���/��4� (���.���#�
(��

�������5����3� ��-������ -���� ��)��'��
��' ��� ��� %���� ��%��� ������
� ���'��- 
���-���#��
�� ��� ����� �30 �
�0 ���� �30 �����-� ��� ��� ����
�������
���# ��4���
���� �����30 ����� ?//����
�3# ������ r0 �$����� ��������
-���� $3�' ��4���
���� $��'%��  �- ���-�� )����5���� ���'���� 
���-���#��
���
����� ��. �
������� ����- �$����-� ����
���-3- �� /��-3 )����5���� v^bw� ���
-����'��0 ��� ����0 Q = 2k∗ � )�� �����- )����- �)��� S� ��. �)����������
J;
����
�# �-)������# ��������� fS(k∗) vd_� d	w� � ��� ��� ����� |fS| > r0� 
����
��. $���� )������ |fS/r0|2 � $���� ��-�����
��' )� ���
����� � ?//����- �.� �
)����
�)������- ��� ���  �
��
����'����' �������5�����# /���5�� � �-)������
��������� $���� �)�������'�� ����#�3- ?��-����- fS/r0�

���-������' �������5������� ��-������ �-)����� ��������� $3�� )������� 

vadw �� ����
� )���
������'���� ������� �����$���5�� SO	^ )�� ��� ���� �����;
��5����30 ����30 π+π−;�����-3 )�� ��)��'��
���� �����)�����# -����� pxAL�
��� ?���� ��� ��� ���-� ��-������ r∗;���-���� 
 pxAL �������5������ /���;
5�� R(Q; sr, sf) $3� 

���� ���-�� ���'���� 
���-���#��
�� sf � -����4�# ���-��
)��
��� ��'��# J;
����
�# �-)�����3 ��������� π+π−m f(k∗) → sff(k∗)}  �� )��;
$�������'�� ����
����
��� )��
��� ��'��# ����� ��������� f0 = b�\_ Z�� !�������'�
 �� �))�����-����4�# )���-��� sf = 0.6 ± 0.1 ��� ����'�� -��'%� �����53 @�-�
�$�������� 
��-���30 �����-��� ����0 �%�$�� 
 vd`� dawN� ����$���� �� 
  �-;�� $�;
��� ���$�� ��-������ -��%��$� @∼ 0.8N )��� ��� ����� 
 ����
��- ?��)���-���� )�
��-������ 
��-��� ����� )�����-�� )�� ���)���0 Kl4 � K± → π±π0π0� ��� �� ���
)�� �
�0;)����
30 
3 �������0 �����'��# )�����$���
��# ������ �� ���������3-
��� ����- �
����
��� ���������� vd`� daw� Q��� �������5����3# -���� $3� �����
��)��'��
�� ��� �5���� ��������30 ΛΛ � pΛ̄ s;
����
30 ���� ��������� vad� ^�w�

_d



�� �$ !��������
� � 
���������

 #����	� ��
������ 
 �

�
�
������ ����
 �� %&'(�

Q��)���-���3 �����$���5�� prXY )����-��������
����  �� ���� �� � )������

�4���
� � )������3- ����-$��-� ��� ���3
��-�# i���'�� �5�)�����# �
���;
�������# )���-�#f� $3�� �/��-���
��� 
 �������
����0 ��'���;������
������0
�����30 ����
 )�� ?������0

√
sNN = \bb nK� v^\� ^_� ^	� ^`w� ��$����;

���' ����� ?//���3 ���� ����$����� ����# @�KD;~BKTM�ET�N� )���
�����  ��-�;
��� @M�VG�ITEB� JBHHGKJJEITN� -��%��$���
���� ?���)�� ������ )����� �
����
30
��-���
 @CCEHDEM �I� ~BVG�;TB�UKG JMVCET�N� �
��� ���� 
30��� ������30  ����5
@M�VG�ITEB� JBHHGKJJEITN � ����� �����3� �$3 �� ����-����
����� ��� ������3 /���;

��� )���0��� 
 /��� �����/�#�-����� ��/��-�5�� � )���������
����;
��-����#
?
���5�� ���� ��� � )������� 
�4���
�� �$����
������ )�� �������
���� �����30
����
� -���� ����� ��
�� ' � )�-�4'� �������5�����# /�-�����)��� �������5��
��
���� �� )���������
����;
��-������ ����������� ��������4��� �� �� ��)�������
� ���������'�3# �-)��'��  ����5� ����������
����;
��-���3� ���������'�3� ���;
������� i��-�������f 
 �� ��0� ���  ����53 )�������� 
���-���#��
�
��'� � �����;

���� �
�$���3-�� Q��� -�-��� �����)��� )�� � ��' $��'%�0 /���0 �������
�����
������� )���� ����� ��� �$����
����' � �� ���� �
� ��� ��$�� ������ ?����� �����
��������� -������� �� ����� ����- )��-30 /�����
� �����3� -���� ������'�� ��
�
�� ���-� ����� ����� ������3� ��� ��-����� ����# ���� �$����� ����5�� � �)�;
5�/� �����  ���3 ��������
���� )������ ���������� ���������-� ��
����� �
�
����
���� ���� 
 ���� ��- ���������� ��� � ��' �)�5�/� ����� )���������
����;

��-���3� �������5��� 
����4�� �� �)����3 �-)��'��
 � �������5����3� �����;
�3� 23�� )����-��������
��� v^aw�  �� �)����3  ����5� �����/���-���� ����� �$t;
�-3 @�������5����3� ������3N � ���������3� )�������� /���
��� )���������
��
��-�����3� 
 ��$�� 
��-� )�� ���)����������� �����;������������ ����� )� ��
��0�������� )�� ����$��� ����- � 0�-� ���� ��-�-��������- ���
����� ��� �;
��� /�-�����)� ����0 �������5�#� ����- �$����- )��
���� ��- )���
�����' -�;
���'�3� )����������� ��� �����0 �����# � ?
���5�� /�#��$���� !���������  ��
/���
3# )���0�� )��
��� ���� ���'�� �������� ���
���� /�#��$��� v^dw� !������
)����3� �������5����3� ������3� ��-�����3� 
 %�����- ���)����� ?�����# @��
?�����# Ono �� prXYN� ��-��������
��� ���������� ���$�� ��
���-���' �� ?���;
��� @iprXY ����
���-�� +2(f� hE�� ���dN � �� )������� ����0;��$� �� �� ����3
�
v^c� ^^� �bb� �b�� �b\� �b_� �b	� �b`� �ba� �bdw� ��)3��� �)����' �������5����3� �����;
�3 
-���� � ��$�����-3-� �-)��'��-� @v2N ���-�����
��� ���
���� ���������-� �;
���0 -�����#� (���- �$����-� �������� ����
��- ���������-� ����- 
3 �������-�
/�-�����)� ����� ������3� �)����3  ����5 � ?���)�� ����# )���� -���� �)����'
��$� ��)��'��� )��
��� ��'�3� ������
���� )��/��� )�������� v�bcw ��� 
��� ��
��-$���5��m )��;��)��
��� ���������� $���� �������� ���
����� ���������� � ��;
$�
��� �������5�� 
������� v�b^w� ���'��#%�� ���
���� �
����� � ��)��'��
����-
��)���3
���� �5������ ��������5�� �� $��� ��
�# �����;������ ����# -����� v��bw�

!�������'�  �� ���������� ��$�����-�� )�� �������
����0 �����30 ����
� ����;

����
��� �+� 
3 �������- �� ��%���� ��� /���
��� )���0��� \;�� ����m $3���3#�
�� -����#� ������
�� )�� 
3����# ��-)������� e � ����-�4�#�� � ���� $�����;
�3# 0�-� ����# )����5��� μB v���� ��\� ��_w� "���� �3� -����� )�������3
���
���'�3# )���0�� �;�� ���� )�� T ∼ 0 - $��'%�0 μB v\`� ��	w� ������ ����- �$��;
��-� ������' ��4���
�
���� i����� ����# �� �� f @�(N �� �+� /���
�# ������--�

_c



μB(T ) @�� �� 
������ )������� ��� ��� ����� ����� )���0��� �;�� ����N� .�4���
�;
�4��  ������3� -����3 
3 ������# �� �+� ��%���� ����������' � ���������-�
��� μB > 0� ����- �$����- )��
��� � ������� ����- ���)������������- 
 )������;
����� )�������� ����� ����# �� ��� ������������  �� 5��'� ?��)���-�����'��#
)�����--3 $���� )���� )�������� �( )���- �-��'%���� ������
��4�0�� ?�����#
@
√
sNNP`�`b 
?�� ����
����
��4�� μBP b�a�b��` 
?�N� -��������5�� ��4���
��4�#

?��)���-�����'��# ������
�� oFo @SO	^� SOa�N @ElabP\b��`c &
?�� ����
����
��;
4��

√
sNNPa�_��d�_ 
?�N� )���$������� ��
��� � -��������5�� ������� �$�����
�;

��� ��� )��
������ �������
���# hOXp @YqAN @ElabP`�_` O
?�N � SXYO @AFLN
@
√
sNNP	��� 
?�N� !���
��# /��� ����# ���� �# SXYO �
������ �)��������� -�;

�����0������� ����� ����# �� ��  ���� ?��)���-�����'��� ���������
���� �� )��;
�����
� (����� )�������3
��� ����� )������� ����� ����# �� ��m

�� ��-��������� )�
������ �������30 ��$�����-30 
��� ��}

\� �
��� ���� /������5�# 
$���� �(� �� ���' ���� ����- �-��'%���� /������5�#
)�� �
��� ���� ?������ � μB )�� )��0������� �(}

_� ����
��
����� ���� ��� ���������� ������-�� )���� �0��������  ���� /���;

3# )���0�� �;�� ����� )��
���4�# � ��������
3- /������5��-�

"���� �3� ���������3� �����'���3 )�� �����0 ?������0 ��$�������' 
 ?��)���;
-���� SO	^ 
 oFom ��-��������� )�
������ K+/π+� i���f )��

√
sNN P d 
?�� � i)��;


��f )��������� )��-��� )������ .������
���� )� ?������� ������� $���� 
3)������

 ?��)���-����0 prXY� hOXp� SXYO� oFo � 5��'� ��� ���� ��-�����# ���$3 �30
�
�#��
 ����3 
 ��
���-���� �� ?������ )� ��� �� ���' $���� �� ��-����'�� ���
i
3��� ��'��f )���
����� �� )������30 �
�#��
� ����������� ��� ��' )�� �����;
��
���� )� ?������ ������4�� ��$�����-3�m

�� 
30��3 � ����%����  ����5�

\� �)����3  ����5 @pt� $3���������N�

_� ��������  ����5 �� ���������'� @K/π���N�

	� ����� �3� ��)3 /������5�# � �������5�# @〈pt〉� /�-�����)��N�
`� )����� @v1, v2, v4���N � �������
���3-�  ����5�-��

!���- �� )�������
 �
������ ������ ��-������ )�
������ ��$�����-30 
��� ��
)�� �
��� ���� μB� !���������  ��  ������3� /������5�� $���� �� %� ��0�����';
�� 
 �� ���� ?
���5�� ���� �# -������ �� )�������# ������ ��������� ����� ���
 ��� ��)��-��� /������5�� K/π $���� �-��' $��'%�� 
���������' ��0�����'�� @��
���' ��$�����'��N )� ���
����� � /������5��-� 〈pt〉�

,
��� ���� 
��-��� ��)������� $�������� /���
�-� )���0��� �;�� ���� ������
�������'�� �� �
��� ���� ����%���� Rout/Rside� !������ ����� �
��� ���� �� ��$��;
�����' @"��� ���dN �� )�� ?������0 ?��)���-���� prXY� �� )�� ?������0 no;oFo�
��� ��3 �������
�� ?//���� �$t�������' 
3%�} 
��-���3� )�� ��3 )�� �����0
?������0 -���� $3�' ������4�-�m

�� �-��'%���� ���������'���� 
����� �
� )�� �����0 ?������0}

_^



���� ����� L��	�	����� �� (���
		 �����
�.	���/0 �� 	����  
� .�����
��/0 ���
���*
���	! �9:�9 +@A:@A, ��	 ��� �	0 )/������0�

\� )���$������� -����'��0 )���������
����;
��-���30 ���������# -���� ���� ;
����-�  ����5 )� ���
����� � $��'%�-� ����������-� 
 
���-30 /�-�����)�;
 ����0 �������5��0 @)�� �))�����-�5�� ������
30 �������5����30 �������
N

Q�� )�� ��3 ����3
��� �� ���  �� ��� ��
�� ���� ��/��-�5�� � $��'%�0 ���;
-���0� �
�����30 � �
�� ���$0���-� ��)��'��
��' $���� �����3� -����3  �- ��� ��;
���3� )��-������' 
 )��%�30 ?��)���-����0� Q�� -���� $3�' -���� ���$�������
@E�V�ET� DKM�TE~BKN v��`w ��� -��'��)���-���� ����� �))�����-�5��� ��-����4��
)������ _;0 -����� ������
� �))�����-�5��� ��� ?�� -����3 ���$��� $��'%���
�$t�-� ?��)���-�����'�30 ����30� ������ ��/��-�5�� -���� ����� )��� ��'
�� �����'���� ������� ����
30 �������5�# )� ����%���� � )�������� ����5�� va`w
� ���������� �� �/��� ����� ���-����� v��aw� Q�� ��-������ ����� )����$��� ��;
/��-�5�� � )���������
����;
��-����# ��������� ��)�����4�# �����-3� (��$��
$��'%�� ����������� ����� ?��)���-���3 $���� ���'�� 
��-���3 ��� � ��' $��';

	b



���� ����� mt ���	�	����� 	����	����/0 �����
�.	���/0 �� 	����  
� .�����
��/0
���
������	! �9:�9 ��	 ��� �	0 )/������08 ��
�-���/0  
� ��� ���
	-�/0 -���	.�

%��� ���� ���
� ��)�
  ����5� 2��'%�� �
���-���'� )�������-�� 
 ?��)���-����
SXYO� $���� ��� �
�# ��� ?��0 ���� � 8�-�����)� ����� �������5�� ��)��' -����
��� ��'�� � ��
3-� $���� �� �3-� ���������-�� �$��)� �
��4�-� $��'%�# �$t;
�- �������� ����0 ����30� :����53� �����3� )�������� ��� ��' 
 ?��)���-����0
oFo� )������
���3 
 (�$��5� ��\� 
�����
3 �������5����3� ������3 $3�� �)��;
�����3 ��� ����� �30 ��-$���5�# �������
���30 � ��������
���30  ����5 @�-�
��)��-��� hE�� ���cN� .������ ��-����'�  �� �� �����3� �������5�� -���� 
�����
���)��3 ���������
 �� ����- �$����-� ?��� /��� )��
���� ��- ����� ' -��'%�0
)���������
����;
��-���3� ���-���
 $���� )��-3- �)���$�-�  �- ?�� $3�� $3 ���
)����
� .)���� �
�0 ���� �30 �����-� �����3� -���� $3�' �������
��3 -�����-�
/�-�����)�� 
 ?��)���-���� AFL )������
��� 
 (�$��5� ��_�

:�� �
������ 0��������3-�  ����-� ?��)���-���� AFL )� /�-�����)�� )� ���
;
����� � ?��)���-����-� oFo@SOa�N� prXY@oeOpN � hOXp@YqAN�

�� &���)���� 
 �����#����30 ?��)���-����0 @oeOp� AFLN ���$� ��
���� �� ?���;
���� ����� ��� ��� ?��)���-����
 � /������
����# -�%��'� @SOa�� YqAN ���
���'�� ��
���� �� ?������ )�� /������
����# ���-����� -�%���� 64� ����-
)���-�4���
�- �����#����30 ?��)���-����
 �
������ -��'%�# ���-�� ��-�0
���������
� �  ��������� ��-����-3� �-)��'�3  ����5 � ����
����
��4�� 
��;
-� )�������# $��3 ��� �����-3 egh )�� /������
����# -�%��� ?��)���-����
YqA )��-���� 
 �b ��� $��'%��  �- $��3 
 ?��)���-���� AFL�  �� � �
����

����� �� ����-���' ����������

\� ��������-�� �
���-���' �����#���� SXYO $���� )��-���� �� \ )������ 
�;
�� ��3 $��'%��  �- �
���-���' ?��)���-����
 �� prXY� Q�� )��
���� ��-
��-����' $���� %������ �)����3 ��-$���5�#  ����5 � ��%��' $���� %�����#
�)���� /��� ����0 ���� )� ���
����� � ��-3-� �����-� ?������-� ?��)���;
-����
 �� prXY�

	�




������ ���� K�� ��� ���7����������� ����7���/0 ������� ��	 HI8 3I 	 RI �_(� 	�
(�����	������ C@C� `�����
��/� +aV, ���	�� �!���	� @A:@A�

Elab, A \b _b 	b√
sNN � 
?� a�_ d�a c�c
〈π+〉 184, 5 ± 0, 6 ± 13[��d] 239 ± 0, 7 ± 17[��c] 293 ± 3 ± 15[��^]

π+, dn
dy y≈0

− ; 96, 6 ± 0, 4 ± 6[��^]

FMC : π+, dn
dy y≈0

63, 0 ± 1, 0 79, 0 ± 1, 0 98 ± 1, 0 ± 6

〈π−〉 217, 5 ± 0, 6 ± 15[��d] 275 ± 0, 7 ± 19[��c] 322 ± 3 ± 16[��^]
π−, dn

dy y≈0
81, 0 ± 0, 35[��d] 94 ± 0, 37[��c] 106, 1 ± 0, 4 ± 6[��^]

FMC : π−, dn
dy y≈0

81, 0 ± 1, 0 94 ± 1, 0 106,±0, 5

〈π0〉 ; ; ;
π0, dn

dy y≈0
; ; ;

FMC : π0, dn
dy y≈0

76, 0 ± 1, 0 92, 0 ± 1, 0 100, 0 ± 0, 5

〈K+〉 40, 0 ± 0, 8 ± 2, 0[��d] 55, 3 ± 1, 6 ± 2, 8[��c] 59, 1 ± 1, 9 ± 3[��^]
K+, dn

dy y≈0
15, 2 ± 0, 45[��d] 19, 4 ± 0, 51[��c] 20, 1 ± 0, 3 ± 1[��^]

FMC : K+, dn
dy y≈0

15, 0 ± 0, 5 19, 0 ± 0, 5 20, 0 ± 0, 5

〈K−〉 10, 4 ± 0, 12 ± 0, 5[��d] 16, 1 ± 0, 2 ± 0, 8[��c] 19, 2 ± 0, 5 ± 1, 0[��^]
K−, dn

dy y≈0
4, 80 ± 0, 055[��d] 6, 8 ± 0, 15[��c] 7, 58 ± 0, 12 ± 0, 4[��^]

FMC : K−, dn
dy y≈0

4, 0 ± 0, 05 7, 5 ± 0, 5 8, 0 ± 0, 5

〈φ〉 1, 91 ± 0, 45[��d, �\b] 1, 65 ± 0, 17[��d, �\b]� 2, 50 ± 0, 25[��d, �\b]
φ, dn

dy y≈0
0, 0010 ± 0, 0005[��d, �\b] 0, 055 ± 0, 012[��d, �\b] 0, 07 ± 0, 01[��d, �\b]

〈p〉, dn
dy y≈0

; ; ;

p, dn
dy y≈0

; ; 41, 3 ± 1, 1[�\�]

〈p〉, dn
dy y≈0

; ; ;

p, dn
dy y≈0

; ; 0, 32 ± 0, 03[�\\]

〈Λ〉 28, 0 ± 1, 5[�\_, �\b] 41, 9 ± 2, 1 ± 4, 0[�\_, �\b] 43, 0 ± 1, 9 ± 3, 4[�\	]
Λ, dn

dy y≈0
; 16, 5 ± 0, 2[�\_, �\b] 14, 4 ± 0, 6 ± 1[�\	]

〈Λ〉 0, 16 ± 0, 03[�\`] 0, 50 ± 0, 04[�\_, �\b] 0, 66 ± 0, 04 ± 0, 06[�\	, �\b]
Λ, dn

dy y≈0
; ; 0, 37 ± 0, 04 ± 0, 04[�\	, �\b]

〈Ξ−〉 1, 5 ± 0, 13[�\b] 2, 48 ± 0, 19[�\b] 2, 41 ± 0, 15 ± 0, 24[�\a, �\d, �\b]
Ξ−, dn

dy y≈0
0, 93 ± 0, 13[�\b] 1, 17 ± 0, 13[�\b] 1, 07 ± 0, 06[�\a, �\d, �\b]

FMC : Ξ−, dn
dy y≈0

0, 75 ± 0, 10 1, 0 ± 0, 1 1, 2 ± 0, 1

〈Ω + Ω〉 ; ; 0, 14 ± 0, 03 ± 0, 04[�\c]
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 �$����� ������0 $3������ (���-
�$����-� �����3 $3�' ������/�5���
��3 � ��-����3 �-)��'�3 $������
 )��
y ∼ 0 0 < pt < ptrig�
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!�����-3- )���
�����- )�����# $�������# -������ ����� $3�' ����� ���;
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� � �
��� ���� 
��-��� ���;
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�� ��������� Q�� ����;
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�� -���� $3�' ?��)���-�����'�� )��
����� � )�-�4'� �������5�������
-����� @/�-�����)��N� "����53 
 �������5����30 /���5��0 π,K, φ, γ )��
�;
���� ��- �������
��' ?
���5�� �
����
�# -������� 8�-�����)� ����� ��-�;
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 )��������-�- �������
���� ��������� 
 �������� )�������� � 
��-�;
�� ����� �$����
���30 $������30 �����-� "������� 
���� �3� $�����3 �� ���
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��� ���3 
 )����3� �������3� �/��-���
���3� /������;/�������3-

���-���#��
��- @NcN � ������ @NpN @�)�������3 �� ����-����
�����N� -����
������' �����0�� ���-���
 r(Nc1, Nc2) < r(Np,Np) < r(Nc,Np)�
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� )����30 �����-�0 /��-����
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�������
������ �  ��������� ����%���� �� ���# 
30���  ����5 ; ��-)�����
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��� ���
���'�� ��� �����--���� �30 ����� �� �����
���� �����
���'�3- ���
He3+He3 �������
���# � ��� ���--���� ���� �������� @��)��-�� �� �������;
�3- )����- ��� �����-N� Q��)���-�����'��� )�����--� 
��� ��� ��-������
p/n, π+/π− ����%���#�
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������ ����%����� ��--����� @o{@_NN ����� �-��� ������5�� � 
�������
��;
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 ����
��0 
3����# $�������# )��������� Q�� 
��-���� )�� �������
30

30���0 ����� �30 ��-)����� $��������� ������� !����� )�� �
��� ���� 
3;
0��� @��)��-��N Λ ; $������
 ������ ��)��
�����'�� �
��� ����- 
30��� ��;
���
 @��0������� ����������N� ��� ?������0 ������
��4�0�� ���� 
 ������'��

?�u������ ��/�5�� ?������ ������ $3�' �������
�� � -���-��'��# -����#
-�%��� @��-�����
���  ����N v�`_w� �30�� ������30  ����5 $���� 
�������  �-
���  ����5 � ����
�# ���������'� ��;�� ����-��� ����0 ����
�# @�� �� ��-�;
����
���  ����N� 6��� ��)�������'�3� ����3 )��
���� ��-�����
���  ����
� 
��� ��� )��
3%��4�# ��--� -��� ������
��4�0�� ����� �� ����# ��� �#
)������
���� ���$3# �������� ��� ��� )�� ?��- 
30�� Λ 
��-���� ���'�� )��
��4���
�
���� )�����
����� ��)��-�� @qqqqs̄N ��� @�N ��$������ @qqqqqqqs̄N�
,
��� ���� 
30��� ������30  ����5 ����-����
����� ��� �������� �� �
���;
�������� )���-� 
 �����'���� )��5���� )���$��-� gg → ss̄ v	�w� ������/�;
��5�� 
��%��3 ���$��� ���)��� ������ 
����� ���' 
 ��������5�� ������30
$������
 @Λ,Ξ−N� (�)� ��� ���������� -���� )��
� ��# 
��%���# � �� ��#
���)��� ∼ ��-� (���� �)�5�/��� )��
���� � ��)�������'�3- ���$�
����- �

��%����-� ���������� ��������
����� Σ0 @���������� Σ0 � ΛN ���$��� ����;
��/���5�� /������ ������/���5�� Σ− ���$��� ������/���5�� ��#�����
� �
Σ+ ���$��� ������/���5�� ��#����'�30 )����
�

`� ��
���	�� #���	�

� ��-�����
�30 )��5����0 ��������� �
��� ���� 
30��� ���������
 �  ����5
� $��'%�-� ��� ����-� �)���� �  ��������� ����%���� 
30��� 
������30 -�;
����
 � �������3- ������ �
��� �
��'�� � ��-�����
�3-  ����- @?//���
)��������� &��� 2�����3-N v�`	w�

a� )
����
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��� ������
�� �� ���$�
���# )���5�)� ������ ���' ?����� ����0 ��������#
������ �
��� �
��'�� 
 ����
��0 )�����# /��-�����# ����3� �  ���������
�$����
���� ���
����
 $���� )���)� �����'��� �������� ��$������30 ����;
�����
� 7����� )�����
���� ��)� @	~JN ��� ��$�����3 ��)� @d~JN �����3 ���;
)����'�� 
 ������3 � /����3�

d� #�����(��#��		�� 
���������

���'��$�����3� � -��'��/��-����3� ?//���3 �����3 )��
���'�� 
 )�����#
����� v�``w�
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Q//����
����' �������� @�-� (�$� ��`N �5���
����' �� ?��)���-�����'�30 ����30
��$����30 �����$���5��# hkXSe 
 �(Q8 � ���������- 4π ���-����� )�� �
���-�;
��� ����� 1030�-−2 −1�


������ ��	� &��������/� �� �	����/  
� ����/0 ���
����/0 �� �- +::, ���)0� 	�/�
+:, 7�
���
��/�

jYOk ���%��� (������ ���-� )������ ��#����
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� �� ��7��	�  
� 106 ���
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X1 +X2 ` a d
SXYO 105@YYN} 104@rKrKN 3 · 103@YYN} 3 · 102@rKrKN 102@YYN} 10@rKrKN
prXY 103@YYN} 102@rKrKN 30 @YYN

!5���� �$t�-� ����30� ���$0���-30 ��� ��-������ )���-����
 ���� ���� @/�-;
�����)��N �� �������� ����-� �%�$��-� -��'%� �b|� ∼ 2 · 103 ��$3��#�

��)�� +�
���	� �"�,�
��

���	� �������
�

��$������� ������30 -��'��$������30 ��������# )������
���� ��$�# ����������

��-������' ��� ���� �
�#��
 0������# )�����# $�������# -������ � ��)�����$�;
��
��# �+� v�`a� �`d� �`c� �`^� �ab� �a�� �a\� �a_� �a	� �a`� �aa� �ad� �acw�

Q��)���-�����'�3� ����3� )� �������
����- ���9�30 ����
 @v�ad� �acwN )����3;

����  �� ����%���� K+/π+ $��'%� )�� ?������0 qSk−Ono�  �- )�� ��-30 
3��;
��0 ?������0 YjpS−oFo � ���� )�� ?������0 prXY� Q��)���-�����'��� ����%����
Λ/π+ 
 ����5�� pC )��-���� 
 �
� ���� 
3%��  �- ?�� �� 
��� ��� 
 ����5��0 pp
��� pC 
 ��-��0 -����� hpXeXgh )�� ��# �� ?������ v�a^w� !������ �� ��4���
���
������� �30 ?��)���-�����'�30 ����30 ���������'�� �������� ������30 ��)����


 �����;�����30 � ����;�����30 �������
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 �$����� �-)��'��
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���� ��������30 �����30 �
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0
H 
 ��-��0 /���-������� ����# -����� �������� R������� �������� @�VITEM

SBMCKVG YCBJDKG� �SYN� ����
����# �� ?��)���-�����'��# ��/��-�5�� � �����0 ���;
������ K

0
S� �$ ���-� �������� 
������� � � ��������� Λ∗(1405) v�a�� �a\� �a_� �a	w�
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��/! 6��8 ���6	�	������/! ��
	������

+��� ����� ��������� $3�� )���������3 �3�� �- v�a`w ��������� 
��-� ��;
���� ��%' ����
�� �����)����' ?��)���-�����'�30 ������
�� @�j� v�a_� �a	� �dbw�
LXoeg v�d�w� hgFX v�d\w� LOhSj v�d_� �d	w� VTW gqjkX� v�d`wN� 
 ���$������� ; ���
��� ���� ������ ���� ?����� ����0 ����� )��
��� � )��
3- ?��)���-�����'�3- ��;
���'����-� �����3� ���5����
��� ���
�9���� ��������� � )����� OAOLj{o v�daw�

� ��$��� v�ddw $3�� )��������  �� �������� ���������� 
 )�������# ��������;
5�� �� ����0 � �� 
������� �
����3 � 
��-���3- /��-���
����- �
���;�������#
)���-3�

.����� v�ad� �acw� -3 )������-�  �� 
3%��)�-����3# ?��)���-�����'�3# /���
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���� ���)��� �
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Q��)���-�����'��� �
������'��
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)����)��� �� ��$������� ����0 ���������
 � o P ;� � )�-�4'� -����� )��)���
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)�3�'��
�# ��-��3 v�dc� �d^� �a^w )�� �-)��'�� )� �� 
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?�u� v�cbw� v�c�w � �b

?�u� v�c\� �c_w� ����
����
�����

.������� &�
��� v�aaw� 
�)��� � �����30 ���������0 K
0
)��� ���9� �� �
���� ?��;

)���-�����'���� �����%����� ���  �� ���$0���-� ��)�������'��� �)�5���'�� )�;
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�49���� ?��# ���� � �����-��� ����� �������
�����
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�� =Λ, π+B � =Λ, pB

=���	
�� Λ, π+B �� ���� ��\_ )������� ���)��������� ?//����
�30 -��� Λπ+

��� 
��0 �^`_	 ��-$���5�# )�� %����� $��� �d �?�/c2 )�� �b 
?�u� v�c�� �c\�
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�- � ?��)���-�����'�3- �����%���;
�-� ���0��� )���3
����� ���
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2��#��;�������� 8�� @������ )���3
����� ���
��N )������
��� )�����-�- c )�;
������ ����3
����� ��������--� �� �������0 ���$������ /��� �-�������
���3#
�� ����
� -����� hpXeXgh� "����%���� )� -���� ΔM/M = 0.7|� %����� ���)���
Γ ≈ 	` �?�uc2� .� ���� �������� Σ∗+(1382) ���� )��-���� ��� -$ @abb ��$3��#

 )���� �_σN ��� 
���-���#��
�� p + C�  �� 
 ��` ���� )��
3%��� �5��9���� �� �;
���� Q��� ��$�����-3# �������� Σ∗+(1382) → Λπ+ )������� 0���%�# )��
����#
�����-� -������ 
��-���� ����� ?//����
����' ��� ���)���
 ��)�����
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���� ���	� M, K����� Λp � 	 ���	6	.	������/�	 ��������	 � �)
���	 	���
���� I�3U<
Pp <I�FI BXYPcJ A, K����� Λp  
� �������
���/0 �������� � �)
���	 	���
���� 0.14 <
Pp <I�3 GeV/c� ����/�	���� 
	���
����� ������������� ��)/�	��8 ��� �
	������/�
gh�^�dg�

� �$4�# 
���������� ���������
���� 
 \`| ��� Λ � ��� ��)�����
 Σ∗+@�_c\N�
�� ���� ��\_� b )������ ��� �� �)���� Λπ+ ��� �	�b\ ��-$���5�# )�� ���-���� �;

���- ����)����� ��������� AFL@eFYN v�ccw � %����� $��� �a �?�uc2 )�� �-)��'��√
sP	�	 
?�uM ��� ����5�# HzY� ����3
����� ���
�� )������
���� ��$�# ��--�

)�����-� c )������ � ����# /���5�� 2��#��;������� @_`b ��$3��# 
 )���� d�\σN�

��-���� ����� ?//����
����' ��� ���)���
 ��)�����
 )��
���� � �$4�# 
�����;
����� ���������
���� 
 �^ | ��� Λ � �`| ; ��� ��)�����
 Σ∗+(1382)� Q�� ��� ����
����)�����
 ��� �������� � ���������'��� 
���������' ���)����

=���	
�� Λ, pB � �)�$����
���30 �������0 v�c�� �c\� �c_� �c	� �c`� �ca� �cdw ��;

��������� -���� ��-$���5�� @ΛpN � ������/�5���
���3-� /�����-� ���� ���
�����
��� �-)��'��
 b�_`b< Pp < b�^bb 
?�uc� .)��%��� ���
�� )���������� ��;
$�# ��--� /���� )��� ������ )�����-���'�3- -�����-� �  ��3�90 ���
30 2��#�;
�������
���0 @q�N ���������
 @hE����\	� VN� ��$�������� ��� ����'��� )�
3%����
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����� 
 ?��-���� - a^^
!$4�� ����� 
 �$-���� - a^^b
�����-��'��� ��)������� ���������� )�� X�V� ��� d	��
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����� �b )�������'�30 �0��;
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��� x )��)����������� )�������� )������ � D ; ����� -���� �����- � ������-�
������5�� ��������� ��������� )� 
��-� �$t�-� ��������� � �$t�-��# �������'� K
����30 )��u�$t�-u���� Q������ ����� )��� E � )���������
���3# ����� )�����;
���'�30 ����
 ρ �)���������� ���
�����- ��)���3
����� m

∂ρ

∂t
+ μE

∂ρ

∂x
+
μ

ε
ρ2 = K,

��� ε ; ��?������ ����� )���������� μ ; )��
������' )��������'�30 ����
� 6��� K
; )��������� E � ρ )��0���� � ��
��
����-� ���������� "�%���� ��� ��
��
������
��������� m

^b



E(x) = E0

√
(EA)2

(E0)2
+ α2

x2

D2
,

���; EA ; ?������ ����� )��� �� ������ E0 ; �������� ?������ ����� )��� 
 �����;
��
�� )���������
������ ������� α ; $�����-���3# )���-���

α =
D

E0

√
K

εμ

�� ������� \�\c )������� ����%���� EA/E0 ��� /���5�� α� ������� )�������;
��
������ ������ )������'� �)���������� 
��� ���# )���-���� α�

.������' ���#/� )��������'�30 ����
 �����
���� νion ≈ 0.213 · 103 �-u� ���
����
�# �-��� F�b� � )��
������' ; μ = 1.64·10−4-2�uM� �����-��'��� 
��-� ���#/�
����
 ; ∼b�db	 ��

��)��'��� ?��)���-�����'�3� ����3� oeOp v\�`w ��� 5������'�30 Au + Au
�������
����0 )��

√
sNN =^ 
?� $3�� )��� ��� �5����  ���� )��������'�30 ����


1.2 · 106 
 eFY � �)�������� ������� 
��� ��� ��
��
������ )���������
������ ��;
���� 2.4 · 109 )��������'�30 ����
 )��  ������ 
���-���#��
�# 6 · 103 ��$3��#u�
� ?//����
��# )�������� ����������-30 ����
 ∼ 1.3 · 10−10 �����u-3�� "�
��
��;
��� ��� ���� )��������'���� )���������
������ ������ ����������� 
 �� ���� b�d �
)���� �� ��� ?��)���5���

!�
� ��4�� ?��- ��� ����- 
��� ��� $�����-������ )���-���� α ��
�� b�b_`
��� ?������ ������ )��� E0� ��
���� �_b �u�-� � 
������ )���������
������ ������
)��������'�30 ����
 ����� ����'��� (�- �� -����� ?//���3 )���������
������ ��;
���� �����3 )����-��'�� 
� 
��-���� � 

����'�� ����
����
��4�� )�)��
�� ��

�������4�� �������������� )��� v\�aw�

���� ����� �
����	-����� ��
� �� ��� � 	 ���� � ��� 6���.	� ��������� α�
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"����������4�� ?���������� ������ � ��3
��' ����� ��$����3# )��$�������'��
cbbbb )���-�� ���)�������3-� 
 � ��3
��4�0 ��-���0 �� ���5�0 eFY� (���
3#
������ 0�������������� $3���3- 
��-���- ���������� � �����3- �)���- 
����;
��
�� �
������ )�����
�30 ����
�

!���
�3� ���$�
���� � �����������4�# ?���������� )��� �����3 
 (�$��5� \�c�


������ ���� ������/� ���)����	� � ��
	���	��"#�! (
������	��

3���.�
� X��0����
���� ���
� ������
 cbbbb
!���%���� ������;%�- \bm�
����-� ����# ���)���� ∼�bbb
=�- @jSYN < 1000 K−

,������� ∼�b -�uZY
��
���� < 0.3%
���-� /��-���
���� ∼�cb ��
:������ �5�/��
�� �\�` A
5
����-� ����# ���)���� ������� �b $���


��$��� �5�/��
�� _`b 
��-���30 ��-����
������5�� �)��� )���� � -��∼ 0.1%
"��-�� ��$3��� ∼� Aq
.������' )����� � ����30 ∼` 
qu� → `b Aqu�
�����$����� ∼`b -��u�����

 ���� ���
�.� H��	
����	�

"����������4�� ?���������� AFL eFY 
��� ��� 
 ��$� ����� cbbbb ������
� !�;
���'�3# ����� � ��3
���� ������� �� ���0 ����
�30  ����# @"��� \�\^Nm ������;
 �
��
����'�3# ��������'u/��-���
����'@FOoON� �b;$�� -���)����$���4�# �b�\b
AoFo &]� � hFnO ������� ������� ���4���
���� 5�/��
�� �$��$���� �������
�

*����� ��
�����3# �� )��3 eFY� �����
����� � ������������� 
 FOoO  �)�� ��;
���3# ����
�� �� ������ �
��
����'��- ��������� � )�������4�- JK�E;nVBJJEVT
/��-���
�����-� Q�� �������
3� /���5�� �������
��3 
 �)�5��������
����# ��;
������'��# �0�-� @OoXYN ������� �-��� �a ������
 � )����$�����- ���� \b -��
�� ������ ������0�-� �-��� �������� ����� �b -�u/�� � 
30����# ����-� ����#
���)���� \ � ���
��-3# � )��������-3-� &]�� .0�-� /��-����� �-)��'�3 ���;
���'����'� ����� ∼�cb ��� =�- �����'���� ������ ?�
�
������� E ∼�bbbK− @pAoN�

��� ��-������ ����� ���������#  ����53� ����� ������� )��� eFY ������
$3�' � ���� &]�� Q��� &]�� 
������
�� ������ ������� )��4��� ?�����������
������ $3�' -���������'�3-� (�� ��� ����-� ����# ���)���� ������� �� �������;
��u/��-���
����� ������ $3�' ����� �bbb� ����� ��)��'��
��' �b;$���
3# &]�
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�  ������# �b÷\b AoFo @����
����
��4�# )����� `b;�bb ��N� (���� &]� � ���$�;
�-3- 
��-���- )���$����
����� ����-� ����- ���)�����-� )����$�����-� ���� �;
��
�- ������
 ��  �) � �� ����'� ��-������ ��� ��# �� ��%�
3 � ��--�� ����
�����)�3�

���� ����� S�0	������� ����
� �-	�/���	��

 ���(��� 	�.�����
� ��4��
���%6V�# H��	
����	�

-����
��/T)��.���(�
��/ !���
�3� ���$�
���� ��� ,������;
��u8��-���
����� )���$�3 ��-�  �� ��)��'��
����' 
 FYO�a @�����$�����30 

YjpSN � FOoOuOkXYj� �$� �a;�� �����'�3� OoXYJ� �����3� ��)��'������ 
 OkXYj
��� oeOp eFYJ�

3��4��..��%�.�# X�����(�# -����
��/ =�AS GFB� �����8�	����v\�d� \�cwm

�����$����� < c -��u�����
�a;�� �����'�3# ��������' z VTDE;VCEVJET� /��'��
�������'� ��//����5���'�3# 
30�� ���������
!$� )��������� �������
.)�4�# ����- @
��-� 
�������
����� P � -�N
������--����-�� 
30����� ������'����' @_b �� � �\b ��N
������--����-�� �������� 	 ���)��� @�\ � \d -��u/��N
�������
��-�� 
��-����� ��������� )������������
"��-��  �)� P ��` -- × 	 --
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Q�
�
������3# %�-�
�# ����� @?�������3N< �bbb K−

��?//�5���� )���$����
���� � � � � � � � � � � � � �\ -�u/��
���������� 
��-��� @h�rAN � � � � � � � � � � � � � � � � � � �cb ��
������������ )�-�0� -���� ������-� � � � � � � � � < 0.3%
�����$����� � � � � � � � � � � � � � � � � � � � � � � � � � �< \b -��u�����
!$�  �)� $���� �������
��3 �� ������ p�L �


����4�2:�8��(�# 3��������(�
��/ &������
3# ������ � 
30��� �0�-3 ���;
������u/��-���
����� )����)��� �� 
0�� &]� � �b;$���
3- ����-� ����- ���)�;
����- �  ������# �5�/��
�� �b�\b A
5� .������ -3 �-��- %�����# �������-���
����0 &]�� �����$����� � ���� ���
� ������
 
  �)� �
������ ����
�3- ���$�
�;
���-�

� ������4�� 
��-� ������'�� ��)�
 &]� -���� $3�' ����-�����3 ��� ��������3
��� )��-������ 
 SXYOueFY� !��� �� ��0 OLo`\cd @eK�VJ XTJDGB�KTDJN� �����3#
�-��� )��0���4�� �����%����� )����$����� � �������' v\\bw� Q��� &]� �-��� ����#;
�3# 
30���  �� )��
����� )����� ��' $��'%�� ���� ���
� ������
 � ����-� hFnO
 �)��

 ���(��� ����.�
�� S�?KJLO�

"����%���� � � � � � � � � � � � � � � � � � � �b $��
:���� ������
 � � � � � � � � � � � � � � � � � � � � c
AV���  ������ � � � � � � � � � � � � �a` AoFo
A���  ������ � � � � � � � � � � � � � � �b AoFo
�����$����� � � � � � � � �∼	b -��u�����
���)�� � � � � � � � � � � � � � � � � � � ^ --×^ --

:�8��(�# ��4���/��# 3�������� �� ���� �'�. ���4��..��%�.�# ��4�	�
=\�]SB !���
�3� /���5�� )��5������m

• )����� ���� ������
 &]�

• �$������� f0
����f �������

• 
3 ������ $���
�# �����

• )���
����� ����#

• /��-�����
����

• $�//�����5��

• 
3�������������# ����#�3# �����/�#� � ���5���������- ����30

• /���5�� �)��
����� ��������-
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� )��5���� �$��$���� �������
 )���� �5�/��
��� �0�-� ������5�� $���
�# �����
�$����� �����-��� ����� ��-������ $���
�# ����� 
3 ������- ��� ���#� 0����4�0;
�� 
 )�-���� .�-�����$��
�� @-���� ��������-�N -���� ����������
��' $���
��
������ ��
������ ��;�� ��-)������3 ��� ���#/�� ����� ������5�� $���
�# ��;
��� -���� ������' �������-��� ����� ��-������ $���
�# ������ �����3� ��$�
���3
��������-�� 8��'�� �$������� f0
����f ������� ?�� 5�/��
�# /��'��� �����3# �$�;
���� �����3# ����3# f0
���f ������������ ������� � ����������� 
3�
���3� ����;
�����-�� Q�� )��5����� ��� %��� ������/���5�� ��������
� � ������5� )��5�����
)���
����� ����# �$����� 
�� ����3� ���� )����� � �-��'%��� �$t�- )�����
��-30
����30�

�������<���� ��4��
���%6V�# H��	
����	�

������ )���� �����������4�# ?���������� @hjqN �������� )���3# ��$�� �������;

30 � 5�/��
30 ��-)������
� ���$0���-30 ��� � ��3
���� �������
 � )���
� �3��;
��� )�������' ������
 @�� b�	 �����u�-2N 
� 
��������# �$����� )���
�# )�������� �
���$�
���� �$��)� ��' -���-��'��� ���� ���
� 
�4���
� �� ?���������� ���$��� ��
��� ��)��'��
���� � ��' ��-)����30 ��-)������
� hjq �����3 $3�' ���)������3
)�������'�� )���
3- )��������- ��-�� � ��3
���� @"��� \�_bN ��� �����  ��$3 )�;
�� ��' -���-��'��� ���� ���
� 
�4���
�� ��� �������5�� ������ )��0��� ��%���
��)��'��
��' ��
�#%�� hFnO v\\�w 
-���� �)�5��������
���30 5�/��
30 �0�-� ��;
��0 ��� Okepg v\�^� \\\w� ����)��������� ��)��'��
��' ���$���� )����
������'�3�
hFnO oHVGDVT;a � �EGDK�;a�

���� ����� 1����
�7��	� (
������	�	 �	7��
� ������ � ��
� ��
����� +�����)
�����
��#����� HII ����,�

���$���� 
���3# /�����;�-����' 
��������# )�-���� ���� ���
� $3���30 ��;
����
 )����� � ����30 �� ���� ��� � ����-���'�

���$���� )��0���4�# ��) � ?�� oHVGDVT;a k�@eN hFnO� Q�� ����� )�������
���
�� �`b ·210 ���� ����0 ?��-����
� 	�c �2 )�-���� ���������
���3� ����������3
)�-��� � ������ 
 ��)��'��
���� 
�������3� �0�-3 5�/��
�# �$��$���� �������
�
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����)��������� ��)��'��
��' )��' ��)�
 )��� �����������4�# ?����������
@hjqN @"���UUN� ������ �� ��0 ������� �� � �#��� �����3� �������� ����
hFnOuoHVGDVT;a k�� a	 ������ &]� @c ������
 × c  �)�
 P a	N� a	 ������ FOoO
@�a × 	 P a	 ������N � �$��)� �
��� )����� � ����30  ���� ����#�3# �����/�#� �
f���5��������� ����30f; hFnO �� $��� �EGDK�;a k�e �� �������'� �bb �2 
 ��������

��� � �#�� ���0������������ )� %��� ���0������5�� @eeYN� hjq� � hjq\ �-�;
�� ��)�������'�� ���� 
3����)����
������'�3#  �) hFnO� �����3# �$��)� �
���
)���- ����30 �� 
��0 hjq � ��� � )����� � �0  ���� �)�� ����� ����� �� �������'�
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2 
 �������� Q�� �$��)� �
��� ��--����� �������' )����� � ����30 �� eFY
∼` 
qu��
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��
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�	 �����'
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u�����N�  ��
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���3# ��
��-���3-� )��$���-� �  ���3-� )�-�4����-�
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� ��� ?��- ���$�
����-�
�-��4���� ��������3 AOFL ���-���- _×_ --2 -���� ����� ��)��'��
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�� ���$0���-� $���� )��
����' ����$��
�� � �������' ��;
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• ������ ����� �5����������� � ��� �)�� ����0 ��������
 � /������������-��
��� �������� ?���� )���-���� �)���������� ������� �)����� ������� -���;
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SHIELD UrQMD
(Spectators are in red region) (Ncoll = 0 for spectators)

, GeV/c
T

p
0 0.5 1 1.5 2

p
,  

G
eV

/c

0

2

4

6

8

0

5000

10000

15000

20000

25000

30000

35000

40000

45000

η-10 -5 0 5 10

C
o

u
n

ts

0

5000

10000

15000

η-10 -5 0 5 10

C
o

u
n

ts

0

10000

20000

30000

40000

, GeV/c
T

p
0 0.5 1 1.5 2

p
,  

G
eV

/c

0

2

4

6

8

0

10000

20000

30000

40000

50000

60000

70000

η-10 -5 0 5 10

C
o

u
n

ts

0

5000

10000

15000

20000

η-10 -5 0 5 10

C
o

u
n

ts

0

20000

40000

60000

, GeV/c
T

p
0 0.5 1 1.5 2

p
,  

G
eV

/c

0

5

10

0

2000

4000
6000

8000

10000

12000

14000

16000

18000
20000

22000

η-10 -5 0 5 10

C
o

u
n

ts

0

2000

4000

6000 in blue - generated

in pink - spectators

in red  - spectators in detector
 with diameter 54 cm,
 w/o hole

���� ���
� L��	�	����� -	�
� ��7 ���/0 ��������8 ��!������ 	 � ���/0 6��
������ ��
������-��
� 	 ��
��
� 	���
����8 � ���7� �� ���� �)/�����/  
� 
���������� CZ�]c4
	 ;<=>4 +��
��� ������/ 	 ��!����/,�

� ������������
���30 �)��������
 ��� ����������
 {GxAL � orXjkL )������� ��
"��� \�ca 
 ��
���-���� �� )��5��'���� )���-���� b� �� ��- �� ������� )�������
 ���� �)��������
� )�)����4�0 
 ��
������ ��� )� ���


������ ����� S�������� n4� � �������	��  
� ��-�� �� �0� � 	 �� �/0� � 	� ��
��	*
������

{GxAL orXjkL

0�� 
30�� 
0�� 
30��

)�����3�
��#����3� d\�^ c	�_ a\�a dd�\

/���-���3 @|N
)�����3 @|N db�\ c	�_ c	�` ^\�_
��#����3 @|N d	�a cd�b a_�a dd�`
/���-���3 @|N � � 	��	 a\�^

.�--���3# ����)���� lLY )��
���� 
 ��$��5� \��_ ��� ������-���� � ��
�����;
�- ��� )� �� 10 × 10 �-2 �� 
0��� � 
30���� &���)���� $�� ��
������ ��� ?������
	�` A· 
?� $����� � �bb |� � ��� ?������ _ A· 
?� �����
���� ����� ca |� �� -���;
����
���� 
���� @�-� "�� \�caN�  �� ��� ��$3��#� �������30 ����������- orXjkL�
 ���� �)��������
� ������������
���30 
 lLY� ����� �-��'%����� ��� )��5��'�30
)���-����
� $��'%�0 c /-� ��� �)��������� �� ����� 
3������� )��5��'���� )�;
��-���� 
3 �������' ?������� 
3�������� 
 ������-�����

�� "��� \�cd ��--����� ?������� 
3�������� 
 ������-����� )������� 
 ��
���;
-���� �� )��5��'���� )���-���� ��� ��$3��#� �������30 ����������-� {GxAL �

�	`



b,  fm
0 5 10 15 20

<#
 o

f 
S

p
ec

t>

0

50

100

150

200

UrQMD

b,  fm
0 5 10 15 20

<#
 o

f 
S

p
ec

t>

0

20

40

60

SHIELD

----- - generated spectators

----- - reconstracted spectators

spectators in the hole:

----- - at the ZDC entrance

----- - at the ZDC exit

b,  fm
0 5 10 15 20

, %
g

en
)/

N
g

en
-N

re
c

(N

-30

-20

-10

0

b,  fm
0 5 10 15 20

, %
g

en
)/

N
g

en
-N

re
c

(N

-100

-50

0

���� ����� �	�
� ��7 ���/0 	 ���������	������/0 ����������� � n4� � �������	��
 
� ��-�� � ���	�	����	 �� ��	.�
���
� ����������

orXjkL� (�- �� )�������  ���� ��$3��# � ����� ��# 5������'����'� )�� ������';
��0 )�����0 )� ?�����
3������� 
 ������-���� �� �bbbb �������
���#� �� ?����
������� ��������  �� ��� 5������'�30 ��$3��# � b < 8 /- {GxAL � orXjkL 0���;
%� ����������� � )��
����� �)�������' )��5��'�3# )���-��� � �� ����'� �����
b�` /-� !����� ?�����
3������� �� )���/��� ����0 �������
���#� �-�������
��;
�30 orXjkL � {GxAL� )����3
��� �� ���
���� ����� ��� )�
������� (��� ��� ��;
$3��#� �������30 ����������- orXjkL� ��� �-��'%����� � �����- )��5��'����
)���-����� ����� ��� ��� ��$3��# �� ���������� {GxAL )��������� ������ (����
����� �� �
����� � ��-�  �� 
 )���/��� ����0 �������
����0 ��������� $��'%��
 ���� �����30 /���-����
 �)��������
� �� �)��3
��-30 {GxAL ����������-� ��;
���3� )�)����� 
 ��
������ ��� )� ��� Q�� ���$������' �������
���# � $��'%�;
-� )��5��'�3-� )���-����-� )���
��������� ?��)���-�����'�3-� ����3-�� )�;
�� ���3-� �����$���5��# SO	^� �� ?��0 ����30 ��������  �� 
 )���/��� ����0
�������
����0 ?������� �����-�� /���-����-� �)��������-�� $����  �- 
 ` ��� )��;

3%��� ?������� �����-�� �������-� �)��������-� @�-� v\d\wN�

����� �����  �� ��$3��� �� ����������
 {GxAL � orXjkL ���� �� ���
����
����� ��� ��
���-���' ?�����
3������� 
 lLY �� )��5��'���� )���-����� $3��
)���)�����3 )�)3��� ��
����' �� ������4�� 
�)���3m

• R
������ �� ��-��������� ��
���-���' �� )��5��'���� )���-���� ?������� 
3;
�������# 
 lLY� �)�5�/� ��# ���'�� ��� ���������� orXjkL�

• ��� ����� ��
���-���' -������� � ��-������- �� ��'��# ?�������

• ����� �� ��$�
��'�� �� ����# ��-��������# ��
���-���� �� � �� ��-������
@
 ����-�30 )������0N ��
������ ��� )� ���

�	a



b,  fm
0 5 10 15 20

, G
eV

d
ep

T
o

ta
l E

0

5

10

15

20

UrQMD

Edep < 1 GeV
Edep < 2 GeV
Edep < 3 GeV

Edep < 14 GeV

b,  fm
0 5 10 15 20

C
o

u
n

ts

0

200

400

b,  fm
0 5 10 15 20

, G
eV

d
ep

T
o

ta
l E

0

5

10

15

20

SHIELD

Edep < 1 GeV
Edep < 2 GeV
Edep < 3 GeV

Edep < 7 GeV

b,  fm
0 5 10 15 20

C
o

u
n

ts

0

200

400

600

���� ����� L��	�	����� �/ �
����! (���
		 	 �������	 �-���  
� ����������� � ���
	-*
�/�	 ����
��	 �� ��	.�
����� ����������

��� ��
��� �� ?�� 
�)���3 $3�� ��)��'��
��3 ���������3 {GxAL � )��������

����� ���������� kOxnoA� ������� 0���%� �)��3
��� �������� �����30 /���;
-����
� ��� -�������
���� ��)��'��
���� �����)����3# ��� njOSe	 @ ���� ��;
���/�#� �KVTD	�y�MN 
 ����� �HWGIID @�DDHmuu�HW��ETG�GBN� *�
���-���' ?�����
3;
������� 
 lLY �� )��5��'���� )���-���� )�� �
�0 �� ��'�30 ?������0

√
SNN P

^ � ` 
?� )������� �� "��� \�cc � "��� \�c^ ��� ��$3��# �� ����������
 {GxAL �
kOxnoA� �� ?��0 �������
 -���� ������' ������4�� 
3
��3m

�� !$� ���������� kOxnoA � orXjkL )��
���� � �������
�# ��-��������# ��;

���-���� ?�����
3������� 
 lLY �� )��5��'���� )���-����� ����� ��� ��;
)��'��
���� ���������� {GxAL )��
���� � -��������# ��
���-�����

\� �����-�- 
 ��
���-���� ?�����
3������� 
 lLY �� )��5��'���� )���-��;
�� ��
������� 
 ������� -��'%�0 )��5��'�30 )���-����
 � �����- ?������
�������
���#� !$����- ?��� 
�)��� )����$���� ��� ��� �)�-������'� ����;
����� {GxAL �� �)��3
��� �������� �����30 /���-����
� )�?��-� ��� ��;
��
���# ��
����' ����3- ��� )���/��� ����0 �������
���#� )��� ���3- �
��� ��)��'��
����-� ��� ��� 
 )���/��� ����0 �������
����0 ����
��� ����
?������ ������ /���-���3 �)�������3� !$t������� �%�$� ����� )��-������
{GxAL ���������� ��� �)������ )���/��� ����0 �������
���# �����
���� )�;
����3-� ���� ����-�����' ��� �)��������� �)��������� .)��������-� �
����;
�� ������3� �����3� �� ��)3���� ��������� �� �����0 �������0 � )�������
����� � 8��-�;���)���������- )� )�)��� ��-� �-)��'��� !����� ��� ��'���;
)���/��� ����0 �������
���# ����
��� ���' ������ ?������-�������� 
���;
-���#��
��� ��� ����- 
���-���#��
�� ���� )��������� -���� ?������� � ��

�	d



� �� ?������-�������# �����5��5�� ��)�������� ���� ��� ������'�� ��#�����

v\d`w� ��� -��'%�0 )��5��'�30 )���-����
 ?������ �)��������
� )�)����4�0

 lLY� 
��������� �� � �� -��'��/���-����5��� 8���-���3 � ������3 )�)�;
���� 
 ������-��� �� � �� ������� �� %������� ���)��������� )� )�)��� �3-
�-)��'��-� � �����'���� ��������5�� ?��0 �
�0 -�0����-�
 � 
�������� �)�;
-����3# -����-�- )�� ��������- )��-����� ��- ��� ���� )��5��'���� )�;
��-���� @"��� \�cd ��� orXjkL � "��� \�cc� \�c^ ��� kOxnoAN� ��� 5������';
�30 ��$3��# ��--����� ?������ 
��0 �)��������
 ������ � �����- )��5��'����
)���-���� �� � �� �
��� ����  ���� �)��������
�

"��)��������� )������  ���� �������
 �)��������
 @
��� �� ������3� �
����;
�3� 
 �����3� /���-���3N )� ��
������ ��� )� �� )������� �� "��� \�^b ��� ���0
�����
���
 )� 5������'������ ������ 
�����  �� %����� ?���� ���)��������� �-��';
%����� � �����- )��5��'���� )���-����� !���%����  ���� �������
 �)��������
�
)�)����4�0 
 ��
������ ��� )� ��� � )����-�  ���� �������
 �)��������
 )��;

����3 
 (�$��5� \��	 ��� ���0 �)�-����30 �$�����# )� 5������'������ �� ?��#
��$��53 
�����  �� ��� )���/��� ����0 �������
���# )���
���4��  ���' �)����;
����
 )�)����� 
 ��
������ ��� )� ��� "��� \�^b )����3
����  �� ������- ����-�3-
�-��'%����- ��
������ ��� )��
� ���� )� �� ���'�� ��-���� �
��� ��'  ���� ��;
���������-30 �)��������
 ����� �0 � ��' ������ ���)��������� ��� )��5��'�30
)���-����
 > 9 /-�

�3 )�������- )��
���� ?��)���-�����'�3� �������
���� ����
30 ���)������;
��# �)��������
 �� 
3
������- )� �� ������������ ��� ���
����� � �����'����-�
-�������
���� ����������-� orXjkL � kOxnoA� Q�� ��-������ )��
���� )���;
 ��' ��
�� �� 
�)���� ������'�� 0���%� ?�� ���������3 �)��3
��� �������� /���;
-����
 �)��������
�

6��� ��0����' �� �����  �� ���������3 orXjkL � kOxnoA 0���%� �)��3
�;
�� ?��)���-�����'�3� ����3� ��� ����
30 ���)��������# �)��������
� ���$0���-�
)��
�����' ��)�������'��� ��/��-�5�� �� �����0 ���������30 )�������- @��)��;
-���  ���� �����
 
 eFYN ��� �)��������� 5������'����� 
 ��-$���5�� � ����3;
-� lLY� "����'���3 -�������
���� � ��)��'��
����- ?���� 
������� )������3 ��
"��� \�^�� �� �������� ��������  �� ��� �������
���# Au + Au )�� ?������0 SXYO
-���� �)�������' 5������'����� �� < 70 |� ���� ������ � lLY ��)��'��
��' ��
;
-����� �  ����- �����
 
 eFY�


������ ���	� �	�
� ���
���� �����������8 ��
	���	����/0 � ���
	-�/0 ��������*
������/0 �)
����0 � ����� �����
�7��	� n4�  
� ��-�
���! (���
		

√
SNN = 9 _(�8

��
�-����� � ����#�" c�=BC> 
���������� L ��� NZDC } ��
��� -	�
� �����������8 ��*
�� �"#	0 � n4�8 Nhole } ��
��� -	�
� �����������8 ���� �"#	0 � �������	�  
� ��-���
1���
����/ ��
�-��/  
� EIII ��	���7���/0 +slNlsMm AlMv, Au + Au ���
������	!�


��� ��� u 5������'����' < 60 % 60 − 80 % > 80 %
NZDC d�b	� \\c	c 	dcd
Nhole �^dbd 	dc\a ab	_�

Ntot = NZDC +Nhole ^bd	c dbad	 a`\�c
ε = Nhole/Ntot \\ | ac | ^_ |

� ����� ���� -���� ��-����' ������4��m

�� ����������3# ������-��� )��
����� ������/�5���
��' ��$3��� )� 5������';
����� @$�� )��
�� ���� �����0 ���������30 )�������-N ���'�� 
 ��- ��� ���

�	c



���� ����� L��	�	����� �	���	-����! (���
		 �����������8 ���� �"#	0 � n4�8 �� ��	*
.�
���
� ���������  
� Au + Au ���
������	!

√
SNN = 5 _(�� ����� ����
� } ��)/�	�

�� ;<=>48 ������ ����
� } c�=BC>�

���� ����� L��	�	����� �	���	-����! (���
		 �����������8 ���� �"#	0 � n4�8 �� ��	*
.�
���
� ���������  
� Au + Au ���
������	!

√
SNN = 9 _(�� ����� ����
� } ��)/�	�

�� ;<=>48 ������ ����
� } c�=BC>�

���� ��
������  �� )��5��'�3# )���-��� -��'%��  �- 8 ÷ 9 /-�

\� !���# �� 
��-�������# ��� %���� 
3������� 5������'����� �
������ )��;

�� ���� ��/��-�5�� � -������
�������  ����5 
 5������'��# @)� $3����;
��-N �$����� ��)�������'�� � ������� � lLY� � ����- ��� �� 5������'�3-
� )���/��� ����- ��$3���- ����
����
��� $��'%�� � -����  ���� �����
 

eFY�

_� � �� ���
� �4� ������ 
��-������ ��%���� -���� ����-�����' ������
�� ��;
)�������'���� ������-���� ��� ��#�����
 @������-��� )�� ����
3- ����-
��� ��#�����
 lLSN )���� )��
��� ��)��'���� -������ SXYO� ����� )� �-;
)������ ������� � lLS @���� )� -������
�������N )��
���� 
3�����' ��$3���

�	^



���� ����� ���������������� ������ �
��	� ��
��
� -	�
� ���
���� ����������� +��
"*
-�� ���
��/ ���������/ 	� � ���/0 6��
������, �� �)
���	 �������	�  
� ��-�� � n4�
 
� Au+Au ���
������	! ��	

√
SNN = 5 _(�� ����� ������ �
��	� }  
� .�����
�����	

< 60 V8 ��� ��� } 60 ÷ 80 V8 ������ } > 80 V�

���� ����� 1����� �
��	� ��)/�	! � ���
	-��! .�����
������"  
� Au + Au ���
���*
���	! �� (���
		8 �/ �
����! � n4�8 	 -	�
� ������ � ^@�� K
��� }

√
SNN = 5 _(�8

������ } F _(�� K�)/�	�8 ����-�"#	� ���
	-�/� .�����
�������8 ����-��/ ����/�	
.�����	� $�����	� 
	�		 �����/��"� 
���	./  
� �/ �
��	� ���
	-�/0 	������
�� ��
.�����
�����	�

� )��5��'�3- )���-����- 8 ÷ 14 /-� ���� 
 ��# �$������ ��� �-����� )��$��;
-3 � 
3�������- 5������'����� � )�-�4'� ������� �� lLY� ���-� ����� lLS
������-��� -���� ��)��'��
��' ��� �������� �
���-�����

	� ���-� ����� 
3������� ���$���� 5������'�30 � ���$���� )���/��� ����0
�������
���# -���� $3�' ����� 
3)������ � )�-�4'� -����'���� ?������;
-��������� ������-����� ������
������� )���� lLY� ������� �� ��-�� ��� ?��
������� 
 ?��)���-���� OkXYj�

`� Q��)���-�����'�3� �������
���� ���)��������� �)��������
 �����3 $3�'

3)�����3 �� 
3
������- )� �� ����������� � /������
����# -�%���� ���

�`b



����0 �������
���# ������� �� �-��' )� �� ?������ ��
��# @��� -��'%�#N�
 �- ?������ 
 ����- ���'5� SXYO @

√
SNN/2N�

�����$ -����
"��
� ����

���
�

 �V�� ������<����

"����$���� ��������5�� -�����# lLY )��
������' 
 �� ���� )�������0 \ ���� ���;
�3# -����' ������� �� ab ����
 �
���5;�5���������� 
 ������%���� 	m��  ��$3 ���;

���
������' ����
�� ��-)����5�� @���4��� �
��5�
30 � �5�������5����30 )��;
���� �a � 	 --� ����
����
����N� ��)��� �3� ���-��3 -����� `�` �-2� ��� ab ����
 

�����- -����� 
��� ��3 
 ���� $��� �����# �\b �- @����� a �����30 ����N � )�-�;
4'� ����'��# ����3 ���4���# b�` --� *���- ?��� $��� )�-�4����� 
 $��� �� ����#
�� ����� � ����3
����� ����- �� $����-� Q�� $���3 )��
���
����� ���� � ������
��� ������� -����� ����� �\b ��� 
��
��� 
��-���� ������ $3�' �$��4��� �� 
3;

�� �
��� �� �5�������5����30 )�������  ��$3 )��� ��' 0���%�� ?//����
����'
� �����������' �
����$���� ������������ �0�-� �
����$��� )������� �� "��� \�^\�

���� ����� K0��� �)��� ����� �� �.	��	

�.	���/0 �
���	� � �� �
� n4�� K
��� r �	 
����� 	8 ������ r �	 ����0� +�������� ��
��� ��
��	��  
	�/ �� �
�,� ������
���� � T
�
���	� ��)���� ������ 	 ��������	������ � �	� >�@4�

.$�� �
��� 
3)����� � )�-�4'� �)��
������ �ko� )�-�4������ 
 �����3� ��;
��
�� 
 �5�������5����30 )�������0�  �� �$��)� �
��� 
3����� ?//����
����'
� �����������' �
����$��� 
 )�������0 �� %� ������'��0 )��5����
� !)��
������
�� ����30 a �5�������5����30 )������ )���-����
����� ����- /������������-

 ���5� -������ ������'��� ���-����5�� �� �b ���5�# �$��)� �
��� �����������'
�$��� �
��� )� ����� -����� � 
��-������' ��$��� 
���� �30  ����5 �� 
���-���#;
��
�� 
 -�%���� ���-���� ����� �����$���� �������-� ��� ���'��#%��� ��� %����
?������� ������ �����%����� ����
������ �� ��-������ )�����'���� )��/��� ��
���
����
�����'��� ����$��
�� )�����'�30 ���5�# ����� 
���� ��� -���������
����
)������ �
���
30���� 
3�
������ )����4����# �����5��# 
 �5�������5����30 )��;
�����0 )�� $��'%�# �������
����� ������� )� ��� ������'��� ���-����5�� -�����#
������-���� ���$��� �b ��-)����30 /������������
� ���������30 � ���5�- �)��;

������ �� �����# ������� -������

��)��'��
���� -����)�����'�30 ��
���30 /��������
� AOFL @��� ���-���
30
/����-��������#� oEFAJN )������
������ �)��-��'�3- 
3$���- ����� �0 
���30
�
�#��
m $��'%�# ��?//�5���� ��������� ��-)�������'� -���� ����-���' � �����;
��
�� ������� )�� )��0�������  ����5  ���� /�������� �b /��������
 AOFL ��

�`�



���� -����' ���-�4��3 �� �����- ���5� -����� 
-���� � 
0����# ?����������#
@���������N� (���� ���-�4���� �$��)� �
��� �
�$���3# �����) � /��������-�

����
����������� ����
���� ��
�(���	�� _[? � �(����(�� ����
����

!���
�3-� ?��-����-� -����� �
������ �5�������5����3� )������3 � �)��
����;
��- �ko � �
��5�
3� )������3� .5�������5����3� )������3 ���4���# 	 -- )��;
��
����3 
 +��'��
� @,������N �� )����������
��� �5������������ � ��0 ������3
����
�� ���$���# ��� -- ��� ���-�4���� �)��
������ @"��� \�^_� ���
�N� 8��-�
����
�� �$��)� �
��� 
30�� �)��
������ �ko )�������'�� 
��0��# )�
��0�����
�5������������

���� ����� K.	��	

�.	����� �
���	�� +�
���, 	 ��	�.���� �
���	�� +������,� K�	�.�*
�/� �
���	�/ 	��"� ��
#	�� ET �� 	 6���� ����" 7�8 ��� �.	��	

�.	���/� �
�*
��	�/� K�	�.��/� �
���	�/ �� ��7�� 3 V �����/  
� ��	
��	� 7�������	� ����
�*
������ ������
���� �cC [*EE+HII, �  ��!�/� �����0�����/� �
��� 	  	������� E ��
���	��� ���� �9<M<M|� &
	�� ��

�#��	� ����� (��
� ������
���� ���
� R�U s�

���� �(�
� � ��.�V/6 .�	����	���/��' ���


��
��# )��$��-�# 
 �����$���� lLY �
������ 
3$�� /������������
 ��� �$���
�
��� � ���5�
 �)��
������ �ko� Q�� ��������3 �����3 $3�' ������� �� ��-)���;
�3-� ��� ���-�4���� �b ?��-����
 �� �����#  ���� -����� )��4��'� �b��b �-2� !�;
�����
�� ������� )�� )��0�������  ����5  ���� /������� � )���-��-�� ����-���'
�
������ ����� ����
�3-� ���$�
����-� ��� ?��0 ���������
� !$3 �3� ��
���3�
/�������3 OFL 0���%� ���
���
����� ?��- ���$�
����-� !�� ��)�%�� ��)��'��;
���� 
 ?������-������30 ������-����0 � �-��� ������3� )���-���3� !����� �0
-��3# ��?//�5���� �������� @`b÷�bbN ���$��� �����$���� �����30 ���������# �
������ �
��� �0 
��-������' ���������
��' �
�� -���# �������
����� @�� ���
��
	b /�����
N� &�����3� ������-���3 �-��� �
���
�# 
30�� �� ���� ��� $���� )�;
�����
 -��'%��  �- ?������-������3�� Q�� ������ ���� ���$���� ��4���
���� )��
����$��
�� ������-���� )�� -���- 
3������� ?������ � -���-��'�� �������4�;
-�  ����5�-�� .���� ����� �30 -���/���5�# ��
���30 /��������
 ����3 � -��;
��)�����'��# ���������# )������
���� ������� ����� �0 ���$30 �
�#��
� 7�
��;
�3� -����)�����'�3� /�������3 AOFL � ���
�����'�� ��
3� �����#��
�� ����;
�3� �������
�� �����$��3
����� � )��-������� 
 ��
��-���30 )������0� ����3#
)�����' 
 AOFL -���� ����-����
��' ��� ����
�����'�3# /�������� ������4�#
��
��� 
 ������ ����- 
�#����
���- ����-� � 
��������- ��?//�5�����- �����;
��� �� ≈ 106� AOFL �-��� 
��'-� ��-)����3� ���-��3 )������ ������'��0 -��;
��-����
� ����� )�����'��# ��������3 
 AOFL �������
��� ?//��� ��������5��

�`\



�������4�0  ����5� !��  �
��
����'�3 � ����� ��-� /���?���������-� ������� �
�-��� 
3����� �����%���� )� ?������ ���� ��� ������'��0 /���?��������
� (�0��;
����� )����
����
� AOFL � �0 )���-���3 )�������� ��� %������ ����� ���
�3-�
)���-�4���
�-� AOFL �
������m ��-)����3# ���-��� -���� ��$� �� ��)��������
$��'%�# ��?//�5���� ��������� ���
��-3# � 8Q,� ���
�����'�� -���� ����-���'�
�� �
��
����'����' � -�������-� )��� � �������
�� ?//���� ��������5�� ������;
�4�0  ����5 @$�������� )�����'��# ���������N� .0�-3 �
�0 ��)�
 AOFL )��
�;
���3 �� "��� \�^	� 
��
��# ���$������'� )��
��� ��)� �
������ ���))3 H;T � �;
�� @)������N� ���������30 � -������ ����-� ?��������-�  ���� ����
�����'�3�
)�
��0�����3� ��������3� ������ ���
���� ?��0 AOFL � Apo @-���������������
)���)��
�����N� ���$�����3 �� "��� \�^	 ���
�� � ���������� ����������� AOFL
��0������� ������ �
���  ���� )������# �� --2 ����� -���
�# ���3 ����� )������#�
Q�� ������ ���� 
���� ��� )��-������ 
 lLY ����� ������ ���� ����-� ������
���)����� ��-����-30 ?�����#� ����������� -�������
���� )����3
��� 
��� ���
?������ 
 -����� �� � 
?�� Q�� ?�
�
������� �bbbb /���?��������
 )�� 
30���
�b /���?��������
 �� �?� )�� )��)��5�����'�����  ���� ���$���
%�0 )������#
@/���?�������3N � �������30 /�����
 @?������N� ��?��-� ������ ����  ���� )��;
����# Ntotal )��
���� � ������#��# ��
���-����  ���� ���$���
%�0 )������# Nfired

��  ���� /�����
 Nphotonsm

Nfired = Ntotal(1 − exp(−NphotonsPDE

Ntotal

)) . @\�cN

��)��'��� ?�� /��-���� -���� �5����' -���-��'���  ���� )������# ��� ���;
���� ���)����� ?�����#� � ��%�- ��� �� ��� ���������� ����#����� ������ $3�'
������'�� �������
 �3�� )������#� Apo OFL �-��� )�������' `bb;�`bb )������#
�� --2� ����� ��� ��- ���$0���-3 �� �bbbb;\bbbb )������# �� --2� .�# �� �-���;
�� $���� ��
��-����� ��0������� �������� )������# AOFL �� � �� ���)���������
?������ ������ )��� 
 ���-���
�# )������� @"��� \�^	� �)��
�N� (���� AOFL �-���
�bbbb;\bbbb )������# �� --2� Q�� AOFL )����
���� 
 !�R� @��$��N 
 �����;
$���5�� � AE�GIT YI�HVT[ @*���������� "�����N� .�# �� ?�� ��0������� ��)�%��
)��-������� lKMIDK� YI�

���� ���	� >�@4 �  ���� ���
	-�/�	 ����������	� K
��� r >hC +����

r���	����r
��
������ �	�, � 	� 	�	 ��
��/�	 �����0�����/�	 ���	������	 � -	�
�� �	���
�! ���
�
EIII �� ��2� K����� r >�@4 � 

�)��	�	 �	���r�

�)
��	��	�

�`_



������ .���	 �
����
�� ���"�� GE'

� \b�b ���� $3�� )��
����3 ��)3����� )������)�
 -�����# lLY �� )� �� ������;
���� Fo 
 YjpS @�� "��� \�^` )������� ���)�������� -�����# �� )� ��N� �� ��
��������30 )����
 ��)��'��
����' ��� ��-������ /���5��;������� ���������� ��;
��#����� � ?������� ������ �����%���� 
 �$����� ?�����# SXYO @\;a 
?�N� ��� ��;
��$��
�� ������-���� ��)��'��
����' ����� )� �� -����
� � �� ���
� /��������;

���� ���
� ���������  
� ������ �� ��-�� � F*" ������	���	 �� �
�! n4��

����
 ��)��'��
����' ��
3� 
3���� �
��
����'�3� ��
���3� /�������3 @lKMIDK�
AOFLN� �������3� �0 )���-���3m �`bbb )������#u--2� �������� `·�b4 @�- "��� \�^aN�
�� "���\�^d VN )������
���� ?������� ����� ��
���-���' �������� ��� ���� �-)��;

���� ����� S��
	�� �/! ������ � �/����*-�����	��
��/0 nX�koXi >�@4� $����/�	 
	*
�	��	 �)����-��/ �*6���(
�������/� �	�	 +� �� E  � R,�

�`	



���3 ������� � ������-���� @
 
?�N ��� )����
 
 ���)����� ?�����# 	��`c 
?�� ���

���� �� �������� ������ � ������-���� ������ 
 �����# �$����� ?�����#�

E (GeV)
0 50 100 150

m
ea

n

0

1

2

3
L%

E (GeV)
0 50 100 150

si
g

m
a 

/ m
ea

n

0.1

0.2

0.3

Z%

���� ����� M, ���
	� �� �
� n4� � ���	�	����	 �� (���
		� A, ����
��	-����� ���	�	*
����� �����	��
���
� (���
��	-����
� �����5��	� ������	�� n4��

�� "��� \�^d UN )������
���� ?������� ����� ��
���-���' ���������'���� �����;
%���� ������-���� σ(E)/E� "����%���� @
 |N )���-���������� /���5��#m

σ(E)/E =
a√
E

+
b

4
√
E

+ c,

��� a = 48.7%, b = 16.7%, c = 1.4%� �����#  ��� � ��?//�5�����- b @�CKV�V�K�N
��
� ��� �� /������5�� ������� 
������
�� ��)������ )����4���� ?������  ����5�
��� ��� )�����'�3� � )�)��� �3� ���-��3 -����� $3�� -��'%� ���-���
 ���������
��
���

�``



���� E�
����	 ��������	 %����
����


�������# -������3# �)�����-���@hAoN $���� 

���� 
 �����
 ������
�� AFL )����
��)���� �� )��
�# � ����� � )��� ���� )��
30 ?��)���-�����'�30 ����30� .)��;
���-��� ������ �$��)� �
��' 0���%�� �-)��'���� �����%���� ���  ����5 
 %���;
��- �����
��� �-)��'��
� � �0 ������/���5�� 
 �$����� )��
��$3����� \�b÷_���
.)�����-��� ������� �� \  ����# @& � �N� ���)�������30 ��--���� �� ���������';
�� 5����� ���������� ���� )��
������ ����-����5�� � ���$0���-���� )��-������
������ �)�����-�����

�-)��'���� �����%���� AFL 
 �$����� )��
��$3����� η > \ �0��%����� 
 ����
)������ ���������

∫
Bdl� *��� ��)  ����53 � ��)��'��� ��/��-�5�� �� 
��-�;

)��������� ��������� egh� -���� �5����' �-)��'���� �����%���� ��������� 
 ?��#
�$����� )��
��$3����� @�-� "���\�^c VN� ��� 
����� ��� )����
 �����%���� )��0��
���� ��� � ��' $��'%�# $��3 
��-�;)������30 ���������
� . 5��'� ����������
?���� ���������� )����������� ��)��'��
��' ���5�
�# -������3# �)�����-����

VN UN

���� ����� M, ����
����� �����5��	�  
� ��������8 ������ 	 �	���� � ���	�	����	 ��
�����5��	� �����*���
����! �	����/� A, ����
����� �����5��	� ���.���
� ����������*
�� � ���	�	����	 �� 	���
��� -���	./� ���0��� ��	��� *  
� ���� 	�����
� �����5��	�
������� HII ���8 �	7��� *  
� EII ����

�� �5���� �-)��'����� �����%���� ��� ������ ��)� �)�����-���� 
�����  �� ��;
���������� �����%���� �����
��� ��������� ������ $3�' )������ \bb -�-� � �����
�����  ����53 
 -�������- )��� � )������ � -� � ?��- ��� �� �-)��'���� �����;
%���� �)�����-���� -���� $3�' �� %� \|m

Δp/p = (σ/L2
p)(pp/0.2998B)

√
[720/(m+ 6)],

)�� m = 5 �  ���� ��-�����# 
���' ������ B P � (�� σ P \bb -�-� L P � -� p P �

?�u�� ΔP

P
∼ 1.7%�

���� ����� �
��*�0��� ���.���
� ��
�	���
� �������������

�`a



2���;�0�-� ����# ��  ����# �)�����-���� ho;q )������� �� "��� \�^^� ������;
������ �)�����-��� �� ����
� ��������'���� -������ @eAN � `;�� ����5�# ������;
����30 ���������
 @LYN� ���-�;)�������� �����-� egh $���� ��)��'��
��� ���
������/���5��  ����5� ��������� )��� ��������'��# /��-3 ��������� a �$-����;
-�� ���)�������3-� � %���- ab �������
� ��-����'��� 
��� ��� -��������� )���
� � (�� (�� ����5�� ����������30 ���������
 ���)������3 
 -�������- )���� �
�
� � 
�� -��������� )����

"��� \�^c UN ��-���������� �-)��'���� �����%���� �)�����-���� ��� �)�����
 ����5� )��� ������ � )�-�4'� ���������� {GxAL v\daw � )�����--3 njOSe v\d�w�

!���
�3� ���$�
���� � �)�����-���� )��
����3 
 (�$��5� \��`m


������ ���
� W��)����	� � ������������ g>C�

����-��� *�� ����
���)���� )��
��$3����� \�b�_�b
-����� ��������'�3#
-�������� )��� � e�
)�����'�3� ���-��3 @)� )� �� N @dab�^cbN �-
B × L � e� ×M
���;
� ����������30 ����
 �b@2 × 5N
������������ �����%���� ≤ \bb -�-
Q//����
����' ^^|
"����5������ ����� ���� <`|

�����  ����5
�b6 @������# � �bb 
5u�-2� 

��#��� )� �� � �
5u�-2N

:�
��
����'��� �$����' �	 -2 �� ���#� )����� � \cb -2

(����
3# �������� ��� ���5�
��� �)�����-���� -���� $3�' ������ �� ����
�m

• ���#/�
30 ��-��}

• �������;����)�
30 ��-��}

• ���#/�
30 ���$}

• .����;���$���

� 78�Q !�R� �-����� $����3# �)3� �������� ���������
 �� ����
� �����;
���$�� � ����
����
��4�� ��/������������ 23�� ������� ����� �����-�� ��� ��;
������ )���0������ ���� ���� ��� ������
�� OekOo @epL OekOo KTW;MVH v\`b� \`��
\`\wN � )������) �����;���$�� ��� ?��)���-���� SOa\ @v\ddwN�

����������3# �������� ��� ���5�
��� �)�����-���� -���� $3�' ������ �� ��;
��
� �����;���$��� .����;���$�� �-��� ������������ �����%���� �� %��  �- \bb
-�- � ?//����
����' ��������5�� ∼ �bb|� !$4�� �����5������ ����� ��� ` ����;
5�# -���� $3�' ������� -�����  �- `|� *������ ��� �)���$����' �����;���$�� �
�� _ �
5� ��� ������/���5��  ����5 )����������� ������
��' 
��-�;)��������
�����-� )���� )���# ����5���

�`d



������ H
�
�������� ��
�"��
"���

��� ������
����� �����;���$�� 
 78�Q $3�� �����$����� �����#��
� @"��� \��bbN ��
����
� ��'����
���
�# �
����� .
����# %�
 � ���$�� )��������� �� ���� �� �����-
�����#��
� -���� ������
��
��'�� ���$�� ���-����- �� a -- �� _b -- � �����#
�� \`bb --� (��4��� ��
���� � \b÷`b -�-� (��4��� ���-����
��� )���3��� �
b�b`÷b��` -�-�

���� ������ �����!����  
� 	�
����
��	� �����*���)�� +�
���,8 �
������������ 
�
����
+������ ����0�, 	 ������
��� +������ ��	��,�

.����;���$�� ���-����- ����� �b -- � �����# \\b �- $3�� ��)��'��
��3 ���
�������� )������)� ����� ������� ��� ?��)���-���� SOa\ v\dcw� (��4��� ��
����
$3�� _a -�-� � ���4��� ���-����
��� )���3��� ; ����� b��`b -�- � �$��0 ������� �
�� ���
� ������# $3�� ��)��'��
��� ���� ���� 
��'/��-�
�� )��
����� � ��$�
��;
���- ����� ���-����- _b -�- @kB�V� D[HK ca�N� !���
�3� )���-���3 �����;���$��
)������
���3 
 (�$�� \��a�

	c;�����'�3# )������) �����;���$�� $3� )��
���� �� )� �� )����
 � -����
 

YjpS v\ddw� . ��3
��4�� ?���������� $3�� ������� �� ����
� -�����0�-3 OoL;c
v\d^w� ��?//�5���� �������� ������ � � P ` -�u/��� 
��� ��� %�-�
 � �����
� /�� )�� 
��� ��� �-������# �������� YP\` )8� �]� $3�� ������3 �� ����
�
-�����0�-3 rFeLY v\cbw� ]��� ������ �]� ; b�� ��u������

��� ���������� 0���%��� ������������� �����%���� ���$�� $3�� ��)��'��
���
i-��������f ����
�� �-��' CO2 + C4H10 + CF4(80 : 10 : 10) �� �������'� ���#/�
?��������
 ����� _b -�-u��� CF4 $3� ��$�
��� 
 ����
�� �-��' ��� )�����
��4����
�����5����30 )�
�������# 
 ���$��0�

��� ��$��� ����30 
3����� ��)������� -������' 
 ���)����� \\bb�\abb �� �
)���� ��������5�� ?���������� $3� ��
�� e�Pa /�� � e�P�\ /���

23�� ��� ��� ��
���-���' ������������� �����%���� �����;���$�� �� 
��� �;
�3 �� �������� �� "��� \��b� )������
���� ���
����� ��-�������� �����%���� �
�-�������
������ � )�-�4'� )�����--3 nOphXjkL� ����� 0���%�� �������� ��;
���'����
�

*�
���-���' ������������� �����%���� �����;���$�� �� 
��� ��3 
3������ ��;
)������� @��� 
��� ��3 )����� ��������5�� ?���������� e�Pa /��N )������� ��

�`c




������ ����� ��������/ �����*���)�� +cbH3UI ��,

����-��� *�� ����
���������# ���-��� (9.75 ± 0.05) -�-
���%��# ���-��� (9.85 ± 0.05) -�-
����� (2350 ± 1) --
7���#��� �)����� ���������� @)��
��#��
��- ���3 hN

	 -�-u�� dL = 4 )�� F = 1 ��

,�������� )�� ��
�����- dL = 1.0 )�� dPP� 2��
2���
�� ���%������ (50 ± 10) -�- )�� FP� 2��
,�� �� ���� < 0.003 �-3u-��
���4���� �����;���$�� ∼ _b �������
u2��
Pmax @)�
�������� �����;���$��N > 5 2��
.�)����
����� ������ @_`;	`N !-
.�)����
����� ����� @WP_b -�-�
kB�V� ��) ca�N

\`b !-

��)������� 
 ������# )��
����� @cb ± �bN �
�����
�� ��)����
����� �����;���$�� _`b !-
!���$����� ������� ``|

���� ������ L��	�	����� ���� 	�����
� �����5��	� �� ��
	-	�/ �� 	��� ���)�	 R +�
�*
�� r 	������	�8 ������ r �� �
	�����	�,�

"��� \��b\� ����-��'��� 
��� ��� 
3������ ��)������� ; \�	 ���  �� ����
����
���

��� ��� ����
��� �������� nP\×�b5�

.��
����� ?��)���-�����'�� )��� ����# ?//����
����� 
�������
����� �����
 ����53 �� 
��� ��3 ������� ���$�� � �-�������
����# ��
���-���� )������
����
�� "��� \��b_� ��� ��� ��� ?//����
����� ����  ����53 �)��������� )� ` ����-
���$�� � ����������
����' ���� �� ���$��3
���� ���$�� 
 %����- ����� Q//��;
��
����' 
�������
����� ����� $����� � �bb| ��� 
��� �� �������
 �� R = 4.7 --�
������ ?//����
����' ���$�� ����� �� ������ �$t�������� -��3-  ����- )��
� ;
�30 ?��������
 ������5�� 
 ?��# �$������ ��-������� 
��� ��� f?//����
����f

�`^



���� ������ L��	�	����� ���� 	�����
� �����5��	� �����*���)�	 �� ��
	-	�/ �/����
�
�����7��	� + 
� R > 3 ��,�

������� �����;���$�� $3�� � ���� )�� �����$���� ��$� �# ���-����� ���)��������
���$�� ��� ����'���� ��������� @�-� ����N�

���� ������ L��	�	����� (66���	�����	 �����*���)�	 �� ��
	-	�/ �� �� 	��� R�

(���- �$����-� $3�� )��������  �� 
��� ��� ������������� �����%���� �����;
���$�� ����� \bb -�- ����� ������# )��
��� �� � ����� `b -�- ��� 
��� ��3
�������
 R > 2 -- ��� i-�������#f ����
�# �-��� CO2 + C4H10 + CF4(80 : 10 : 10)�
Q//����
����' �����;���$�� ����� �bb| ��� �������
 �� pP	�d -- @
��� ��� 
���;
������� ������� ������ �����;���$�� pP	�^ --N� !)��-��'��� 
��� ��� ����
���
�������� nP2 × 105 @r�P\�	 ��N� ���� ��� )���� )� �����������-� �����%����
����� \bb �� "����'���3 ��-�����# � -�������
���� @nOphXjkLN ������� �� 0�;
��%� ������������

�ab



����� �

 ������! ������� �"�� 
���#$ �

����%&����#� ���'��#(

"�� 9
����
 � %�%���� %��
� �����:

!���
�3-� ���� �-� �������� � �����-3 �$��� ����30 �
������m

�� �����-��'��� ?//����
����' �$��� ����30 � -���-��'�3- -���
3- 
��-�;
��-�

\� .$�� � ��-)������ ����30�

_� ����
���-�� /���5�����'����' ��$���������
 ��� �����
 � ����$��
���

!���
��� ��������� �����-3 �$��� ����30 AFL ��������� ������� �� �����-�-

 ?��)���-����0 oeOp � OkXYj� !�� )��
����� ��$���������- ��$����' ����
���-��

��� ��$��������3 $���� ��������3 
 ���� �����-� � ��3
���� ����30� �������

��� ��� 
 ��$� �����'�3� -����� �$��� ����30 @kLYN � -����� � ��3
���� ��;
��������# ��/��-�5�� @LpjN� ��� ��������3 $���� )����� ��3 � 5������'��-�
���������-� )��5������ @YeFN �����3# $���� 
3��$��3
��' ��������3� ������3
� ���0��������
��' ��$��� AFL� 7����'�3� � ���$��'�3� �����-3 �$��� ����30
$���� 
��� ��3 
 �$4�� �b 
$����� jD�KGTKD ���'�

Lpj -����' @hE�� _��N ������� �� $���� ��������5�� ����30 � ��������� @hjYN �
$���� � � ��3
���� ����30@pgYN� 2��� ��������5�� ����30 /���5�����'�� )���;
���
���� �� ��$� ��$�� ���������# � &]� ��� �������
30 �������
 � ��$�������;
��
� !� �-��� ���
������ ���������� ������� )��
����� -���-�����
��' -���
��

��-� ��$���������� 2��� 
��� ��� 
 ��$� �����-� i)���
����� ����f � 
3$����
����30 )� ������� �������� k�� hjY )��3���� ��$����3� ����3� $����- � ��3
�;
��� � )����� � ����30  ���� 
��������# \�` 
2���3# ����� ����30@hjLkN� (����
hjY 
3��$��3
��� ������ ����������� ��)���� @epxN ��� ���'�� �� ��# )��
��;
���� ���� �3� �� ���� ����3�� 2��� � ��3
���� � )����� � ����30 �����������

�� ������3 epx � 
3��$��3
��� ��������3# ������ L0 = f(TRQ1...TRQn)� Lpj�
)����� ���3� � ��$���������- �� 
����4�- �� ������ 
3��$���� ��������� �� 
3;
��$��3
��� ������3 epx ��� kb�

]������'�3# ��������3# )��5����� ����������� ������3 kb �� 
��0 ��$�������;
��
 � 
3��$��3
��� ��������3# ������ k�� �� ?��-� ������� ����3 �$��� � 0�������
)����3���� 
3$����3� ����3� 
 �����'�3# 5���� �$��� ����30�

�a�



���� ���� �
������	�� ��
	����.		 	 �-	�/���	�  ���/0�

��-)�����3# �������- ��$��� ����30 )��
����� ���'��#%�� 
3������� ���$0�;
��-30 ����30 )� ������� k\ �� YeF� ��� ?��- ����3� �� �����'��# �����-3 �$���
����30 )���)��3
����� 
 ���$��'�3# �����-� �$��� ����30�

�� "��� _�\ )������3 ��� ���3� )����� ����30 �� ��$���������
� �3 �������
������3 ���  �����3 ��$3��# abbb 
5 � -������
������'� `bb  ����5�

���� ���� K	����� �)���  ���/0 ��������	 >@4�

���������-�� ?���������� $���� �����$����� �� $��� �)�5��������
���30 -��;
���0�- @OoXYN� �����$�����30 )�� ����� �3� ��)3 ���������
 @FOoO� Okepg�

�a\



rFeLY� � ����N � ���
��30 ��--�����5����30 )��������
� Q���������� $���� ��;
������' 
 ��$� /���5�� �������� �� ��-)�������#� ��)�������- )������ � ����-�

�a_



"�� 2�
������ �����:

*��� �# �����$���5�� AFL �
������ ���������
���� �������
���� ����
 
 �� ����
�\b ���# ��������� �� ���� � \b�a ����� ����)����������  �� )�� ������# ?//��;
��
����� ab| � �������� � ��� a �
5� $���� ��$���� ����� �^ -��������
 ��$3��# 

���� ����)�������  �� )���� ����30 � ��������� ∼ 4, 7 
2u�� -���� �5����' )���3#
�$t�- ����30 �� ��� ��$��3 
 _b �2� � c�	 �2 )���� �$��$���� � )���
����� %�;
-�
� !5���� ��-)'�����30 �������
� ���$0���-30 ��� �$��$���� ������ $��'%���
���� ���
� ����30� )��
����3 ����� 
 ?��- �������� !5���� ����
��3 �� 0��������;
�����0 �����-3 �$��� ����30 � ������� �30 �5����0 �������30 ��� ?��)���-����
OkXYj v\c�w�

$���� �����, ��
�����
 ����	�

���� ���� ?� �
� �)��)���	  ���/0�

�����' �$��$���� ����30 ����
����
��� �0�-�� )������
�����# �� "��� _�_� ���;
�3� ���4�� �� )�������'�30 ��-)'�����
 @�Q��N )�����������
 AFL @��)��-��
�
�����30 � 
3
���- ?��)���-�����'�30 ����30N ����)��
����� �)�5���'�� )���;
����� ���3-� ��� �$���� ��$3��# )�����--�-� @jqN ��-)'������# /��-3 
 ����;
-� ��;��#� � ��)��3
����� �� ���� 
 ����-� �//;��#� )���� /��-���
���� ��$3;
���  ���� �)�5���'�� )�������� ����� ��� ?��# 5��� �b 
$)� 
��������;�)�� �����

�a	



����� �
���� ������ jq ��)��3
��� ���� i��$� �# /�#�f ������ -����� �$���
����30�

����� �������� 
3������ ���
�� @k_N� ���$����3� ��$3��� ��)��3
����� 
 pO�
/�#�3 @�������' ��)��� ���� /�#� 
 � -����� �$��� ����30N� � ����- )������'�

�������
��
������ �������'� 
�������
������ ��$3��� )�%���� �� ���� 
 �)�5�;
��'��- /��-���� � ���5� �$��$���� ����3� /��-��� pO� ��)������� �� �����
@����3N� � )���� ?���� ��$� �� � pO� /�#�3 ��������� � ������

�� ��%�- �5����-� ���-�� pO� /�#�� $���� ����� b�	` �2� .������ 
��-�
]�,� ���$0���-�� ��� 
�������
����� ��$3���� ����� \ ��

$���� -���,=��
�	� 
��"
�	4 �������
�	� ��� �����

�����

��)��'��� �5���� �������� ��$��� ����30� ������-3# ���-�� ��$3��� � �������'

�������
������ -���� )��� ����' ��-)'�����3� ������3� ���$��-3� ��� ?��)���;
-����� 
 ���-���0 �����
��� )���������
� � ��$� �0 -�4�����#�


������ ���� �.���� ���)0� 	��
�  	�����
� ������������ 	 ��#����	 ���?�

�������� �������� ������ �!������"

7!�����+ ����� ����$H � @� 
>� ?].�

������+����+ #������ ������ ����$H ��� ����

^���!�������+ 9� 3

7!�����+ ���$��* 9 !?(

���
����* 1�_��� �� 3

�#��#� $#������%# �#� ��& 1,87 · 1010 ���$���

7������ -���� ���!�� � ���$��� ��� ���!

7������ -���� H���� ��
-����($  ��� 6 `�4@% �� H��

7������ !���-����� ������ �� H�� 
� ����

�#�� & #�'�� ()* ���� + ��	 8]

�#��#� ��#�+#���#� ���$#%#� ,�#�������%# �� 8]

7������ ���
* ��!������!(��
���$��* �a bc�a 8^�' � �

8����� ���
* � ��� ��* � 8^�' ���� -��

-#������%# �. /0�. �1�2

��" %#�����#%����" �	��

�#��#� ����# ��#�+#��� + �1�2 ����

����)�������  �� �� )��
�- %��� k_ @�� 
�������
�����N 
 ��$3���0 �� $����
�������� ��$���� ������-�� �������' ?��)���-�����'��# ���������� $���� ��_ 
2u�
��� ����� db (2u���'� �� ���-��� ������ ��$3��� b�	` �2� �������� ��������
@a �
5N � �-��'%��4��� 
��-������ /������ @b�`N� ���$0���-3# �$t�- ��� ��)���

��# ���������� �5���
����� 
 c�	 �2u��� ��� pO� ����30� 2��� 
� 
��-���� ∼\b|
���$0���-���' -�������
���� ��$3��# � � ��3
�� ������-3� ���-��3 �������30
����30 /�#��
� ��)��3
��-30 )� �)�5���'��-� ��)���� ?��)����
� )���3# �$t�-
���$��-��� �����
��� )���������
� �5���
����� 
 �b �2u����

�a`



��)��'��� ������-�� ]�, 
��-� 
 \ �u��$3���� ���$0���-�� ��� 
�������
��;
��� ��$3���� )����� 
��-� �� oX\� �����5 $���� 37, 4 · 109 �� Q�� )��
����� ��-
�5����' ���� ���
� ��$����4�0 
 �//;��#� ����-� �� oX\� ����� �	cb �Q���
�-���� � ��;��#� �Q�� � ∼ 20% -�4����� )��5������� ���$��4����� ��� -�����;
��
����� )����� ���� ���
� -���� �5����' 
 �cbb �� oX\� �Q��� .)�5�/� ����#
0������� ��$3��# ���$��� -���-�- \ 
2 "&� ��� ������� ]�,�

������ ��/��-�5�� � 
3 ������� ��� 
��0 
3%�)��� ������30 �5���� )��
�;
���3 
 (�$��5� _���

�aa



����� )

*��������� � �����������%�#�

��'+"#

(�� F����
��� � @�
��%

"��)�������� ��������� AFL )������� �� "��� 	�� � "��� 	�\� :��$3 ��
-�����'
)�����'��� ��' ��������� � ��'� )� �� �����#���� -�������)�������� ���������
� 
�)�-������'�30 )��4���# @-���� �$���� � ����� �����)������
��N ���$0���-�
$���� ����$��' �� 	 - ���������'�� ���
�� )��� 
 ��4���
��4�0 �� ����3# -�-���
)�-�4����0�

���� 	��� ����� ����	
	���
� ������	�	� �� �	��
���� �����

�ad



���� 	��� ����� ���� ����	
	���
� ������	�	� �����
 ������
����
��
��	�	 �	������

(�� #�%��
����������	 ��
�!%

*����� 
 ������- $���� ���)������3 ��������3 ���$0���-� $���� ��������' �����;

3- �$�����
����- � \;-� �����-� �����)��t�-����'� `b � �b ���� )���3
��4�-
���� ��������� � �$���� ��������� @�-� "��� 	�� � "��� 	�\N�

� ���� ��������� ����3 $���� )����)��'  ���� �����
3� 
����� 
3����# ` - �
%�����# d - @�-� "��� 	��N� ����� �������� $���� ��0����'�� 
 ��$� �- )���������
�����
�� �$�����
���� ����� �$��)� �
��� 
��' ���$0���-3# ���
��� ��� 
 ������

 ��$� �# ���� � ���� �$���� ������ 
3�����
��' �������� �� -���� 	b ����u-2�
Q�� $���� ������� �� ��� ����  ��$3m

• �3������' 
�� ��������� 
 �$����

• !$��)� ��' 5���������' ��������� 
 )��5���� �����)������
�� )� ���'��
3-
��)��
���4�-�

• !$��)� ��' )��������
� )�������� ��������� 
 ��$� �- )���������

� ��)�������
����# $������� � ��������� $���� ���)������ ��/��������� ���
������� ����� � ������� ��# ��� �$��)� ���� �
��0)��
���4��� -������ AFL -�4;

�ac



����� @�-� "��� 	��N� *�4��� 
����� ��������� � �)�5���'�3� ��$�����3 ��� ��$��';
�30 ����� � ���$�)��
���
 $���� ��������3 �� $�����30 $����
 @�-� "��� 	�\N�

��� �$��)� ���� 
��0 )�������- ��������� ���$0���-3- ���� ���
�- ?������;
 ������ �$�����
���� @���� )���-������ ����� ����� ����-������ ��$���� ��$��'�3�
���t�-3� ���#��� � ����N $���� )��-����'�� ���������
���3# )��0�� )�� ����#�� ��;
���-3 ?�������$��)� ����� ��� $��'%�#  ���� �����- ��������� ���$0���-� ?���;
���)������ � -��3- ���
��- )��'��5�# @� ���� ��- �)�5���'�30 OY;/��'���
N�
������-����
����� ����� ���$0���-3� -�4����� ��� �$��)� ���� $��)���$�#�3-
?������)������- 
��0 )���5�)���'�30  ����# � �����- ������
��� ��������)���;
����� �$�����
���� ��� ?������)������ ������� �� "��� 	�\� ���$0���-�� -����
��� -������
���� �����-3 
������� �0�������� $���� 
3$���� )�������

���#�3 �����-3 �$��� ����30 � �����-3 )������ $���� ���)������3 
$����
��������� �� �)�5���'�30 )���/��-�0� ����)����������  �� ?�� )���/��-3 )��
���$0���-���� $���� )����
����'�� 
-���� � ���������-� � ����- ��� ��� �������
��$����' ��)�������'���� ������������ ��$���# )���� �����
 
 )����
�# )���5���
:��$3 �$��)� ��' �����) � ?���������� �$��� ����30 
 )��5���� ��$��� ����30�
-���� ���������- � )���/��-�# ��� ?���������� $���� �-������
�� �)�5���'�3#
��4���3# ?���� � ��$������-� ��� ��$���# @���� ��$��'�3-� ������-�N @�-� "���
	�\N�

(�" F����
��� ���

"��)�������� ��������� AFL �� ���'5� ���������� �0�-��� �� )������
���� ��
"��� 	�_ � "��� 	�	� !$4�� ���-��3 �)�� ����0 ?��-����
 ����������� ����������
� ����� -���� ��� ���'��
30 ��)��
���4�0� ?����������� � ���� )������3 ������;
���'�� 0��������30 �� �� ��� ��� 
 �������

���� 	��� ����	
	���
� ������	�� �� �� ������
�����
��	! �	"
#



 � ����� �
� ����
��	�	 	$�
��
���
��

�a^



���� 	�	� %�����	� �� � ������
�����
��	! �	"
#

 &�
� �$	��'

��$�� *���
#��� ����
�� 
 ��"�
������ �
���
�

(�� ��� -����� �
������ ����
�3- ?��-����- ��������5�� ��������� @�-�� 
 
���
��� ���-��3 � 
��N� �� � ��-� � )��
����� ������������ �����-� ��� �����'�30 ��;
���- AFL� .0�-� AFL ��� ���������
����# �����-3 )�����������
 )������
����
�� "��� 	�`� ���������# ���-��� � ����� ��������� ��������� �)���������� 
���;
 ���# ��$� ��� �$t�-� ���$0���-��� ��� ���-�4���� 
��0 
��������0 ���������
m
eFY� egh� jYe� qqY� jAY� � ���� �� ������� ������3 �� �� �3� ���-��3� � �)��;
�����3 ���'�� ���-��3 )���������
� ���$0���-��� ��� ���-�4���� ������������
?��-���� 
����� -������

��� ���$0���-���� �����)� � ?��-����- 
��������0 ���������
 @��� ��-�����
� )��-���N ���$0���- ������'�3# )��-������ 
��-����  �� )��
���� � ������;
��- 
 �������5�� /��� ����# )�����--3� ��� ��������� )��5����3 )�����-������

��-������' )���-�4���� ���5�
30 ?��-����
 ��-� -������ 
 ���
�- ��)��
�����
)��-���� �� �bbb;�\bb --� )�� ?��- �
�$����� )���������
� ��� �����)� � 
������;
��- ���������- �����
�� )������ 	bb;abb -- @�-� "��� 	�aN�

��$�� H���>��
� ��� ���
�
 ����
��

���5����� �$���� -������ $3�� )����$�� �)����� 
 ���
� \�\� ���$0���-� �-��'

 
����  �� ��� ��� �$���� ��������� )���������� �� )����� ��)���� �����#����
@���)���������� 
 ��- �� ������N� ���$0���-� ���������� �����5�����# ��4��3�
�������4�# ���� �$����� ����� �� ���- �$���� 
�� ?��-���3 ��������5�� ���$0�;
��-� ���-�����' 
 ?��)���-�����'��- ������ @"��� 	�d� "��� 	�c VN� ��� ?���� $����
����#��
�
�� `b;�� ����3# -����
�# �����

� �� ��� )��5����3 �$���� -������ ������
��
����� )��
����� )���/��-�� )�;
��-�4��4���� �� -���� �$���� �� ?��)���-�����'��# )���5��� �� ?��# )���/��-�
��$������� ���5�� -������ @$�� �$��0 )�����
N � -���������� 
�� 
��������� ��;

�db



���� 	�
� (������#
� �� 

���� 	��� %	���� � ��������
� ������	���

������3� (��5�
3� ?��-���3 ��$������� �� ���'��
30 ��)��
���4�0 
 ���
����#
���� @�-� "��� 	�c UN�

����� )���-�4���� -������ 
 ?��)���-�����'��� )���5��� -���������� ����
;
%���� ?��-���3 
��������0 ���������
 � ����� ���5�
3� ?��-���3 @�-� "��� 	�c MN�
��� ���$0���-���� )���-�4���� $�����'��#  ���� -������ 
 ���� �$�����
���� �
��-����� ���5�
3�  ���� �������� �� �
��0 -����0�

�d�



���� 	��� ��"��)��
� �
�����	� ����
�� � "���

* +' ��
	����, -' 	$�
�	��
, .' �	
�#� �	������
, /' �
�����0 �	������#

 �	
1�	�,
2' �
�����0 #


���
3���	! 3���
, 4' �	�#��0� �
�����0, 5' ����	
�
� 
���������	�, 6' ���	�	����
��	� �	��)��
�, 7' �
�����0 �	��
�����#

 �	
��	
��

VN UN

MN

���� 	��� M, . �
� ����� �$	��
 � �
�������
 ����
��� 8' ���#
�
����
�� � �$	��� � ������	��0�
 �
�������
 ����� ������)��
��
�� ������
�����
���1 �	"
#
1� 9' %�����	� �� � �$	��� �� ������
�
�����
��	! �	"
#

�

�d\



��$�$ +
����	 ����
��

���
�.� ��
���� �(��'���(���V�# ��.�
	�

��� ��-����'��- -�������- )��� b�` e� ��� 
 �$-���� -������ ��
�� �a\` O� ���� ;
���� )������ �����3 �$��)� �
��' ���$0���-3# ����-� ����# ����- ��� ������
� ������� 
 �$-����0 �� ���$��'����'� ±0.01|� ���$0���-� )�����-�����' ���� ��
�����-3 )������ ���� )���������� ���$0���-� ���� �� \;0 )���3
�����# 5�)� @\
�&-)N � 
����%�3- �0��������- )�� ��)������� )������ ���� �bbb ��

���� ���� )������ $���� )����������'�� � ���������  ���� �������
���3� ��$;
��� -���3� ��$��� � 
����%�3- �0��������-� .)�5���'�3# �������� ��� $3������
������� ��������� � 
����%�3- �0��������- � ��)����
�����- b�_d !- ������ ���;
���
��' ?������� ��)������� 
 ��������� @d�c ���N )�� -����-��'��- �
��� ����
��-)������3 �� _bb ��

���
�.� ��
���� ��.�
�	 .�4��
�

����������� ��)��'��
��' �
� ����
���-30 ���� ���� )������ ��� �-��'%����
�������������� )��� 
����� ���������� ������ )����$���-�� -�4����' �5���
�;
���� 
 2 × 65 ���� � ���$��-�� ���$��'����'m ±0.01|� ���� ���� )������ $����
��������3 � �$-����- �������
���3-� ��$��-� -���3-� ��$���-� � 
����%�3-
�0��������-� ���� ���� )������ �����3 $3�' ����4��3 -�0��� ����-� )������;
 �����-� )��������� ���0��������
���3-� � �����-�# )������ ���� )��������� 

����������

����4����� ���
�.�

.
��0)��
���4�# �������� AFL )����$����m ∼ 50 �� ��� ��/���������� )�� 	�` ��
∼ 800 �� )�� `b � � b��a �u� )� �����-� ������

������� �'��<�����

.����-� 
������� �0�������� $���� �������
��� �� ����
� 5������5�� ��������;
��
����# 
��3� ����3# ���0�� 
��3 �5���
����� )������ 2 × 0.52 �u� )�� ��$� �-
��
����� 
 �����-� a 2���

(�( @��
�� �������
�

.$���� 
��������0  ����# ��������� AFL �
������ � ��' ����� �3- 
������
��
$��'%��� 
��� ?��-����
 � -����� �
�$������ )���������
� 
 �)������ ���������
@�-� (�$�� 	��N� ���
��'��� )������
����'����' �$���� �� ������ )��
���� � 
��;
-���3- )�
��������- ��������� ��������� ��� ?��-����
 ����������

(�� ��� 
�� 
��������� ��������3 � ��' �����3� @∼ 53 ����N ��� 
��-�������
�$���� ?��-����
 5�����- $�� ����� ��� ���������� ����� �$���� ��������� 
����'
��� 
���
������ /��-� ��� -������
���� jMVC� 8��-� $���� /������
��'�� )�����;
��
��4�-� ���'5�-� �� ��-� -������ @"��� 	�^ VN�

8��-� ������ ��� ���-�4���� 	c -�����# jMVC� ����3# -����' ����-��� ���;
��� ��)������3# �)��������3- �$����- ���������
���30 � ��� jMVC @�-� "��� 	�^

�d_




������ 	��� ��"���0 
 ���� �
�����	� ������	��

Q��-��� ���������# ������� -- ���%��# ������� - ������ -- ���� ����
&)������ ��������� \bbb `\bb

jYVC �	`b �^`b `bbb > 50
egh �\bb �	bb `bbb ∼ 1
eFY _`b ��bb _bbb < 1
Xe db �ab `bb ∼ 0.1

����3# 
�� ∼ 53

VN UN

���� 	��� M, :���
� �� � �	������#
�! �
� ��"��)��
� ;9<=� 8' ;�<=
����	��

UN� ���-� ���� �� /��-� ���)������3 ��)��
���4�� ��� egh � eF. �����- @�-�
"��� 	��b VN�

��� ��� ���

���� 	���� M, �
����� ������
�1)
� �
� >?@ <AB >��� 8' C������
;�<= ����	�	� � ������
�1)
�� 9' (����

�#
� ;�<=D >?@ 
 >�� �
����
���

��� 	c jMVC -�����# 
���
������ 
 ��)��
���4�� )� ����-� @�- "��� 	��b UN )� \	
-����� � �����# ������3 -������� ����� jMVC �� ������� ���-�4���� -�����# egh
�����-3� � ����-� )���� ��������5�� ��)�������'�30 ��)��
���4�0� )����
������
��������5�� eFY @�-� "��� 	��b MN�

�d	



�������
���� ����)��
��� � �������- Xe )����
������ )���� ���� ��� -�����
$���� )���-�4�� �� ?��)���-�����'��� )���5��� Xe �� ������ �����'�� 
������;
��# )�
��0����� eFY� �
� 
��-���30 
������� ��� ��-)����5�� )����$� ���$3
����)��
��� )������3 �� "��� 	����

��� ���

���� 	���� C	"�	��0� ��	�	$0 
����

�#

 �>

�����) �� 
��������- ?��-����- ��������� $���� 
��-���� )���� ����
������
���5�
30  ����#� Q�� 
��-���� $�� ���$��� 
����-��# ��-��3� ������������ ��;
$���# ��� �������� ?��-����
 -�0��� ����0 ��������5�#� !���������  �� )���3#
5��� �)���5�# � ���5�
3-� ?��-����-� $���� 
��-���3- )��
����' 
 �� ���� ��;
��# �-��3 ��$��3 ����������� �����) � 
��%���3- ���������- $���� ������-�� �
��������� ���� 
 ?��- ��� �� ���$0���-� $���� ����������' ����)��
���

�d`



(�* @�%���� !�
������ �������
��

.����-� �)��
����� ���������- AFL @LKDKMDIG YITDGIC o[JDK�� LYo �$��)� �
���
��
-������ ��$��� ��/����������3 ��-)����� SXYO � 
��0 )�������- AFL 
���;
 �� ��$��������3 � �����-� �$��� ����30�

!���
��#  ���'� 
��0 ��$���������
 �
������ ��� ���3
��-3� �����#��
� hGITD
jTW @hjN� . ����# ������3 
�� hj )���� �� ���- )���-� ����30 �����3 $3�' )��;
���5��������
��3 
 ����
����
�� � ��)�- )����-��-30 ����30� . �����# ������3

 �� ���� )���-� ����30 ��$��� hj ������ ����������
��'��� � )��-���� ��-)�;
������ ����
���� �$t�-� �u��� hj ��$��������� �-��� $��'%�� ��� ���� � )�?��-�
)���$��� ��/��-�5�� ������ )������ ���� � ��3
��'�� � hj � ��)��3
��'�� ���
)�������4��� ��)��'��
���� )�� /��� ����# �$��$���� )��� ���30 ����30�

�����# 
����# ���� �# �
������ )������ ����� � ��3
���� ������
�� hj ���
�
��������� 
 ��-�  �� ��;�� �����5����30 )�
�������# 
 )���)��
������� �����;
��-�� 
��������0 ��������
 hj �� ��-������' � )��
��� ��'�3� ������
�� �� $3��
������3�

��0��� �� �����  �� ���� ���
� ��--�����5����30 ����# -���� hj � )������;
�4�-� ����-� �����-3 �$��� ����30 
��'-� ������ ���� �����-� hj -���� )��;
��������' �
�- ����� �3- �$�����-� )��������3- 
 ����
����
�� � ��
��%����
����� �3-� ���5�)5��-� ; �����-� �$��� ����30 � �����-� �)��
����� �������;
��-�

� ��� � AFL -3 )���)������-�  �� ���5������5�� � -���������
���� �����-3
hj ������ ���4���
���'�� ��# �� 
3%��)�-����30 �����-� ������� �-��� ��--�;
����5����3� ����� � $��'%�# )��)�����# �)���$����'� � )�� -���������
����
)�������- � ������� ��/��-�5�� � ��������� hj ������ $3�' ���)�������� � ��;
)��
���� 
 ����
����
��4�# ����� �$��$����� ��)��-��� 
 ��� �� ���� �������� �
� ��3
���� hj 
3)�������� �����-�# �$��� ����30� �� 
 ?��- ��� �� -���������;

���� ��������� hj ������ ���4���
���'�� ����� �����-�# �$��� ����30� � )����
����30� �������4�# ��/��-�5�� � ��-)�������0� ������ ��)��
���'�� 
 �����-�
-��������� ���������

�� �� .���
����
� �
������
�

AFL �-��� ������4�� ��$��������3 � �0 
��������� �����-3

• ������

` ���� ��� ����

` ���������� �����-�

• Xe

` �3����
��'���� �����-� )������ ���-���
30 ���������


` �����
��'���� �����-� )������ 5�/��
�# � �������
�# ?����������

` .����-� �0��������� �$��)� �
��4�� ���$��'��� ��$� �� ��-)�������
���-���
30 ���������


` .����-� -���������
���� ��-)������3 hj

�da



` .����-� �)��
����� hj

• eFY

` �3����
��'���� �����-� )������

` �����
��'���� �����-� )������

` 
����-������'��� �����-�

` .����-� �)��
����� hj

• jYe

` �3����
��'���� �����-� )������

` �����
��'���� �����-� )������

` 
����-������'��� �����-�

` .����-� �)��
����� hj

• egh

` �3����
��'���� �����-� )������

` �����
��'���� �����-� )������

` 
����-������'��� �����-�

` .����-� �)��
����� hj

• jYOk

` �3����
��'���� �����-� )������

` �����
��'���� �����-� )������

` .����-� �0��������

` .����-� ���-����$�����5��

` .����-� �)��
����� hj

` .����-� ����$��
�� �� ����
� ��'���/������
��� ������� �
���4���� ��;
���-�# -���������
����

• qqY

` �3����
��'���� �����-� )������

` �����
��'���� �����-� )������

` .����-� �)��
����� hj

• lLY

` �3����
��'���� �����-� )������

` �����
��'���� �����-� )������

` .����-� �0��������

` .����-� �)��
����� hj

�dd



���������' ��$��3 -����0 �� ?��0 �����- �
������ ����� ���� 
����#� ��)��;
-��� -����� -���� $3�' ���'���� )�
������ 
 ��� �� 
30��� �� ����� ��� ��)��;

��'��# ��$��3 ��� �����-3 �)��
������

��� )���$�30 �����- -3 )�������- ��)��'��
��' ��� ���3
��-3� ������--���;
�-3� 7��� ����� ����������3 @FGI�GV��VUCK kI�EMVC YITDGICCKGJ� FkYN � �)�5���'��
�����$�����3� ����)����3� -����;Q�� �� ����
� -���������������
� ������� ;
�3� �����#��
� jkAq ?��)���-���� OekOo� �� )��������3� � )��-������- $����
��
��-���30 ��-)������
� � �
��� � ��-�  �� FkY ����� ������� �� ������� ���
�����- �)��
������ �
���4�0�� -����  �
��
����'�3-� � ������-� -3 )�������-
��)��'��
��' )��-3%����3� �� �� 
��������# �))������# �����-�# �����������
��
������ �)��
���4�# )�����--3� ������� $���� �
��-��� ���� )�����������'
��
��%�� )�����--��

��� �����0 �����- -3 $���- ��)��'��
��' ��� ��$����4�� )�� �)��
�����-
�)���5����30 �����- �ETWI�J � kETB��

�� �� I
�
����"
� �
����	 "�
�����
� �������
� D0E

��� �-��'%���� ����-���� �����$���� �����-3 �)��
����� -3 )�������- %�����
��)��'��
��' )�����--��� �$��)� ����� �����$������� 
 ]6"�� ��� ?��)���-����

�� 2&�� �������
�� ?���� 
 �� ���
� ����
��# )�����--��# ����3 �����$���� �����;
-3 �)��
����� � �$��� ��/��-�5�� -���������
���� @YITDGIC OTW LVDV OM~BEJEDEIT�
oYOLON -3 )�������- ��)��'��
��' �����-� F�oo XX � ����
����
��4�# ��$�� )��;
���--�30 ��-)������
� �����$�����3# 
 ��-��0 )������ �YgF�

� ��� �� ���� ����-���' ��)��'��
���� F�oo XX �������� ��)���-��-� 
3����#�
-3 )�������- )��-����' ��
��-���3� �����-3 $3����# �����$���� )�����--����
�$��)� ���� @pVHEW OHHCEMVDEIT LKyKCIH�KTD� pOLN ��)� qIGCVTW LKyKCIH�KTD oDBWEI
��� !. �ETWI�J � qIGCVTW �[CE� ��� !. kETB�� Q�� �����-3 )��
����� �����
��'
)���/��-�;����
���-3� )��������� �� ���
�� ��0������ ������ � �$� �������� ���
��3� )�����--���
���� LKCH�E ��� � Yzz�

��;�� -����� /��������
���� � ������ ���30 ������0 �������
 -3 )�������-
��)��'��
��' ���'�� �$������� ���$0���-3� ��-)�����3 )������ �YgF� � �0  ����

0����

• .�$��
���� F�oo
• ��������-� �$�����
���� �
���#�30 ��)����
 @OCVG� �VTWCET� JBUJ[JDK�N
• ��%��� ���� �30 ��������#
• ��-)�����3 �YgF ��� ���/�������
���� 
3����
��'���# � �����
��'��30

�����- )������
• ��-)�����3 �����-������'��# �����-3
• .����-� �)��
����� �����)�- @)������� )�������4�-� �$��������N
• .����-� ��)��� ��/��-�5�� -���������
���� 
 $��� ����30 @)������� )�;

������4�-� �$��������N
.����-� �)��
����� ���������- AFL �-��� ���0���
��
�� �����0� �����

���������� �-� ���� 	��\
�
� 
��0��0 ���
�� �����-3 �)��
����� $��������� �� F�oo� ��� -���-���5��

����-���� ��5����# �� F�oo� ?�� ���� �������� )� ����# ��� ���3
��-�# i�����-�
F�oof �� ��$�������� � �� �����
�# ���� �����-3 �)��
�����

�dc



���� 	���� K	����� �����
��	�  �������� >@4�

��� �$��)� ���� ���$��
� 
 ��$��� � ����-� �����-3 �)��
����� -3 )�����;
���- ��)��'��
��' ������'�� ��� ���3
��-30 )��'��
����'���0 �����/�#��
 @{JKG
XTDKGZVMKJ� {XJN� )����� ���30 � �����-� ���� � ��$����4�0 �� �����'�30 ��� ��
�-��4�0 ����������
���30 �����- F�oo� (���- �$����-� ����3# �� ?��0 ��)��;
�����'�30 �� �)��
����� �-��� 
��-������' ��)�����' ����;)����� ������'��0
i�����- F�oof�

��)��-��� 
� 
��-� ������� �$�����
���� eFY� ���))3� ����-��4���� ����
�#
�����-�# � �����-�# 
3����
��'����� )������� �-��� 
��-������' ��$����' )����;
���'�� � ����
���-� ������ �� �
��- ���

!$4�� �)��
����� ���������- AFL ���4���
������ � 5������'���� ���� )��
���
���
��� Q��� ����� �
���4�#�� �����
3- ��� 
��# �����-3 �)��
������ )����-���
��/��-�5�� � ��������� � �
���#�30 �����5��0 �� 
��0 ��$���������
� �� �����-3
�)��
����� -������- � �� �����-3 �$��� ����30� Q��� �� ���� 
3)������ �$-��
� �)��
���4�-� �����-�-� ��-)����� SXYO � � �����-�# �)��
����� 
��# ��/��;
��������3�

�����
�# ���� ����� 
3)������ ���)��������� ��-��� ��$���������- 
 ����
��;
��
�� � 
3$����3- ����-�- ��$��� ����30 � 
3���� �� ���3 ��-���3 ��)� igTf�
ig�f � ���� 
3�3
�� �-��� ��������� ����
 �����-3 �)��
����� AFL�

�����# ���# ������� �� ����
 �����- �)��
����� ��$���������-�� ��� ��� ��;
-� ����'� ����3# �� ?��0 ����
 �-��� ���'�� ���� i�����-� F�oof � �$��)� �
���
�)��
����� ���'�� �
��- ��$���������-�

�� �� ?���� ���� ����� )����0���� �$�����
���� ���
��$����30 �������� ��$;
���������� 
��� ��4�0 �))������� ����
�� ���� ����� ����
� � ����
� -�%��3 ��;
�� �30 ��������#�

�����# ���
��' �����0�� �����-3 �)��
����� ������� �� ���
���30 ��� �$��)�;
 �
��4�0 �$-�� � �))�������# ��$���������� Q�� �� �����3 ���������' ��-)'�;
���3� ��)�����4�� )�����--3 F�oo� �� )��5���� �)���� �))������3� 
3)�����;
-30 �� ��--�����5�����- )�������� ������� ���
��� �����3� ���$��� ��� ����';

�d^



�30 ������ 
��-��� )��5������� F�oo ������ )��� ��' ���'�� ��/��'���
�����
�����'�����4�� ��/��-�5��� �������4�� ���'�� ��� �-3� ����3��

������--3� �$��)� �
��4�� �$-�� � �))�������#� �����3 )������
���' �� ��;
$� ����-)�����
���3� ��)�����-3� -������ �
���4���� i���
���-� �))������3f�
��)������� ?��0 �������-�
 
 F�oo � ��' ���'���� �-��'%��� )����
������'����'
�����-3 ��;�� �����  �� F�oo �
������ �����)�������4�# �����-�# �� ��� )����3
�;
�� ��-������ )��
�����3� �� ?��)���-���� OekOo� �����5� 
 �������� ��)�������
�������-� �����)��������- F�oo � ����-)�����
����# )�����--3 -���� �����;
���' �������
 �3�� ����

�����# )�� ���# )������� ��--�����5����30 �������-�
 ������� ���
�� 
 ��;
��-)�����
��3� )�����--�3� -����� �
������ ���$3� 
��-������� F�oo )� �����;
�� )�����--� !$3 �� )��5��� ������� )�����--� 
3)�����4�0 �$-�� � �))�������#
�
������ � ��' �����3- � ��)��'��
���� ��
��-���30 ������-����
 $3����# ���;
��$���� @pOLN )��
����� )�����--���� ��$����' 
 ��� ����'�� $���� �������
��;
��# ������ ��� )����3
��� �)3�� ������� �������-�
 � ��3
���� �))������3 )��
�)��
�����- F�oo ���$��� -���� $��'%��� 
��-��� )� ���
����� � ��)��'��
����-
������-����
 pOL�

�3 )�������- ��)��'��
��' )��-3%������ �$�����
���� -����-��'�� %���;
��� !$3 �� )����
������' �$�����
���� )�������
���� )�����--��� �$��)� ���� �
�����/�#��- � )��-3%����3- oYOL�-� � ������4�# -�-��� ��;/���� )��-3%;
�������' ��)��'���� )������� gFY ��� �)��
����� �$�����
����-�

�������� gFY @gkj ZIG FGIMKJJ YITDGIC� gkj ���� ��� gU�KMD kET�ET�
VTW j�UKWWET�N $��������� �� ��0������� YgAuLYgA @YI�HITKTD gU�KMD
AIWKCuLEJDGEUBDKW YI�HITKTD gU�KMD AIWKCN� �����$������# ���)���5��# AEMGIJIZD
� )�?��-� -���� ��)�����'�� ���'�� )�� !. �ETWI�J�

!$3 �� ���
�� gFY �
������ � ��' ���-�����- � )����$���� ��� ����'�3� ��;
����3 5������'���� )��5������� � ��� �� ���� �$�����
���� �����-3 )��
����� ��;
)��'��
��' $����  �- ���� gFY;���
�� -3 ����-�����- ��)�����' ?�� ���
��3 ��
�����'�30 �� � ��-�  ��$3 �������� �� ����3# )��5����� ���
������ �� �� )��;

3%��� \b�	b|� ��)��-��� ���� ��$�������� ��)��'���� ���� ���� )������ )��;
��
����
� /��-3 YOjS� ���)�������3� 
 ������'��0 �����-�30 ���#��0� �� -3
����-�����- ��)�����' ������'�� ���
���
 gFY� �$�����
��4�0 ��$��'%�� ����;
 ���
� ���#��
 � ��$����4�0 ����3# �� �
��- ���

��� ��)������� �$�����
����� �����$�������� 
��%��-� � �������-� )����;
�� AFL� -3 )�������- ��)��'��
���� )�������� LXA @LEJDGEUBDKW XTZIG�VDEIT
AVTV�KGN� LXA $3� �����$���� 
 ]6"�� � $���� )�������
��'�� 
 �� ���� 
����

��-��� ��4���
�
���� ?��)���-����
 �� �����#���� 2&�� � �����
 )����� )��;
���--���� �$��)� ���� LXA 
0���� ��� ���3
��-3� OFX;-�������3 F�oo ��� ���
������� LXA� ��� � ��� ���
��� LXA�

LXA ���4���
���� ������5�� )���-���30 )� �-��� )���-����#� �3 )�������-
�-��' ������'�� ����
���-30 ��-���
 �-�� )������
���4�0 ����
���-3� )����;
���-3� �3 ���� ��3
��-�  �� ����3# ��$�������� $���� �-��' �
�# ��$��
���3#
��-�� ��� �$��)� ���� 
���������� �$-��� -���� ���
���-� � �������-� 
��� ��
��� ������ �3�u�����
3� ������3� ��� � ������3 � ���
��3 F�oo�  �� )��
����
����� ��' 
������ ��$���������
 ���� �� ������

����
� ��%��3 ���� �30 .�������# ������ �-��' �
�# ��$��
���3# ��-��
�-��� .���
����
��4�# ���
�� �-�� LXA @LXA SV�K oKGyKGN ������ ��)�����'��

�cb



�� �����
�- �� �����-3 �)��
����� AFL�
��� )��������� 
��
' �����$��3
��-30 ���
���
 -3 ����-�����- ��)��'��
����

������4�# �0�-3� �-� ���� 	��_�

���� 	���� 1������ ���/! 5�)
��  
� �����)���	 ��������

.��
�� ������ �$��)� �
��' )������ ����� � ��3
���� ��������� �))������3
�����-3 �)��
����� � )�����
��' ��-���3 ��� �)��
����� ��-������- ?���� �����;
����� :����� �))������3 ���4���
������ �������-�- 5���� ������ �)����� � ?���
�������- ������ )�����
��' ���
��� LXA ����3� ���'�� �$ ��-������ ����������

23�� $3 ����� �������'��  ��$3 ���
�� �������� 
��-������' ������� �����;
-3 �� �����- ���
�� � )��
���� )���-����
��' )��0������� ��/��-�5�� 
 �����-�


���;
3
����

,)��
���4�� ��/��-�5��� �)�������4�� ���/�����5�� ��)��'���-��� �$���;
��
����� ���
���� �-�� )���-���30 LXA � ��)� �����3 ��)��3
��'�� 
 �����'�3�
���/�����5����3� /�#�3� (���� ������ $3�' )�����-������ 
��-������' ��0��;
���' ?�� /�#�3 
 ���/�����5�����# $��� ����30�

� ��� �� ���� )������� �$-��� � �))�������# �
������ 
��'-� �����3-� -3 ��;
��-�����- �����$����' ?-������ �))������3� )��
����4�# �)������' �����������
)��$��-3 � )���� ����)��
������

��� -���������
���� ����30� )�$�����-30 ���
���-� )���)��������� ��)��'��;

��' �)�5���'�3� ��������� ����� )�����--3� Q�� -���� $3�' ��� )�����--3 �$;
4��� ����� ���� ��� )���-���� )���-���30 LXA� 
0���4�� 
 ��$�� -�����# �YgF�
��� � �)�5���'�� �����$�����3� ����� ���� ��� )����3
��� �)3� )������
� ���;
4���
���-30 �� 2&�� ����� )�����--�3� ������-���3 -���� $3�' � ��' )�����3;
-� ��� �$����� ����
 ��$��������� 
 ����
���-�- ����-� 
 ��� �� ���� 5������';
�3� ����$3 ��$���������� ����� ��� 5������'�3# ���� �)��
������ )� ��# ��� ���#
)�� ��� �� ��$������

.��
��3 �))������3 �����3 �-��' 
��-������' ��$����' ���� 
 ��� ��� ����
)��'��
����' �� �������� �� �)��
���4�- ��� ��� ?���� ���
��3 �����3 $3�'
�����$����3 ��� i����$� �ETWI�Jf ��� iWVK�ITf ��� kETB��

�c�



&�'�������
��# 
��-������'� ��)���� ����
����
��4�0 ���
���
 $�� ������;
�� )��'��
����� 
 !. �ETWI�J �
������ 
��-������' ��)��'��
��' �����-�
i�VDM�LI�f� )��
����4�� ��)�����' ��� ������'�3�� ��� � �����3� )���������

 -�-��� �������� �)���5�����# �����-3�

��� ��� ��-� ����'� �����-� �)��
����� AFL �-��� ���
��$������ �����0� �;
���� ���������� ��� ��$��3 � ?��# ���������# -3 )�������- ��)��'��
���� ���
��4���
��4��� ��$��� ������-����
� 
0���4��� 
 �����
 ��-)����� �YgF� Q���
��-)���� 
��� ��� ��$�� ����;)�����# F�oo ��� )������
������ ���������
����
� ��
���5�� )� 
��- ���- ����
'�- �����-3 �)��
����� ; )� �))������-� ����
��
���� ����-� ����
� � )� ����
� ��%��3 ���� �30 .�������#�

&))������� ����
� )������
���� �0�-� ������5�� �))������3 ��$���������� !��
������ ���$�����' �����0�� ������5�� 
 ���-���0 ���#��;���#�;-����'� Q�� ��;
��
� ��)��'������ ��� �������� � -���/���5�� ��4���
��4�# ���/�����5�� �))�;
�����3�

7��� ����� ����
� )������
���� ���� ����� )������������ ��$��������� 
 ���;
-���0 ��-)�����;��$��-)������

��)��-��� �))������� ����
� )������
���� ���)�������� 
30������ ���t�-� ��

3����
��'���- $���� )������ ��-��3� 
 �� 
��-� ��� ���� ����� ����
� )������
;
���� ���)�������� 
3����
��'����� 
0��� ��-��3� )����� ������ ��$���- � �)�;
-�����-� 
30��� $���� )�������

����
� ��%��3 ���� �30 .�������# )������
���� �0�-� )��0������� ��-���
)� ���� ����-� ����
� �� 
��0��0 ����
 � �����- � )��0������� ��/��-�5�� �
��������� ����
 �� �����0 ���
��# � 
��0��-� ��)��-��� ?�� )��
����� ����� ��'
 ���' �����-3 �)��
����� �� 5������'���� ���� � )����� ��' �� � 
��-����-� ���;
��
�-� ���� ��� 
3)������� ������#�� � ������� �))������3�

,��3 ����
� ��%��3 ���� �30 ��������# -���� �-��' ������4�� ���������m
• ?_R@AaZ�b^\\ � ���$��'��� ���������� 0�����������4���� ��-�  �� 
��

���� ���� )������ 
3��� ��3�
• ^\\ � )��-����� ��� ��������� 
 ������-  ���' ���� ����
 ��� 
��� ����
• ?@SQ�Yc � 
�� �����
��'��3� ���� ���� 
��� ��3� �� 
�� 
3����
��'��3�


3��� ��3�
• dS��RQ] � )��-����� ��� ��������� 
 ������- 
�� �����
��'���� )������


��� ��� � ��� 
��� ����'  ���' 
3����
��'��30 ���� ����
 )�������
• dZS�c � 
�� ���� ���� )������ 
��� ��3 � 
�� ��-)�����3 ��/�������;

���3 ����
3 � �� ��� )���-� ����30
• RQR@RS[ReRQ] � )��-����� ��� ���������� 
�� ���� ���� )������ 
��� �;

�3� ��/����������� ����
� � ��$��� ����30 � )����0���� �������� )���-����
 

hj�

• d>QQRQ] � ���� ��$�� ����30�
• �S>?Z� � ��$�� ����30 )��������
����
• Zdd^d � )� ���#��# -���� ���� �� ���� ����
 )������ 
3��� ���� ��;��

�
���#��# �����5�� ��� ����#;�� �� ?��-����
 ��/����������3 �� -���� �$��)�;
 �
��' ���-��'�3# ��$�� ����30�

���5��� �������� )���-���� ����# ��/��-�5�� 
 hj ������ �����
��' �0�-��
)��������# �� ���� 	��	�

�3$���� )���-����
 �� ���/�����5�����# $��3 ����30 
3)�������� �������-�
��)�����4�- ��)��� 
 ����
����
�� � 
3$����3- ����-�- ��$��� ����30� Q���

�c\



���� 	��	� K0��� ��
����	 ���������� � g]�

������ ������ $3�' )������� )� �����-� %�$���� � 
 ��- �� ������ $3�' �����;
 �# 
 ��-� ����# �����-�# �)��
������ hj ; �����-�# �$��� ����30 ��� �����-�#
-��������� ��������� "����'�����4�� ���/�����5����3� ����3� ��)��
������ 

����
����
��4�# ����� � )��-������- )�������� LXA�

��$�� ���/�����5�# ��������� ������ -���/�5���
��'�� ���������- ���/�;
����5�#� �$4�- ��� 
��0 ��$���������
�

��� )��� ���� 
��-������� ��)��'��
��' ���$�3� ������
3� ��������3� �����;
��� ���/�����5�# ������ �-��' 
��-������' �-)������
���� �����'�30 ������;

30 /�#��
� �������4�0 �)������ ������
�� hj�

����� ���� ��� ��$�� ���/�����5����30 /�#��
 �����������
�� � �)��$�
�� �
�� ���$��� ���'��#%�# -���/���5��� ?��� ��$�� /�#��
 ��)��3
����� 
 ���/���;
��5������ $��� ����30� Q��� ��$�� 
 ���'��#%�- ��� �� -���� $3�' ��� �����
��� ��-���� $�� ��-������ ���
���� ��� ��-��� 
������

�3 ���� ��3
��-�  �� �� �����-3 �)��
����� $���� ������
���3 
 ���#��0 �
�� $���� �-��' �
��0 ���
����� � -�������
� �����) )��'��
�����# � ��-)'�����-
�����-3 -��������� �������� ������ ���4���
���'�� 
 ����-� ���������� �����)��

���-�����  �� 
 �� ��� ��$��3� -3 �� $���- �-��' �����-3 �
��-��� ����#
������
�� )�����--���� �$��)� ���� �� ��� ��)��-��� ����# ��� YAh 
 ]6"���
��?��-� ��� 5���# ������
�� � )���������� )�����--���� �$��)� ���� �����-3
-��������� ��������� ���))3� ����-��4���� �����-�-� �)��
����� ��$���������
�
�����3 $���� )�������
��' ��������5����3� )����3� �����3� �����3 0�����'��

 ���/�����5�����# $��� ����30� Q�� )����3 �����3 ��������' 
�� ���$0���-3�
���#
��3 � ��)����-3� )�����--�3� -������ ���$0���-3� ��� ������
�� ����
��;
��
��4��� ���-���� �����-3 �)��
����� �� ��� �-��4�# �� �
��- ����� ���'��
�)���5������ �����-�� Q��� )���� ����� ������ ��������' )����$��� �)������
)��5����3 ������
�� �� �������'��� )�����--� ��$��
���� ������
�� ����
����
�;
�4�0 -�����# �� ���

�c_



����� ,

-�
���������� $������������


��������

Q��  ���' )������ 
��� ��� 
 ��$� )�����--��� � ��-)'������� �$��)� ���� ���
��������� AFL� �����$���� � �5���� )���-����
� � ����� ����$��
�� ����������
���-� ����� ����������� -�0����-3 ��� 0������� � �����)� � ����3-� �0 �����;
�����5�� � ������� � ����� )�������� ���)���������# ��/����������3� ��)��'��;
�-�# ��� 
��0 ?��0 ���� �

*�� E
��
����� %
��� �� ������
����� �������5


�

������--��� ����� @�$��� ��N� �����
��-�� ��� ?��)���-���� AFL @AHWpIIDN ��;
������� �� $��� �$t�����;���������
����# �$��� �� hVEpIID v\c\w � �
������ -�4;
�3- ������-����- ��� ��� ���� �
�#��
 -��������-��� ���������� �����$���� ��;
�����-�
 ��� ����������5�� ?��)���-�����'�30 ����30 � �0 /��� ������ ��������

� ������4�� 
��-�� 
������3 ?��# �$��� �� ��� ��)��'������ $��'%��;
��
�- ?��)���-����
� ��)������
���30 �� ��-)����� hOXp 
 noX @YqA v\c_w �
FOSLO v\c	wN� 
�$����' ?��# �$��� �� �$����
���� �� -����'��# ���������#� ��;
����� )�������� ���3� ��� /��� ������ ������� � -�������
���� ���������
 -����
$3�' ��)����3 ����� �3-� ���))�-�� !�� ����- ��)��'������ 
� 
��-� ��)�������
)�����-- ����
���-� ���� �� ������ �����'����' )��
����� ����� 
3$����' -����
����3-� 
�����-� ����� �30 -�����#� ������ �� �
����3 ���� � �����- )��-�� �
���'��  ���� )�������3 �$-��� ����3-�� �����3� ��-� �
������  ���'� �$��� ���

� ��)��'���-�# �$��� �� ������ ������� ��������� -����������� )�����-� )��;
���--� ��)��'���4�-��� 
 ������4�� 
��-� 
 ��� ���3
��-�- )��0��� 
������'����
����� ����� v\c`w� )��
����4�- ��)��'��
��' ����3� ���3 ��� �����)����  ����5

 ����� ��������� njOSe_� njOSe	 ��� hCB�V $�� ��-������ ���� )��'��
������
!��� � �� �� �$��� �� ��)��'������ ��� ��� -�������
���� ��� � ��� )�������;
4��� /��� ������ ������� ����30� .0�-��� ����# 
�� �$��� �� AHWpIID )��
����
�� ���� `���

.�4���
���3- ��� %����- 
 �$��� �� �
������ �����$���� ��
��� -����� �)���;
��� ���-����� ���������� �
�� ��/��-�5�� 
 ?��- -����� ���4���
������ 
 /��-���
enKI�ICB�KJ @/��-�� ���-����� �$��� �� pIIDN� ����$�3# -���� ��)��'������ 


�c	



FLUKA

Geant4

Geant3

Detector

Module
FieldEVGEN

Tasks
Database
Run Time

MC Stack

Primary
Generator

IO Manager

Geometry
Manager Virtual MC

ROOT

GeoInterface Run Manager

���� 
��� K0����	-���	! �	 �������! -���	 �)�
�-�	 >eOhkko�

?��)���-���� FOSLO ��� 

��� ���-����� ���������� ������� 
 �
�� � ����' ���;

���������� �� /��-���� ��)��'���-��� )�����--�-� ��� ��������������0 �����$�;
��� @YOLN� �
�����3� ����3� � ���-����� ���������� ��� -��������0 � )���-����0
��0�������� ����- 
 $��� ����30 ?��)���-�����

���� 
��� �	 ��������	 >@48 ��� �
	������/! � �)�
�-�� >@4hkko

������--� 
��������5�� ��$3��# @KyKTDWEJHCV[N 
 AHW@hVEGNpIID $��������� ��
)����� j�j @jyKTD �EJBVCE�VDEIT jTyEGIT�KTDN �� )�����--��# ����3 pgge v\caw�

�c`



�-���� �� ������
�-� 
��������5�� ���������#  ����5 
 �$��� �� )�����--� 
�;
�������5�� -���� ��)�����'�� ��� 
��������5�� �����
  ����5 enKIeGVM�J @AY
eGVM�JN� �����;����� �� �� 
 ����� ���������� �������
 ��������� 
-���� � ��� ���;
-�����#� ������--� �)��
����� ��$3���-� 
 �$��� �� @jyKTDAVTV�KGN )��
�����
��� ��' ��������� ��$3��� � ������3
��' ����� �3� ����
�� �� )���-���3 �����;
���-30  ����5 @?������� )�)��� �3� �-)��'�3 ��� ��)3  ����5N� ���-�� 
����;
����5�� ��$3��� Au + Au �������
���� )�� ?������ �������
����

√
sNN = 9 
?�

)��
���� �� ���� `�_�
��� 
��-���� $���� ����'���� -�������
���� /��� ����0 )��5����
 
 �$��� ;

�� �$��)� �� 

�� ����30 �� ����� �30 �����;����� ����������
 ��$3��# ����;
�����30 �������
���#� ����0 ��� {GxAL v\daw � hVJDAY v�cw� ��� ��� ���� �����;
��� �����30 /���-����
� �$�����4�0�� )�� �������
���� ����� ��)��'������ -�;
���' kOxnoA v\cdw� (���� 
 �$��� �� )�����-����� -�0����-� -��������4�# ��;
������� /���
30 ��$3��# �� ��������-�� ���)����������

��� ���� �
�#��
 ���������
� �����3� )��
����3 
 )�������4�0 ���
�0 $3��

3)������ � ��)��'��
����- ����4�# 
����� ���-����� ���������� ��)��'���-�# 

�$��� ��� ���'��#%�� ��������5�� �)������ ���-����� � )���-����
 ���������
�
�)�����30 
 )���3��4�0 ���
�0� ������ $3�' ������� 
 ���'��#%�- )� -��� ���;
��$���� ��������5�� ���������
�

*�� G����%�
!��� %�����	

� 5������'��- Au+Au �������
���� )�� ?������0 �����#���� SXYO �$�������� ��
�bbb ��������30  ����5� � �����'���� ����������5�� ��$3��� �� �������
� ����
��;
�-30  ����5�-� 
 ����� �30 ���������0 ������
�� AFL� �����3 $3�' �)�������3
)���-���3 
��0 �$�����4�0��  ����5�

���� 
��� K�)/�	� Au + Au ���	�� �!���	�  
� (���
		 ���
������	�
√

sNN = 9 _(�
�� �
	�������� 
���������� ;<=>4 	 �)�
�-��! >eOhkko

����3�� ���������
���3� � )�-�4'� ����������
 ��$3��#� �������� )����� ��;

�ca



/��-�5�� �$ �$����
���30  ����5�0m ������/���5��  ����53 @FXLN � �� �-)��'��
��� -�������
���� )��0�������  ����53  ���� ��������3 ?�� ��/��-�5�� )��;
�$�������� 
 ������� ���������
�  ���� �����3� ?��  ����5� )��0����� ������-;
-3 ����������5�� 
�������
��
��� ��/��-�5�� � )���-����0  ����53� ��)��'���
��/��-�5��� )��� ����� 
 ���������0� ��� �5���� �
�#��
 ��������� � �� ���
�
)�����--���� �$��)� ����� -�������
���3� ��$3��� )��)��������  ���� )����� 5�;
)� �� ����������5�� � ����- 
�������
������ ��/��-�5�� �  ����5�0 ���
��
�����
� )��
��� ��'��# ��/��-�5��# �� �����;����� ����������
�

*��� � ����������5��  ����5 
 ?��)���-�����'��# /����� 
3����0 ?�����# �
-���-��� ����# �� �� ������ �
������ ���� �# ���)����
���� �$����
 @���� ��0��;
����� ����� N � ��� /�����
����� .�
��-���3# )��0�� � )��$��-� ����������5��
�����
 $��������� �� ��)��'��
���� /��'��� ���'-��� v\cc� \c^w� ����� ���'-��;
/��'��� )�������
���� ������
� ��� ��0������� ����� � ��0������� ��� )���-��;
��
 ����
��-����� ��� ?��- -����� ����� 
��-���� ��������� � ��3
��' ?//���3
-������������ ���������  ����53 
 ������

���'-��;/��'�� )������
���� ��$�# ��$�� -���-��� ����0 ���
����#� �����3�
�$��)� �
��� ?//����
��� ��%���� ���� � -�����- ���-��'%�0 �
������
 � ��;
)��'��
����- ��������� &������- �������� � ��$��� �� �� � ���������
 
 �����
@�����3%�#N� ��� �����30 )����
������ �5���� 
������ �� ��'�30 )���-����
 �
��
��������# -����53 �%�$��� *���- ���� ?�����)��������� �� ������4�# �� ��
@)�
��0����� ��������� ��� �� �����# )��-����� ��# �� ��N� ��
�� ��
���������
-����5� )��� ����� � ��)��'��
����- -����53 )���$����
���� @���$����N� ���� -��;
��53 )����
���30 �� ��
30 )���-����
 ����� )� ����%���� � ����4�- )���-��;
��-� 6��� 
 ����������� �� ?�����)�����
����# �� �� ��0������ 0��� )��� ���3# 

����'�30 ��-������0� �� ��$�
������ � ����� � ���'-��;/��'�� �$��
���� 
�����
���������� ��
��������� -����5� � ��� ���� χ2 ��� ������

.0�-� ����������5�� �����
 
 ������
�� AFL ����� ����� 
 ������4�-m ��;
0������� �����
 
 eFY ���4���
������ 
 �
� )��0���� �� 
��-� )��
��� )��0���
��0������ ��������3 
 ������ � ��)��'��
����- 0���
 �� 
��%��0 ����
 ���������
eFY� ��� ?��- 0��3 �� ����
 )�� ��-���- 	^ � `b ��-$��������� � ����- �� 0���

�� ����
 		 � 	_ ��� /��-���
���� ��������� 
 ����� )�� )���)���������  �� ���;
�� 
3������ �� )��
� ��# 
��%��3� Q�� �� �� �� �������� 
 ����;�������� ����

3)�������� ������4�� ����
��m ���������� �� ����� �� )��
� ��# 
��%��3 
���'
��)��
����� )� �� @|z − zvertex| < �b �-N � )�)��� �3# �-)��'� )��� ������ �����
@b�b` < pt < 10 
?�ucN� ��)��'��
���� ������'��0 ����
 @`b� 	^N )��
����� � ���'

��-����� ��?//����
����' ��������� )�� ��������5��  ����5�

����� ?�����)���5�� ����;���������
  ���� eFY )� ��)��
����� � 
������;
��- ����-� 0��3 )��)��3
��-3� �����- ��������� �� ����-������� ��� ������;
4��� )��0���� (�)��' ����;��������3 �������� �� 0���
 )������
����'�� ����4�0

 �
�0 
��������0 ����0 eFY M ����$����3- ����
��- �� ���������� �� 
��%��3
@|z − zvertex| < _b �-N ��� ��0������� ?//����
����� ����������5��� ��#����3�
�����;��������3 ?�����)��������� � 
��%��- ����- eFY� *���- ��0������ �
�#;
�3� ����� @����� �-��4�� $��'%�  �- `b| �������
30 0���
N � �� ��0 ����
������
���'�� ���� � $��'%�- ���� ���
�- 0���
 ��� -��'%�- ��� ����- χ2� ������ \;0
)��0����� )��5����� )��
����� )��� ��' 
3����� ?//����
����' ����������5��
�����
 ��� � $��'%�-� ��� � � -��3-� ��� ����-� Ht�

��� ��0������� �����
 
 ���5�
�- ��������� �� ����� ���$�� @jYeN ���$����

�cd



, GeV/c
t

p
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

E
ff

ic
ie

n
cy

0

0.2

0.4

0.6

0.8

1

1.2

, GeV/c
t

p
0 0.5 1 1.5 2 2.5

, % t
 / 

p
t

pΔ

0

1

2

3

4

5

6

7

���� 
�	� �66���	������ ��0�7 ��	� ������ � ^@� +�
���,� �����	��
���� �5	)��
�.���	 ������-�/0 	���
���� -���	. +������,

����'�3- )��0���- �
������ ?�����)���5�� �����
 �� eFY  ���� jYe� !����� ��;
�� ���������'�� �����# ?//����
����� ��������5��  ����5 
 ����- ���� ���$��
� 
3����# �������� �����# �� ���$�� $3�� )��������� ������4�� )��5�����m ���
������� ����� �� eFY� )�)����4��� 
 ����)���� jYe� �������� ��)����� ��� -����0

�������
 )���������� ?���� ����� 
 jYe� (��� )���������� ����� �4���� �� ����
� �;�� ���� jYe� ����� �� \;�� � ���� *���- ����� 
��0 
�������
 
3$������� ����� ;
%�#� ������ )��5����� )��
����� )��� ��' ������� �� 0���%�� ?//����
����'
��0������� �����
 
 jYe 
 ����
��0 
3����# �������� ?���� ����������

(�� ��� ��� �����
 
 �$����� $��'%�0 $3����� ?//����
����' �0 ��0������� 

eFY )������ ��� �0 )����� $3� 
3$��� ��'�������
�3# )��0��� ��� ?��- ��������3

 ����� �������� �� 0���
 ���5�
30 egh � jYe ���������
� ���5����� ��0�������
0���
 ������ �)������� 
3%�� -���� $3�' ��)��'��
��� � 
 ?��- ��� ��� ��#����3�
�����;��������3 ����- ?�����)��������� 
 �� �� 
���-���#��
���

�� �����- ?��)� ��-���5�� ������
�� AFL ��� ����� 
��-������' ����������;
5�� ��$3��# )� �������- 
 eFY� 
 �� ���
� ����
���� ���������� egh� ���5�
���
egh � ���5�
��� ������� �� ����� ���$��� Q//����
����' ��0������� �����
 �5�;
��
����' ��� 
��0 ��������30  ����5 )�)����4�0 
 eFY M )�)��� �3- �-)��'��-
pt ≥ 100 �?�uc�

��� )������� �� ���� `�	� ��)��'��
���� ?���� -����� )��
���� � 0���%�# ?/;
/����
����� ��0������� �����
 
 ����
��0 
3����# -������
�������  ����5� !�;
�������'��� �%�$�� �)��������� )�)��� �30 �-)��'��
  ����5 Δp/p ≈ 2 ÷ 3% 

����-����
��-�- ���)����� �-)��'��
 ����� ��0������ 
 ��)����-30 )������0� ���

���� �� "��� `�	�

� ���'��#%�-� � �����$����# $���� �������� ����0 �������
 ���������
� ����;
���-3 ����������5�� $���� �)��-�����
��3� Q�� ����� )��
���� � �)��-���5��
���/�����5�� ���������
 ������
�� AFL � $���� �����'��# �����$���� -�����

/��� ������ ��������

 ���������� (��7��� (���.���#�
(��

*����� )��
� ��# 
��%��3 
���-���#��
�� ��4���
���� ��� %��� �)��������� �-;
)��'��
 � ?//����
����' ��0������� 
���� �30 
��%��� ���
� ��� 
��%��� �)��;
�������� )���- ?�����)���5�� 
��0 )��
� �30 �����
� ������������
���30 
 eFY�
� �0 �� ���� .������ �� ���)��������� 
 )�������� �����
 
 �$����� �0 
�������
�;

�cc



��� �)�������� 
��%��� 
���-���#��
��� ���� ��� �����%���� )��
� ��# 
��%��3
��0������ ��� �������
������ ��� ���������� ?���� ���)���������� (� ����' �)��;
������� )�������� )��
� ��# 
��%��3 
���' ��� )� �� 
 ��
���-���� -������
��;
����� )��
� �30 �����
 )������� �� "��� `�` � (� ����' 
�������
����� )��
� ��#

��%��3 
 ���-����'��- ��)��
����� �� %��  �- 
���' ��� )� ��� !���������  ��
��� 5������'�30 
���-���#��
�# �����%���� $���� ���������� �����%���� )������
\bb -�-�

Charged track multiplicity
0 100 200 300 400 500 600

V
er

te
x 

p
o

si
ti

o
n

 r
es

o
lu

ti
o

n
, u

m

0

50

100

150

200

250

300

350

���� 
�
� W�-����� ���� �
��	� ����	-��! ���5	�/ � �
� ��	 ��-�� � ���	�	����	 ��
-	�
� ���������	������/0 � ^@� ����	-�/0 ������  
� |η| <E�H

*�" #�%�
���� �� 6�<5�
���� � 678�

��� ����������5�� ��$3��# -�������
���� ������� 
 egh ��������� @0��N ����;

��� �� ��/��-�5�� � )��0�������  ����5  ���� 
�4���
� ��������� �� njOSe�
�����;����� ��/��-�5�� � ���������� �� �� 
���-���#��
��� )�����0 ?������ )��
)��0�������  ����53 � 
��-� )������ �� 
��%��3 ��)��'������ ��� ������5�� ����
egh f0���f� ���� ������� � )���
�# )�������� -����� 
 ����
����
�� � ��
����3-�
)��5����-� ����
��� �������� � ������5�� ������� 
 � �� ���0 pFY� ��$�� 0���

� egh ��������� 
 ��$3���� ����3# � �����������#� �-)�������# � 
��-����#
��/��-�5��# ��)��'������ 
 ���'��#%�- ��� �
��3
���� ������������
���30 ���;
��
 � 0���-�� !$t�������� ����� 
 eFY � ����
����
��4��� �-� ������� 
 egh
@/+'*0",1 ��� eFY;egh f-�� ���fN ����
��� �� )��5����� ?�����)���5�� ����� �
)�-�4'� �������-� ���'-��;/��'���� ���5����� 
3)�������� 
 �
� ?��)�� ���;
 ��� )��
������ ?�����)���5�� �� 5������ ������� d @pP��_ -N � �)����������
�����
�� ���-����'�30 ����
 φ ��� 0��� 
 egh @ 5������� �����  ���' egh ��;
����� �� �\ �����
���
 )� φ ���-���- Δφ = πuaN� *���- )���- �������
���� )�
�)����� ����-� �)���� -�����# �)���������� �������� � -���-��'��# �����5�#
-���� ����������# �� �� ?�����)���5�� � 5�����- -������ ����� ?���� ������;
���3 �� �� 0��� 
 egh ��$�
������ � ������ )��
������ )���/�����
���� ����� �
�)���������� ��
3� )���-���3m �-)��'�� ����� ����� � ��
����5������ -����5�
�%�$�� )���-����
�

�c^



η-1.5 -1 -0.5 0 0.5 1 1.5

T
o

f 
m

at
ch

in
g

 e
ff

ic
ie

n
cy

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

  (GeV/c)tP
0 0.5 1 1.5 2 2.5

T
o

f 
m

at
ch

in
g

 e
ff

ic
ie

n
cy

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

0.9

1

���� 
��� �66���	������ ^@�*^dg ���-	�
� � ���	�	����	 �� ���� �)/�����/ η +
�*
��� ����
�, 	 ������-��
� 	���
��� pt +������ ����
�,�

*�
���-���' ?//����
����� -�� ���� �� )�)��� ���� �-)��'�� � )��
��$3����;
�3 )������� �� "��� `�a� � �����- �����
��� @pt�ηN ?//����
����' �)�������� ���
����%����  ���� -�� ����
 -���� ?�����)���5��-� �����
 �� eFY � 0���
 
 egh �
 ���� �����
 ������������
���30 
 eFY � �-��4�0� )� ���#��# -���� ���� �����;
����� �� �� �� njOSe 
 ����- �� egh -�����#� ,���������� )� pt ?//����
����'
���$� ��
���� �� )��
��$3�����3 
 �����
��� η < 1 � �)����� �� ����0 ����)�����
egh� ���� ��� ?//����
����� �����
���� )������ ^b| ��� pt > 0.6 
?�uM} �����;
������ )� η ?//����
����' �-��'%����� �� )��-���� `b| )�� -��30 pt 
������
��
-������������ ��������� 
 -�������� ����������

*�( F�����/����� $�%��� �� �
����� �
�����

VN UN

���� 
��� M, ?���� -���	. �� ��
��
� 	���
��� +��������� �����5��	� EII ��, � 	����*
��
� ���� �)/����� |η| < 1.2� `�����
���� Au − Au ���
������	� ��	

√
sNNb F _(��

�	�	��	 �������/ �)
���	 �/ �
��	� -���	. ����/0 ������� A, ?���� -���	. �� ��
��*

� 	���
���  
� ���.���! -���	 ��������

�
����� -���3 m2 ��� ������������
������ ����� ���� ��3
����� )� 
��� ���
�-)��'�� @pN� ����3 )������ @lN � 
��-���@tN ������4�- �$����-m

m2 = p2

(
ct2

l2
− 1

)
@`��N

�^b



"��)��������� -��� 
 ��
���-���� �� )������ �-)��'�� )������3 �� "��� UU
��� _;0 ��)�
  ����5m )����
� �����
 � )������
� �-)��'� � ����� ����� )��� ��3
�� ����������5��� 
��-����� �����%���� �����-3 ������ ��
�3- �bb )�� *����3-�
�����-� )������3 �$����� 
3������� @������/���5��N  ����5 ����� ���� ������
�� "��� `�c )������� ��
���-���' �� �-)��'�� ?//����
����� ������/���5�� �
����  ����5 ������� ����� 
 
3������30 �$�����0�

���� 
��� �66���	������ 	 ���	6	��.		 	  �
� -���	.  ��
�
� ����� � ���	�	����	
�� ��
��
� 	���
��� +|η| < 1.2,

� (�$��5� `�� )������
���3 ���� ���
�  ����5 ������� ������ �����������-30 

$�����'��#  ���� egh�


������ 
��� _������	-����� (66���	������ .	
	� �	-����! -���	 >@4 +^@�:^dg,
�  ��
	� ��
� / � ��
��" (66���	�������

π . 3

8���$� �$H�� 
π 92	 9�/9 ��	/A

|η| < 1.2 
�	/� �/� 	�/2 �/� 9�/
 �/�

8�#���;� � �dB B = 0 � 	9�/� �/A� 	
/� �/2� 9�/
 �/2
 ���#��> �1��
��������*%

8�#���;� � �dB B = 0.5 � 		
 �/�2 ��/	 �/9� 9�/
 �/2

?��
����-��!�* �dB 	��/� �/�	 �	/� �/9� �9/� �/A	
,���!�������+ �/2	

^���!�������+ �dB �2� �/92 ��/	 �/�2 �	/
 �/�2
��������(�� �/2�

*����(�� 0��
/ !���- �� )���-�4���
 ��������� AFL �
������ $��'%�# �����;
�3# ���� ������
��� ����3# ����)���� egh � eFY �����
���� |η| < 1.2� !$����'
1.2 < |η| < 2.0 )�����3
����� ���5�
�#  ���'� egh �����-3 ���)��������# ��
���������� \�	 - �� 5����� ���������� �� "���`�^@V�UN )������
���3 )���-���3 ���;
��
�# �����-3 ��� ?��# �$����� )��
��$3������

Q//����
����' ������/���5�� � )��-��' �����0  ����5 ��� �$����� )��
��;
$3����� 1.2 < |η| < 2 )������3 �� "��� `�d UN � `��b�

�^�



���� 
��� W�-����� ���� �
��	� 	���
��� +
����, 	  
	�/ ����� +������, �������! �	*
�����! >@4 +^@�:]�^,  
� �)
���	 )�
�5	0 ���� �)/������

���� 
���� �66���	������ 	 ���	6	��.		 	 ��	����  ��
	0 -���	.  
� �)
���	 1.2 <
|η| < 2�


������ 
��� �66���	�����	 � ���.���! -���	 ^dg +1.2 < |η| < 2,� `�����
��/� Au +
Au ���
������	� ��	

√
sNNbF _(�

π . 3

8���$� 
π �$H��$ 92	 9�/9 ��	/A

1.2 < |η| < 2 ��	/
 �/� ��/A �/� 
�/9 �/�

�������;� �dB B = 0 � ��
/9 �/A2 �9/� �/2	 	�/� �/A2
 ���#��$%

�������;� �dB B = 0.5 � �
�/� �/A� ��/� �/9� 	�/� �/A2

�dB �	�/2 �/�� ��/� �/9 	
/� �/A	
,���!�������+ �/2	

�dB ,���!�������+ ��
/	 �/�� ��/� �/�� 	�/A �/�2
��������(�� �/2�

�^\



*�* F�����/����� $�%��� % �%����&������� 0���5

�
����������� ����
����
�

�3����� 
��-����� �����%���� ������-���� ��)� i%�%�3�f )��
����� ��)��'��;

��' ��� ��� ������/���5��  ����5� ��� �)��������� ?//����
����� ������/�;
��5�� � ���
�� /���
30 )��-���# � ��3
����' 0������������� 
��-������ �����;
%���� jYOk� �� ����' ��-������ �-)��'��  ����53 
 ��������� AFL � �� ����'
��-������ ����3 ����� �����
�# �����-�#� ��)��'��
����' �����%���� )� �-)��'��
dp/p = 2.5% � �����%���� )� 
��-��� ∼cb )�u√Ecal� (� ����' 
�������
����� ����3
����� $�����' ��
�� � --� �������� ��$��� �)���������' ��� �����53 �� ���)��;
�������0  ����5 )� -����-� ���� ���
�  ����5 ������� ��)� @NiN 
����� �����
���
-��� �)��������� ��� )��
��'�� ������/�5���
����� ��
���)����'� �  ���� ��� ��

�  ����5�-� ������� ��)� 
 ?��# �$����� @Nj,k,lN ��� /���
�� )��-��'� � �����'��;
�� �)���������' ?//����
����' ������/���5�� ��� ����%���� Ni/N

tot
i � � /���
��

)��-��' ��� Nj,k,l.../N
tot
i � ��� N tot

i � )����� @��������
�����N  ����  ����5 �������
��)�� "����'���3 ��� ?��������
 )������3 �� "��� `��� VN� � ��� )����
� �����
 �
)������
 � �� "��� `��� UN�

VN UN

���� 
���� M, L��	�	����� (66���	�����	 	 ���	6	��.		 (
�������� 	 ������ 6���*
�/0 ��	����! +
	�	�, �� 	���
��� (
�������  
� .�����
���! �)
���	 ���� �)/�����
+)����
�,� A, L��	�	����� (66���	�����	 	 ���	6	��.		 -���	. 	 ������ 6����/0 ��	*
����! +�����/! .���, �� 	���
��� -���	./ � �)
���	 )����
��

��� ������� �� "��� `��� VN� 
��-�)������3# -���� )��
����� ?//����
�� ����;
��/�5���
��' ?�������3 ���'�� 
 ����# �$����� -��30 �-)��'��
� �� "��� `��� UN

�����  �� ���
��' )��-���# � ������/�5���
���3- �����- ����� �
��� �
�����
)�� �-)��'��0  ����5 $��'%� ∼��\ 
?�uM � �$����' �-)��'��
� ��� -���� 
3�����'
 ����� ��
���)����' �����
� ������ ��� ?��- )������-�

�^_



����� .


��������� ��
����������

.�� )����& %����
�� � ��:���� ��
���� � 0�%��
�5

����� ���

�������
���� �������� ������
 �-��� )���5�)���'��� ��� ���� ��� �)���������
�
�#��
 �����-3� �$����
����# 
 �������
���� �����30 ����
� (��-�����-� �����
)���-���3 ���� ����m ��-)������� ������ ������ � 0�-� ������ 234454%&'� �������'
��������
���� ���%������ � ��� ���� $����0�-� ������ )����5���� μB -���� $3�'
)��� ��3 �� ������� 
30���
 ������
� ����%���# � ���)��������# )� )�)��� ��#
-����� .����
����'��� �� ����' �)��������� ���������3 )�������� ��������� ��;
���-3 �� /���
�# ������--� @
 )���-���30 T − μBN ��
���� �� ���� ���
� ��)�

��-�����30 ������
 � �� ����� �)��������� ����-��� ����0 ���)��������# ���
������� ��)��

�������� AFL �$������ ����- )���-�4���
� )��
����4�-� �������
��' 
30��3
������
� 
��� �� ?������� ����� ��
���-���' ����%���� ���������� � ?����)�� �
Kuπ /������5�� � 
3����# �� ����'�m

• �3����� �������' ��$��� ��$3��# @�� a �
5 ��� i�ETE�B� UEVJf ��������N
)��
���� �����'�� �������
��' �����-���' 
30���
 ������
 �� 5������'�����
@)��5��'���� )���-����N �������
�����

• &���)���� AFL ��������� �-��� )����� )�����3��� )� ���-����'��-� ����
� )���3
��� ��� ����'�3# ���)���� )� )�)��� ��-� �-)��'�� 
 �����
���
)� )��
��$3������ −2 < η < 2� Q�� )��
���� �)�������' -������
������'
������
 � 
3����# �� ����'��

• ����� ��-$�����
����# ������/���5��  ����5 )� ������5����3- )�����-
@dEudxN 
 ���� eFY � )� 
��-��� )������ 
 egh ��������� @�� ����' ��-������
σdE/dx = 6 − 8%, σTOF = 100 HJN� )�������
���� )�������3� 
��-������� ���
�����
������ 
3�������  ����5 ��$��� ����� @K, π, p̄N 
)���' �� pt = 2 
?�uc
� �� ���� �)��������� ���� ��
���� ������/�5���
���30  ����5�

• ���� �� ���-���
��� 
��%������ ��������� @XeN ����������� )��5��������

�������
����� �� ���'�� )��
� ��# 
��%��3 
���-���#��
��� �� � ���� ���;
 ����'�3# 
3���3% 
 ?//����
����� ���������
����  ����5 � -��3-� ���;
 ����-� pt � 
 ����������5�� 
��%�� ���)���
 ��)�����
�

�^	



• ��)��'��
���� ?������-��������� ������-���� � 
3����-� ?������� ����- �

��-���3- �����%����- )��
����� �
��� ��' ?//����
����' ������/���5��
 ����5 ��)����
 � ������
�

� ?��)���-���� AFL ������/���5�� ������
 ���4���
������ )� 
��-��� )��;
���� 
 egh �����-�� ]������� �����  ���' @egh;UVGGKCN )�����3
��� ���)���� )�
)��
��$3������ |η| < ��\ @�-� "��� \�		N� � 
��-����� �����%���� egh �$��)� �
���
\�`σ πuK ���������� �� ��� ���� pt ≈ 1.5 
?�uc @�-� "��� \�	\N� ��� ?��- )��-��'
 ���� ������� ����� 
 �����0 ��� pt < 1.5 
?�uc �����
���� -���� a| @"��� `�cN�

9���� H
����"
� ����
��

��� �5���� ?//����
����� ��������� ��� ��-������ ���)��������# ������/�5�;
��
���30 ������
 ��)��'��
����' �����;����� -�������
���� �������
���# ����

)� -����� {GxAL v	bw� ��)��'��
����' _bb 5������'�30 Au + Au �������
���#
@b < 5 /-N )�� ?������

√
sNN = 9 
?�� ���0������� 
��0  ����5 �� ��$3���  ����

?��-���3 ��������� ���4���
�����' )� )�����--� njOSe_� ��������
����� �����

��������30  ����5 � �)��������� �-)��'�� 
3)�������' � ��)��'��
����- ����;
���-� ���'-��;/��'���� . )�-�4'� ������� ���� -����� ���4���
�����' �����
?�����)���5�� �����
 �� eFY 
 egh @-�� ���N� Q//����
����' eFY;egh -�� ��;
�� ����� ^b| 
 �����
��� )��
��$3����� |η| < 1.2 @�-� "��� `�aN� !����� 
 egh
��������� -�������
����' )���- ���-3
���� 
��-��� )������ �� -�������
���� )�
���)��������� 
����� %�����# �bb )�� !5���
����' ������4�� 
����3 
 )�����
@��N?//����
����' eghm

� ?//����
����' 
�������
����� �����
 
 eFY
� )�)������ ������'��0 �����
 
 ���� ?��-��� egh
� ���-���� ����# ����)���� egh
� ?//����
����' eFY;egh -�� ����
� )����� �����$��'�30  ����5 �� ���)���

� )�����  ����5 
 �����'���� 
���� �30 
���-���#��
�# 
 
�4���
� ���������
� ?//����
����' ������/���5��  ����5

�
����� -���3 ��� ������� ����� ���� ����� )� 
��� ��� �-)��'�� @pN� ����� �����
@LN � 
��-��� )������ @T Nm

m2 = p2

(
c2T 2

L2
− 1

)
@a��N

��� c �$���� ��� �������' �
����
�� "��� a�� )������
���� ���)��������� )� ������������
����# 
��� ��� �
��;

���� -���3 
 ��
���-���� �� )������ �-)��'�� ��� �����
 
�������
����30 
 egh�
������/���5��  ����5 ����
��� �� /���5��;)���-������5�� F (p,m2)� ������� �)�;
�3
��� ���)��������� �� "��� a��� �� ����
� 0�������� ��
���-���� ���)���������
)� -���� �� �-)��'�� ��� ������� ��)�  ����5 @π,K, pN )���)������- 
�����
� ���;
)��������� ��� F (m2)� )�� ?��- %����� ���)��������� ��-� ��
���� �� �-)��'���
��� ��
���-���� F (p) -3 )������- ���-��'��� @2��'5-���
����N ���)����������
(�)� ��� ���)��������� )� m2 ��� ������ �-)��'����� �����
��� @p = 0.8 − 1.2

?�uMN )������� �� "��� a�\� ]
���3-� �����-� )������3 /���5�� /�����
�����

�� "��� a�_ @��
�� )����'N )������� ��
���-���' )���-���� %����3 ���)������;
��� 
����� ��� )������
 
 ��
���-���� �� )������ �-)��'�� 
-���� � )�����-����';
�3- /���- @%���0�
�� �����N� ��
���-���' �-)�����3 ���)��������� �� �-)��'��

�^`



)4/c2
 (GeV2

Mass-0.2 0 0.2 0.4 0.6 0.8 1 1.2

P (G
eV/c)

0

0.5

1

1.5

2

2.5

d
p

2
n

/d
m

2 d

0

20

40

60

80

100

fHistMass2All
Entries  48370
Mean x  0.1957
Mean y  0.6385
RMS x  0.3407
RMS y  0.4299

fHistMass2All
Entries  48370
Mean x  0.1957
Mean y  0.6385
RMS x  0.3407
RMS y  0.4299

MatchedTofAll

���� ���� $�� ��� ����/ � ���	�	����	 �� ��
��
� 	���
���  
� ������ ��
�7	��
��/0
-���	. � ^dg� ���5	�� �	��  
� �	���� �)�������

)4/c2 (GeV2M
0 0.5 1

2
d

N
/d

m

0

100

200

300

400

500
+π- 
+- K

- p

 (P=0.8-1.0 GeV/c)2Mass

���� ���� $�� ��� ����/  
� ��
�7	��
��/0 -���	.  
� 	���
����
� 	������
� p =
0.8 − 1.2 _(�Pi� �������/ ���7� 6���.		 6	�	�����	� _������/�	 ������ �
��	��	�

�^a



p_plus_2
Entries  91
Mean    1.875
RMS    0.6995

P (GeV/c)
0 0.5 1 1.5 2 2.5

 (
p

ro
to

n
s)

2
mσ

0

0.1

0.2

0.3

0.4

0.5

0.6

p_plus_2
Entries  91
Mean    1.875
RMS    0.6995

Fitted value of par[2]=Sigma p_plus_0
Entries  91
Mean   0.9313
RMS    0.3792

P (GeV/c)
0 0.5 1 1.5 2

A
m

p
lit

u
d

e 
(p

ro
to

n
s)

0

50

100

150

200

250

300

p_plus_0
Entries  91
Mean   0.9313
RMS    0.3792

Fitted value of par[0]=Constant

���� ���� �������� σ +
���� ����
�, 	 ���
	�� � +������ ����
�,  
� �������� � ��*
�	�	����	 �� ��
��
� 	���
��� p� ���	0��/�	 
	�	��	 �������/ ��������	��.	�  
�
���	0 ���������� 6	�	�����	��

)������� �� )��
�# )����� "��� a�_ ��� )������
� =���0�
�# �����# )������ ��;
���'��� /�����
���� ���)���������- 2��'5-���� ����� �)��������� )���-����

���)��������# ��� 
��0 ��)�
  ����5� -3 ���� ��3
��- ��$�� 
����������# 
 $�;
��0 @m2;pN ����- �$����-�  �� 
���������' pi ��� ����� � �-)��'��- p � �
������-
-���3 m2 $3�'  ����5�# ��)� i @i = π,K, pN ��
��m

pi =
Fi(m

2, p)∑3
i=1 Fi(m2, p)

, @a�\N

��� Fi ���' /���5��;���)��������� ���  ����53 ������� ��)��
:����53 �)����������� ����� 
3�������� )� ����
��-m �N�����' 
 �$����� _σ

���������'�� ��-����'���� ��� ���� -���3 � $N�-��' 
���������' $3�'  ����5�#
������� ����� $���� b�^� ������ 
������
�� ?��0 ����
�# ���  ����5 ������� �����
� )��-��'  ����5 ������� ����� �)���������� ����� �� ����
� ���� �����30 
���;
�������#�

9���� -�

���



�30��3  ����5 )���� )��5����3 ������/���5�� �������������� �� ���-���� ����#
����)����� ���)��3 � ?//����
����' ����������5�� 
��� �� eFY � egh� ������;
5�� �� ���-���� ����� ��?//����
����' egh;�����-3 )��� ��3 �� ����
� -�����;
��
���� )� njOSe ��������� AFL 
 
��� ����- 
��0 
��0 /��� ����0 )��5����
�
�� "��� a�	 )������ ���-���� ����# ����)���� AFL egh 
 ��
���-���� �� $3�����3
y � )�)��� ���� �-)��'�� pt ��� )����
 � �����
� ������5�� �� ���)��3 ��� )����

� �����
 ���'�� ��
���� �� )�)��� ���� �-)��'�� )�� -��30 pt� � $���� )���
��3
�����
 )�� pt < 0.5 
?�uM ���)������� 
����� AFL @"��� a�`N� Q//����
����'

�������
����� �����
 �5���
����� )������ ^^|} ?//����
����' -�� ���� 
 egh
)��� ��� 
 $���0 )� $3������ y � pt� ��� 
���� �3�  ����53 �� ���)���
 ��)���;
��
 � 
���� �30 
���-���#��
�# �)�������3 �� -�������
����� 
��� ��� 
�����
�����
���� ����� �b|� � )�������4�- ��/��-�5�� � 
��%������ ��������� $����
��)��'��
��� ��� �� ���� 
�������
����� 
���� �30 
��%�� � �)��������� ?����

������

�^d



Rapidity-2 -1.5 -1 -0.5 0 0.5 1 1.5 2 (GeV/c)
t
p

0
0.5

1
1.5

2
2.5
0

0.2

0.4

0.6

0.8

1

Acceptance Pions

Rapidity
-2 -1.5 -1 -0.5 0 0.5 1 1.5 2 (GeV/c)

t
p

0
0.5

1
1.5

2
2.5
0

0.2

0.4

0.6

0.8

1

Acceptance Kaons

���� ��	� _������	-���	! ��������� >@4 ^dg � ���	�	����	 �� )/�����/ y 	 ����*
��-��
� 	���
��� pt  
� �	���� +
���� ����
�, 	 ������ +������ ����
�,�

 (GeV/c)
t

p
0 0.5 1 1.5

1.
/(

d
ec

ay
 c

o
rr

ec
ti

o
n

)

0.5

1

kaon
pion

Decay corrections

���� ��
� �)������ ������.	� �� �����  
� ������ 	 �	���� � ���	�	����	 �� pt�

�^c



 (GeV/c)
t

p
0 0.5 1 1.5

d
y

t
N

/d
p

2 d t
1/

p

-710

-510

-310

-110

10

310

410
+π   
+   K

   p

Au+Au (UrQMD, 7 GeV, 0-5 fm, |y|<1)

 (GeV/c)
t

p
0 0.5 1 1.5

d
y

t
N

/d
p

2 d t
1/

p

-710

-510

-310

-110

10

310

410
-π   

-   K

Au+Au (UrQMD, 7 GeV, 0-5 fm, |y|<1)

���� ���� 1����� �
��	� �� ������-���� 	���
���  
� π±8 �± 	 p � UV .�����
��/0
�9:�9 ���
������	�0 ��	

√
s = 9 _(� +;<=>4,� K	���
��	 �)����-��/ ���������	��*

����/� ������/8 ��
�5�/�	 
	���
������	 �������/ 	�0� �/� ������ �
��	� 	� �� �
	�
�5	)�	 ����	��	-���	�� ��������.	�
��/� 6	�/ �������/ 5��	0��/�	 
	�	��	�

9���$ +����
	 ��
����

�� "��� a�a )������3 ��
�������3� ���)��������� )� )�)��� ��-� �-)��'�� ���
��������30 ������
 @π±� �± � pN 
 5������'��- ���)����� $3����� @|y| < �N� "�;
����������
���3� pt;���)��������� �$���� ��3 ��-
���-�� ��0���3� ���)������;
��� @�� -����� {GxALN )������3 ��������--�-�� ��� /�����
���� ���)��������#
��)��'��
����' ?��)����5���'��� )� mt /���5�� @mt =

√
p2

t +m2Nm

1

pt

d2n

dptdy
= A · exp(−mt/T ), @a�_N

��� m -���� )����� 8���5�� /�����
���� �-��� �
� )���-���� A � T � *�� ����
�$������� )���-���� ������� T @�?//����
��#���-)������3N )������
���� 
 (�$;
��5� a�� ��� 
��0 ��)�
  ����5� "����5� 
 )���-����0 -���� )���-����-� �����;
�������
���30 �)�����
 � ��0���30 ���)��������# �� -����� ��
������ 	� ^ VTW
c �?� ��� π,K � p� ����
����
����� �30��3  ����5 �� �����5� $3�����3 dn/dy
���� ��3
����� ������4�- �$����-m

dn/dy = AT (m+ T ) @a�	N

*�� ���� 
30���
  ����5 ����� )������
���3 
 (�$��5� a��} �%�$�� ��� dn/dy
)��� ��3  ���� �%�$�� )���-����
 /�����
���� A � T �

!���%���� �uπ )�� 5������'��- ��� ���� $3�����3 ��
�� 0.17 ± 0.02� � 0���
)��-�� ���
����� � )�����������-� -����� �� �
�����' 5��'� ������� �������
�;
���� �� ���
����� �������� � ?��)���-�����'�3-� ����3-� �� "��� ���\ ��-������;
���� � ��' 0���%�� 0������������� ��������� )� ��-������ ������
�

9���� ����5��
� K/π

��� $3�� ��-� ��� 
 
��
� ��_ ��-������ ?������� ����# ��
���-���� ����%����
Kuπ �
������ ����- �� 
���30 ��$�����-30 ��� �������
���� �
�#��
 /���
30
)���0���
 
 �������# -������� � )���3��4�# ���
� $3�� )��������  �� �����-�

�^^




������ ���� �������� ���
��� +T , 	 �/0� / +dn/dy, �k< uMO<kNv�

��)  ����53 T dn/dy
π+ �`d ± 	 ``�` ± ��`
K+ �ab ± ^ ^�_ ± b�d
p \_d ± d _	�a ± ���
π− �`� ± 	 ab ± ��`
K− �`_ ± �� \�c ± b�	

������/���5��  ����5 ��������� )��
����� ������������
��' ���)���������  �;
���5 �� ��� ���� )�)��� ���� �-)��'�� ��` 
?�u�� ��)��$��- �5����' ���� ���
�
��$3��# @� 
��-��� ��$��� ����30N ���$��-30 ��� 
3)������� ���� � )� �������;

���� ?������� ����# ��
���-���� Kuπ;����%����� ���'-�- �� ����
� �$t�- 2 · 106

�| 5������'�30 Au + Au �������
���#� ; ����� ���� ���
� ��$3��# @��� ����#
?������ �������
����N �$��)� �
��� ������� ��� �������� ����� �� ����' ��� ���
)��� ���� ��������'�30 
30���
 @���������3- )� 
��- ��$3���-N� ��� � ��� )�;
��$3��#�30 @�KyKTD;U[;KyKTD�N ��$�����-30� ��� �
���-���� 1027�-−2M−1 � ��������
��$��� a �
5� �����-3# �$t�- ����30 )�� ����# ?������ �������
���� -���� $3�'
��$��� 
 �� ���� ����0 ����� @)�� `b| ?//����
����� ��$��3 ����������N� ������
)�����--� ��-�����# @�b ��� ���# ?������ Au+Au �������
���# 
 ��)�����

√
sNN

�� 	 �� �� 
?�N -���� $3�' 
3)������ 
 �� ���� \	b  ���
 )� ��
��� 
��-����
�����$��� ?��)���-�����'��� �������
���� -�0����-� �������� ���������� �

?
���5�� Kuπ ����%���� )���������� )��
����' 
 ��
���-���� �� ���'�� �� ?���;
��� � 5������'����� �������
���#� �� � �� ���-��� ������
��4�0�� ���� @���-����

��� &N� �����'��� ��-��������� ��$��� )� ��
 �����)�30 �� �����#���� SXYO
��# �� ��0������ 
 ������ )����$����� ������� ��%' ��-����'�  �� ���#�� 
���3-
$3�� $3 )��-�� �$��������� �$����� ��� ���# ��� ���-���
 ������
��4�0�� ��;
���- � ?������ �������
���� @�
�����' �� -��30 ��M��- � $��'%�-N )�� �����30
�� ����� )���
���' ��$� ?//���3 i�IGTf 
 Kuπ;����%���� � iHCVDKBf 
 �������0
�)�����
 �����
�

\bb



 (GeV/c)tk
0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45 0.5

 (
fm

) 
o

u
t

R

1

2

3

4

5

6

7

8

9

10

 0.11 fm±= 6.38 out = 0.06 GeV/c: R
t

p

 0.08 fm± = 6.19 out=0.15 GeV/c: R
t

p

 0.08 fm±=5.45 out=0.25 GeV/c: R
t

p

 0.10 fm±=4.89 
out

=0.35 GeV/c, R
t

p

 0.13 fm±=4.40 out=0.48 GeV/c: R
t

p

 (GeV/c)tk
0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45 0.5

 (
fm

) 
si

d
e

R

1

2

3

4

5

6

7

8

9

10

 0.10 fm±=5.60 side=0.06 GeV/c: R
t

p

 0.08 fm±=5.94 side=0.15 GeV/c: R
t

p

 0.08 fm±=5.62 side=0.25 GeV/c: R
t

p

 0.10 fm±=5.04 side=0.35 GeV/c: R
t

p

 0.13 fm±=4.70 side=0.48 GeV/c: R
t

p

 (GeV/c)tk
0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45 0.5

 (
fm

) 
lo

n
g

R

1

2

3

4

5

6

7

8

9

10

 0.11 fm±=6.50 long=0.06 GeV/c: R
t

p

 0.08 fm±=5.95 long=0.15 GeV/c: R
t

p

 0.08 fm±=5.32 long=0.25 GeV/c: R
t

p

 0.10 fm±=4.78 long=0.35 GeV/c: R
t

p

 0.12 fm±=4.25 long=0.48 GeV/c: R
t

p

 (GeV/c)tk
0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45 0.5

λ

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

 0.005±=0.268 λ=0.06 GeV/c: 
t

p

 0.005±=0.319 λ=0.15 GeV/c: 
t

p
 0.007±=0.398 λ=0.25 GeV/c: 

t
p

 0.012±=0.477 λ=0.35 GeV/c: 
t

p

 0.018±=0.530 λ=0.48 GeV/c: 
t

p

���� ���� $����
�.	���/� �� 	��/ π−π− 	 �������� λ ��	 )/������ .����� ���� �
0−7% Pb+Pb .�����
��/0 ���
������	�0 ��	

√
sNN = 6.3 _(� ����-	����/0 �� g�C^>�

DEQG  
� �����
��	0 	������
�� �� kt +EI5 ��)/�	!8 ���.� ��� 6	�	�����	� �����
�.	��*
��! 6���.		 �� �)�� 	���
������! ��

�)���.	�! C^�h�

.�� F%%�������� �� /����%�����

9���� �����
 �
����
 ����
� ����	� ��� ��

����
���	� 
��
��
��
��

. )�-�4'� ���������� �������
���# �����30 ����
 �� ����
� )���-������5�� ��;
)��)�
��0����� ��������� ZGKK�K;IBD 
 �������� ����- )��$������� hOoeAY v�cw;
v\^bw $3�� �-�������
��� ����� �b5 ��$3��# ��� 5������'�30 �������
���� ����
FUzFU @5������'����' b;d|N )�� ?������

√
sNN = 6.3 
?�� ����-���3 -����� $3��

)���$���3 ����- �$����-�  ��$3 
��)����
����' ?��)���-�����'�3� ����3� ?��;
)���-���� SO	^ )� 
30���-  ����5� ���)���������- )� )�)��� ��# -���� mt �
)��
��$3������ dN/dη� ���5������ )��-����-�� �����$���5��-� oeOp � OkXYj
v�ba� �bdw ��� _L;/�����
���� �������5����30 /���5�#� $3�� )��-����� 
 �����;
�� ����30 -�������
���� ��� �)��������� �������5����30 �������
 � )���-��;
�� ���3 �������5�� λ 
 ������'��0 �����
���0 )�)��� ���� �-)��'�� )��3  �;
���5 kt @"��� a�dN� .������� ����� �%�$�� ��� �������5����30 �������
 �����
;
���� ∼ 10%� �� "��� a�c )������
���3 
��� ��3 )����5�# _L π−π− �������5���;
��# /���5�� )�����������
����# )� 
��- ��� ����- kt� � ����� ��� ���� �������

Rout, Rside, Rlong�

! �
�����  �� ���������� ∼ 1×105 ��$3��# ������� �� ��� ��-������ ���0 π−π−

�������5����30 �������
 )�� `;�� ��� ����0 kt )�� ?������ 
 �����-� 5����� -���

\b�



 [GeV/c]
out

q0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1

)
o

u
t

C
(q

1

1.005

1.01

1.015

1.02

1.025

1.03

 0.05 (fm)±=5.85 outR

 [GeV/c]
out

q0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1

)
o

u
t

C
(q

1

1.005

1.01

1.015

1.02

1.025

1.03

 0.05 (fm)±=5.72 sideR

 [GeV/c]
out

q0 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09 0.1

)
o

u
t

C
(q

1

1.005

1.01

1.015

1.02

1.025

1.03

 0.05 (fm)±=5.72 longR

 0.003±=0.308 λ

���� ���� �����.		 34 π−π− �����
�.	����! 6���.		 ���������! �� 1	�� T�a ��
Qinv, Qout, Qside, Qlong8 	���
�	������/� �� ���� kt )	����

\b\



√
sNN = 6.3 
?� �� �������� ����# �%�$��# -���� �b %� *�-���-  �� �����$���;

5�� SO	^ ��)��'��
��� ��� ������� ∼ 3.6× 105 ��$3��# @b;d% 5������'�30 FUzFU
�������
���#N )��

√
sNN = 6.3, 7.7, 8.8 
?� ��� ����  ��$3 ��-����' π−π− _L ���;

����5����3� /���5�� )�� `;�� ��� ����0 kt �� �������� ����# ���)�����������'�
)������ ∼ 10% v�b�w�

�� ��%�- �5����- )����� ?//����
����' AFL ��
�� ∼ 50%�
������� \bbbbb ��$3��# ������� �� ��� ��-������ _L ππ �������5����30 /���;

5�# � �%�$��# ∼ 10% ��� `;�� ��� ���# kt )��
√
sNN = 6.3 
?�� �������m

.
���-���' @��� )� ��
 ���� OBNm L = 1027cm−2c−1

������ �� ���� σtot @OBzOBN P a�c U
]������'����' �������
����m �b % @εPb��N
:������ ��$3��# P @σ × L× ε) = 700 
5 @��$3��#u���N
� �� ���� ������'��0  ���
 
��-���� ��$���' ∼ 2 × 105 ��$3��#s & ���������� ��;
$������ 
 �� ���� ����# ������ ������� �� ��� ������� ππ �������5�����# /���;
5�� )� ����%���� � )�������� ����5���

(���� 
3����� �������' ��$��� ����30 ����3
��� 0���%�� )���)����
3 � ���
�������
���� �����0 )��5����
� � (�$��5� ��_ )��� �����3 �������3� ��$�����;
-3� ��� /��� ����# )�����--3 )� �������5��- �� ���������� SXYO� �� ����
����
����30 )� 
30���-  ����5� )������
����3- 
 (�$��5���\� -���� ������'�  �� ���$;
0���-�� ���������� ��� �������
����� � )��-���� �������5�# ������30 $������

Ξ� Ω � π -���� $3�' ��$���� 
 �� ���� ������'��0 -���5�
�

9���� *���
��
� 
��"�,��	� ��

����
� � D0E�

!���
���  ���' ��$�����-30 )� /�-�����)�� ��-������� 
��-�;)����5�����# ��;
-���# @eE�K FGI�KMDEIT Y�V�UKG� eFYN � 
��������- ���-���
3- ����)�
3- �����;
����- @XTTKG eGVM�KG� XeN� ������/���5��  ����5 $���� ���4���
���'�� )� ��-���;
���- ������5����30 )����' 
 ���� eFY � )� 
��-�)�������# ��/��-�5�� 
 egh
����������

�� "��� a�^ )������
���3 �-�������
���3� � ������������
���3� �������5���;
�3� /���5�� ��� 
�����
��� ���)��������� ��������� 
 �����-� ��������� )��3
 ����5 )�� ��� ����0 �������
 ∼ \ /- ��� ππ� �-)��'���� �����%���� )��������'
��
�3- Δp/p = 1%�

2��'%�� )��$��-� ��� �������5������ �������  ����5 � -��3-� ���������'�3;
-� �-)��'��-� )������
���� ?//���3 ����������5�� 0���
 @�0��� ; �� �� ��-���;
��� �� �����N� ����3
3 @�JHCEDDET��N � )�����3��� @��KG�ET��N �����
� � ?��- ��� ��
��� ����� ���� �����-��� ����# )����%����� ���$0���-� �����'��� -�������
�;
���} �������� ����� ���)������������ 
 $��'%����
� ��� ��
 @ππ� �����N � ��' -�;
�3� ��� )��  ����5 ������� ����� � $�����-� ��� ����-� ��������-� �����������
0���%�� )���������
����� ���������� 
 -�������- )��� � �����-��� ����� )����%;
����� �
�����3� � ���������- �����
 -��3�

Q//��� ����3
� �����
 @������
����N �
��� �
��� ?//��� �������5�# ��� -�;
�30 ��� ���# ���������'���� �-)��'�� )��3  ����5 q� ��� ?��- �� ������ �����
�$�������� )��� �����
 � $����-� ��� ����-� �-)��'��� ��� ����  ��$3 �-��'%��'
?//��� �� �JHCEDDET�� �����
 
 �����$���5�� oeOp� � )��-���� ���
��
��� )��������
0���
 ��� ������� ����� 
 )���  ����5 
���' ����� )���
 
 eFY � ��� ��3
���
��� �����# )��3 �����
 
��� ��� ���
�� ����3
� @�JHCEDDET� CKyKC�� okN ������4�-

\b_



���� ���� π−π− �����
�.	���/� 6���.		 	� �� �
	�����	� +�9sgM�XEOel, 	 ���������*
	������/� +�9s <̂9XEOe,  
� _�������
� ������ �
��	� ���� 	��� � �	����� ���� 	���
���/ -���	. +r0b H 6�,�

�$����-m v�ba� �bdwm

SL =

∑
Si

Nhits1 +Nhits2
@a�`N

��� Si = +1 ���� ���'�� ���� ���� �-��� 0�� 
 ����� )���
� Si = −1 ���� �
� �����
�-��� 0��3� Si = 0 ��� 0���
 
 ����� )���
 � �����# )��3 �����
�

��� �����# )��3  ����5 
��� ��� ok ������ $3�' �� $���� ���������� ��� �;
��� �)����������� )� �����'����- �������
����  �
��
����'����� �������5�����#
/���5�� � ��� ���� ok�

����� ���� ��� @����3�N )��3 �����
 $3�� ������3� �������
���� ?//��� 
��;
���� ��KG�ET�� �����
� )�� ������- ����'�3� )��3 �����
 � $�����-� �-)��'��-�
������������
����' ��� ���� ����� Q�� )��
���� � )���
����� �������5�# )��
-��30 ���������'�30 �-)��'��0� ��� ����� ���� ?//���� ��������� �����
 ���;
$�
����'  ��$3 
�� )��3 �����
 
0���4�� 
  �������' � ���-������' )�� ��� ���
�������5�����# /���5�� �-��� ���� �$4�0 0���
 �� $���� �b%�

��� ��
������ 
 ��������� oeOp ��� Xe �������� � �� 
��-� ��� 
 �����
� AFL
)���������� ��)��'��
��' \;0 ��������# ����)�
3# ���-���
3# Xe � ���-���- ����;
)� �bb �-� )�� ?��- \;0 �����
�� �����%���� �����
�� ≈ \bb �-� � 
��� ��� ?//����
����3
� @��� �$t��������N �����
 ��������� �� )������ -��'%��

� �����$���5�� OkXYj )��-����� ������� �3# ��$�� ��������
 ��$��� �����

��� ����� ���� 
������ ?//���� \;0 �����
��� �����%����v\^�w� � ��$�
����� �
����-� ��$��� ��������
� ��� )���
����� ?//���� ��KG�ET�� �����
 )��-�������
��)�������'��� ����
�� )� )���������
����-� ���������� �����
 �� 
0��� 
 eFY�

+���%�� ������/���5��  ����5 ���$���� 
���� ��� /�-�����)�� �����
�

\b	



.�" 2����� �� 0����
���������: ����������:

9�$�� .�
���,�	� #����	

�30�� ���-��'�30 /�����
 -�� ���������'�� 
30��� �������
�30 /�����
 �� π0 �
η ���)���
� ������ �0 �)������'�3� 0������������� 
 �������
���� �����30 ����

)�� �����0 ?������0 ����� �3 
������
�� $���� i-������f π0 �)������ ��� ?������0
SXYO /����3 
 �����
��� )�)��� �30 �-)��'��
 � 
?�uM < pT < _ 
?�uM �-���
-��'%�# ���
��' /��� @"��� a��bN � �����'��� �������
���� ����'�30 /�����
 )��
pT > � 
?�uM �
������ 0��� � ������# ?��)���-�����'��� �� 
3)����-�# ���� �#�

���� ����� pT ������ �
��	� 6������8 ��
	���	����/0 (
�������
�	��/� ��
��	���*
��� >@4 � Au + Au ���
������	�0 ��	

√
sNN b F _(� +;<=>4,� �����/ ���������*

	����/� �� ���-��	�� 	����	�����! ����/ � ��!��� ����/ π0*������ �������/ -���/�
.�����8 ����
���� -���� 6������ �������� �����/� .������

"����'���3 -�������
���� )����3
����  �� � ������ � ���-���
�� @�� ����N pT ;
�)�����
 ��� ����'�30 /�����
 )�� ?������0 SXYO -���� $3�' ��-����3 � 
3����#
�� ����'� 
)���' �� � ��' �����0 ��� ���# �������
����� @"��� a���N� ����-���3
�)�����
 /�����
 )���� 
3 ������ 
����� �� ���)���
 π0 � � ��� ?//����
�����
��$��� )������3 � �%�$��-�� 
��� ��4�-� 
 ��$� �������� ����� �%�$�� � ���)��;
���������' ������5�� �� ?//����
����'�

Q��� ���� �
������ �$������'�3- )���
��������- ����  �� ����3# �����
�� )�
)�)��� ��-� �-)��'�� ��� /�����
 �
������ �� ���'�� ���#�� )��
�������'�3- �
������� ����# �� �� ������ @"��� ���^N� �� � -���� $3�' )����$�� ��� �� ?��)���;
-�����'�� )�� ?������0 SXYO � )�-�4'� ��������� AFL�

\b`



���� ����� &���
�	��
��/� 6����/ � ��
	-�/� �� ;<=>4 ������ �
��	�� 	�����	�*
����	 �� pt )/
	  �)��
��/ � ������ �
��	" 	� 
��������� ��)/�	!  
� Au + Au ���
�*
�����	� ��	

√
sNN b F _(�,� t��
�� 	 	�����	������ �������� �������/ ��
�5�/�	


	�	��	�

9�$�� *���
��
� �����
� 
���

����	� ���� Je+e−K���
 � ���
�����
� D0E

��-������ ����)����30 )�� �
������ �����'�3- -�����- �������
���� 0��������;
���� /�#��$���� ��� ��� ?�������3 �� ��)3�3
��� ���'���� 
���-���#��
�� 
 ���;
��� (����� )�������3
��� ��-������ �
�#��
 
������30 -�����
 
 )�����# ������#
-������� � ��������� ��-������ -��� �u��� %���� ���)���� )�?��-� �������
����
0�������� ��-������ /��-3 ���)��������� ��
�������30 -��� ��� ����)����
 

5������'�30 &z& �������
����0 @)� ���
����� � ?��-������3-� �������
����;
-�N 
3�3
��� � ��' $��'%�# �������� � /��� ����� )�����--� SXYOuAFL 
0�;
��� �����'��� �������
���� �)����� ��
�������30 -��� e+e−;)�� 
 �$����� -���
Me+e− < 1 
?�uc2N )�� ?������0 �������
����

√
sNN = 4 − 11 
?�� !������ 
 ����;


��0 
3����# -������
�������  ����5 ��
�� ���� ����)������� ������� �
������
 ���
3 �#�� ������# ���� �#� (�� ��� )�� ?������0 SXYO 
30�� )����
 
���� )�
���
����� � �����-�  ����5�-�� �� 0������������� �����-3 ������/���5��  �;
���5 )� )���
����� )����
 �
������ ����# �� ����
�30� ���-� ����� ���������
��� ����'�3# /�� �� _;0  ���� �30 ���)���
 �����5� π− � η;-�����
 � �� ��--�;
���
����� 
 
�4���
� ���������� .����
����'��� ���$0���-� �)��-���5�� ���� �;
��
� 
�4���
� 
 ����
��- �$t�-� ��������� � �������-�
 ����������5�� )� )�����

���� �30 
��%���

\ba



P, GeV/c
0 0.5 1 1.5 2 2.5 3

d
E

 / 
d

X
, k

eV
/c

m

1

1.5

2

2.5

3

3.5

dE / dX vs P

+π
-e

P, GeV/c
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

β

0.4

0.5

0.6

0.7

0.8

0.9

1

1.1

 vs Pβ

π

e

���� ����� +&����, ���	��.	���/� �����	 dE/dx � 
��� ^@� � ���	�	����	 �� ��
��
�
	���
���  
� �	���� 	 (
��������� +������, ����
����� ���	�	����� ��
	-	�/ β +β = v

c ,
 
� e MNO π

�

� �����
 �����- ��������� AFL �� 
0���� ?��-��� ��� ?�������
��# ������;
/���5�� ?��������
 @��)� pXYrN� �3������� ?��������
 )���������� � )�-�4'�
��-$�����
����# ��/��-�5�� � 
��-��� )������ @eghN � ������5����30 )�����0
dE/dx 
 eFY ��)�������# �������- � ?������-��������� ������-���� jYOk�

+����/ ��� 4�������� �����
����' ������������#� ��� -�������
����
��)��'��
����' \b·106 5������'�30 ��$3��# OBzOB @ 5������'����' ; `|N )�� ?���;
���

√
sNN = 7 
?� �� -����� FCBDI v\^\w� Q��� ��������� �-��� �����/�#� ���

������� 
30���
 � )���-����
 ���)���
 )� ?������-�������-� ������ -������
�

������30 -�����
� ��$�� 
��0 -�����30 ������
 @���� �MIM�DVEC�N �� π, η, η′, ρ, ω � φ
�KJITJN �������� �� ?��)���-�����'�30 ����30 )� 
30���- -�����
 ��� @���� ����0
����30 ���N ��)��'������ )���-������5�� �� ����
� ���-��'��# -����� ��� -�����
������ "��)��3  ����5 ����������� )� ������- ����-����� � �������� ��
����3-
������- ���)���� � ����' ����-����
����' ���'�� )��-3� ���)��3 �� )��3 e+e−

��- ���)��3 �����5� @� )��-���� π0 → γe+e− ��� ω → π0e+e−N � :��$3 ����-����;

��' ����)���3 
 �������� �30 ����
��0 �����30 �������
���#� ��)����3� )��3
�� ���������� FCBDI �-�%�
����' � �bbbb OBzOB ��$3��# �� ���������� {GxAL�
��$��  ����5 ����- )��0���� )���3# 5��� ����������5�� @
��� �� ?��) )��0��;
�����  ����5  ���� 
�4���
� ��������� � ������5�� /���5��;�������N 
 ��-��0
)����� AHWpIID�

���
���� �
���� 
��	�(� (���� ��������30  ����5 ���������
����' 
 �����;

��� �-)��'��
 0 < p < 2.5 
?�uc ��� ���)����� )��
��$3����� |η| < 1.2� ����3#
�������� ������ $3� �-��' �� -���� \b �� �� 
 �$t�-� eFY� ���-� ?����� ����;
�����' ����
��  �� ������5�� -����-��'���� )��$������� @LYON ����� � 
��%���
��$3��� 
 )�)��� ��# )��������@x, yN ������ $3�' -��'%� _σx,y� ��� σx,y ?�� ����;
������� ���������� x, y;���)��������# ��� LYO�

$���
�8�	���� H��	
����(� ������/���5�� ?��������
 ���4���
�����' � ��;
)��'��
����- ��/��-�5�� �$ ������5����30 )�����0 dE/dx � � 
��-��� )�������

\bd



P, GeV/c
0 0.2 0.4 0.6 0.8 1 1.2 1.4

E
ff

ic
ie

n
cy

0

0.2

0.4

0.6

0.8

1

1.2

1.4

Electron efficiency vs P 

P, GeV/c
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

R
ej

ec
ti

o
n

-510

-410

-310

-210

Pion suppression vs P 

���� ����� +�����, �66���	������ 	 ���	6	��.		 (
�������� �� dE/dx 	 ^dg � ���	*
�	����	 �� ��
��
� 	���
��� p� +������, ������ �� ��
��	� �	���� � ���	�	����	 ��
p ��	 	 ���	6	��.		 (
�������� +��� �����,

"��)��������� )����' 
 ���� eFY ��� ?��������
 � )����
 )������
���� �� "��� a��\
@��
�� )����'N� ��� p > 0.3 
?�uc dE/dx ��� ?��������
 ��0������ 
 �$����� ���3;
4���� dE/dx ≈ 2 @)���� 8��-�N� ���  �� ��� 
3������� ?��������
 ��)��'��
����'
����
�� dE/dx > 1.7� ��� �����%���� AFL eFY )� dE/dx )������ c|N ����� ����;

�� �$��)� �
��� $����  �- _σ e/π �����������

��� -��30 �-)��'��
 @p < 0.3 
?�ucN ��� ������/���5�� ��)��'��
����' 
��;
-� )������� ����-���3 AFL egh �����-3 @�����%���� )������ σTOF ≈ 100 )�N
)��
����� �
������� e/π;���������� )�� p < 0.3 
?�uc @"��� a��\� )��
�� )����'N�
�� "�� a��_ @��
�� )����'N )������
���� ?//����
����' ������/���5�� ?��������


 ��
���-���� �� )������ �-)��'�� p� ������� ?//����
����� ��� -��30 �-)��';
��
 �$t�������� $��'%�# ����# ���� �)����'�30 �����
� �-��4�0 ������ -����  �-
���-��3 egh� ! �
�����  �� ?//����
����' 
�������� )�� �-��'%���� -���������
)���� � �)��-��'���� ��� ���� 
��� ��3 )��� -���� $3�' )��� ��� )���� �����';
���� -�������
�����

�-)��'���� ��
���-���' /������ )���
����� )����
 @����%����  ���� )����

������/�5���
���30 ��� ?�������3 )� ����%���� � )����-�  ���� )����
 
 ���;
��- $���N )������
���� �� "��� a��_ @)��
�� )����'N� ��?//�5���� )���
����� ��;
������� 10−4 )�� p < 1 
?�uc� ���-� ���� ��������� ��)�������'��� 
��-������'
��� )������� )���
����� � ��)��'��
����- ��/��-�5�� � jYOk�

���	
�� .��� �����
���( Me+e−� ��
�������3# �)���� -��� e+e− )�� )��� ��
��� 
��0 �����
 ������/�5���
���30 ��� ?�������3� � �����- ��$3��� �)������;
���� 
�� 
��-���3� ��-$���5�� ��� )�� ����30 �����
 ������ � ��� �����# )��3
���� ��3
����� 
��� ��� Me+e−m

Me+e− =
√

2 · pe+ · pe− · (1 − cos θe+e−),

��� pe )���3# �-)��'�� � θe+e− ���' ���� -���� �����-� 
 )���� :��$3 ������'
���
�������3� )��3 �� ��--�; ����5 )��-������' �
� ��)�������'�30 ��������
��$���m ����
�� �� -����-��'��� ��� ���� ������� 
�������
�����# 
��%��3 )�;
�3 @RV 0 < 4 �-N � ������ ���� �� -���-��'��� ��� ���� ���� ψ -���� 
������-
)��)����������3- � )�������� �-)��'��
 )��3 � ��)��
�����- -��������� )���

\bc



2, GeV/ceeM
0 0.2 0.4 0.6 0.8 1 1.2 1.4

2
E

n
tr

ie
s 

/ 2
0 

M
eV

/c

310

410

510

610

Reconstructed ee invariant mass

Unlike-signed

Like-signed

2, GeV/ceeM
0 0.2 0.4 0.6 0.8 1 1.2 1.4

ev
t

 / 
N

2
E

n
tr

ie
s 

/ 2
0 

M
eV

/c

-710

-610

-510

-410

-310

-210

-110

 invariant mass-e+e

MC data
eeγ → 0π

eeγ → η
 ee→ ρ
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План-график работ по созданию MPD 
 
 

 
 
  

Этап/Год 1 2 3 4 5 Полная 
 Распределение средств (по годам)  1080 12500 15500 9300 2560 40940 
1 Экспериментальный корпус                       

П
ус
ко
во
й 
м
ин
им

ум
 

 
 Сооружение корпуса для NICA                       
 Создание инфраструктуры                       
 Крановое оборудование                       
2 Сверхпроводящий магнит                        
 Документация и выбор фирмы                        
 Тендер на ярмо и SC обмотки                       
 Подписание контрактов                       
 Производство магнита                        
 Транспортировка                       
 Криогеника для соленоида                       
 Сборка и запуск магнита                       
 Измерение поля                       
3 TPC                       
 Помещение для сборки TPC                        
 Изготовление TPC                        
 Тесты TPC                        
 Установка и запуск TPC                       
4 TOF                        
 Зона для сборки TOF                        
 Зона для испытания TOF mRPC                        
 Производство и тесты TOF                       
 Сборка и запуск TOF                       
5 ЕCal                       
 Производство и сборка модулей                       
 Установка и запуск ECal                       
6 Призводство и запуск ZDC                        
7 Электроника, сети, компьютеры                       
 Разработка систем DAQ                       
 Оборудывание Control Room                        
 Создание системы Slow Control                       
 PC-кластер для сбора данных                       
8 Сборка детектора                       
9 Запуск и тесты на космике                       
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v�w O� S� oEJJV�EVT� O� o� oIGET� A� �� oBCKE�VTIy� �� L� eITKKy� VTW n� A� lETIy�Ky�
FGIMKKWET�J IZ D�K cD� XTDKGTVDEITVC �IG�J�IH �pKCVDEyEJDEM SBMCKVG F�[JEMJm hGI�
rBTWGKWJ AK� DI eK��� LBUTV \bb`� pBJJEV� _ba @\bbaN� TBMC;D�ub`��b�c�

v\w O� S� oEJJV�EVT� O� o� oIGET� A� �� oBCKE�VTIy� �� L� eITKKy� VTW n� A� lETIy�Ky�
6%1%7"&8%9 :+8%3+'%3- ;< -4+3. @�XSp� \bbaN� HH� d_ � ^`� TBMC;K�ubab�b_	�

v_w O� S� oEJJV�EVT� O� o� oIGET� A� �� oBCKE�VTIy� �� L� eITKKy� VTW n� A� lETIy�Ky�
FVGD� SBMC� kKDD� K� � @\bbcN� TBMC;K�ub`��b�c�

v	w O� S� oEJJV�EVT� O� o� oIGET� VTW �� L� eITKKy� FGIMKKWET�J IZ D�K __GW XTDKGTVDEITVC
rE�� jTKG�[ F�[JEMJ MITZKGKTMK� XYrjF�ba� AIJMI�� pBJJEV G� 	\� @\bbaN� TBMC;
D�ubabcb_\�

v`w O� oEJJV�EVT 4' +7=� >4."1, +,? �%,.'3&*'"%, %2 �&*7%'3%,�8+.4? �%, �%77"?43 2�*"7"'-
����� @ �%,*4!'&+7 ?4."1, 34!%3' @�XSp� LBUTV� \bbcN�

vaw S� qI�ICBUIy� q� oDGB�ETJ�[� VTW O� eVy��KCEW�K� �XSp L;�^ac� LBUTV @�^a`N�

vdw O� eVy��KCEW�K� rE�� jTKG�[ F�[JEMJ VTW jCK�KTDVG[ FVGDEMCKJ� �EKTTV � d`_ @�^a`N�

vcw A� O� oDKH�VTIy� FIo [S@JPPF� b\	 @\bbaN� �KH;CVDubdb�bb\�

v^w l� hIWIG VTW o� L� �VD�� �rjF PN� b`b @\bb	N� �KH;CVDub	b\bba�

v�bw F� oKT�KG� �� F�[J� ]MP� o�bcd @\bb	N�

v��w n� o� h� oDKH�VTJ� �� F�[J� ]MJ� o		d @\bbaN� TBMC;K�ubabdb_b�

v�\w SO	^� q� kBT��ED� 4' +7=� FIo A�^�PO� b\_ @\bbdN� bdb^��a	a�

v�_w O� oEJJV�EVT 4' +7=� A04 B&7'"C&3!%.4 >4'4*'%3 �BC> '% .'&?- D4+9- �%, �%77"."%,.
+' ����= :4''43 %2 �,'4,' @�XSp� LBUTV� \bbcN�

v�	w O� o� ��yIGIJDB�ET� �� �� o�I�Iy� �� L� eITKKy� VTW �� pKWCEM�� jBG� F�[J� ��
ANL� `_� @\bbaN� TBMC;D�ubab`ba^�

v�`w �� O� AVDyKKy� p� A� ABGVWEVT� VTW O� S� eVy��KCEW�K� SBIyI YE�� kKDD� O� d�^
@�^d_N�

v�aw A� oDGE��VT� @\bbdN� bd����a\`�

v�dw A� qCKEM�KG 4' +7=� �� F�[J� ]JK� �c`^ @�^^^N� �KH;H�u^^b^	bd�
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v�cw S� o� O�KCET 4' +7=� F�[J� pKy� AON� ba	^b� @\bbaN� TBMC;D�ubabcb`d�

v�^w �� k� �CV[ 4' +7=� �� F�[J� pK�� A FL� b`	^b` @\bb_N�

v\bw SO	^� Y� OCD 4' +7=� F�[J� pKy� AOO� b\	^b_ @\bbcN� bd�b�b��c�

v\�w j� k� qGVD�IyJ�V[V 4' +7=� F�[J� pKy� AFI� b`	^bd @\bb	N� TBMC;D�ub	b\b\a�

v\\w A� oDKH�VTIy� �� pV�V�IHVC� VTW j� �� o�BG[V�� F�[J� pKy� �FP� ��	b\c @�^^^N�

v\_w �� �VHBJDV VTW O� AK��VT� F�[J� pKy� �MM� �_b	 @�^caN�

v\	w A� nV�W�EM�E� A� nIGKTJDKET� VTW o� AGI�M�[TJ�E� F�[J� kKDD� YKLK� ��` @\bb	N�

v\`w A� O� oDKH�VTIy� FGI�� e�KIG� F�[J� oBHHC� GKM� �_^ @\bb	N� �KH;H�ub	b\��`�

v\aw Y� OCD 4' +7=� @\bbcN� TBMC;K�ubcbc��\_dy\�

v\dw A� oDKH�VTIy� SBMC� F�[J� SFIL� `\_M @\bb\N�

v\cw SO	^� Y� OCD 4' +7=� F�[J� pKy� A OL� b_	^�	 @\bbcN�

v\^w SO	^� �� nGKUEKJ��I�� @\bbcN� TBMC;K�ubdbd	abcy\�

v_bw L� j� ��VG�KKy� k� L� AMkKGGVT� VTW r� �� �VGGET�V� SBMC� F�[J� S LPM� \\d
@\bbcN� VG�Eymbd���b^`b�

v_�w �� hB�BJ�E�V� L� j� ��VG�KKy� VTW r� �� �VGGET�V� F�[J� pKy� � OL� bd	b__
@\bbcN� VG�Eymb^ba�\cbc�

v_\w L� ��VG�KKy� p� FEJVGJ�E� VTW A� e[D�VD� F�[J� pKy� kKDD� LG� `�\ @�^^cN�

v__w L� ��VG�KKy� F�[J� kKDD� Y FMM� \ab @\bbaN� VG�Eymb	ba�\`�

v_	w o� �ICIJ�ET� F�[J� pKy� AOP� b`d^b� @\bb	N�

v_`w oeOp� o� �ICIJ�ET� VG�Eymbcba�bb\^�

v_aw L� ��VG�KKy VTW p� FEJVGJ�E� F�[J� pKy� �FG� ���^b� @\bbbN�

v_dw h� �VGJM� VTW j� kVKG�VTT� E&+3F�G7&%, C7+5/+ H � p� r�V@KWN�

v_cw j^�d YICCVUIGVDEIT� q� qVM� 4' +7=� F�[J� pKy� kKDD� LF� �^db @\bb�N�

v_^w SO	^ YICCVUIGVDEIT� Y� qCB�K 4' +7=� �� F�[J� ]MN� o^`� @\bbdN�

v	bw r� oIG�K� r� oDIM�KG� VTW �� nGKETKG� GIJ� \aa @�^c^N�

v	�w �� pVZKCJ�E VTW q� ABCCKG� F�[J� pKy� kKDD� NL� �baa @�^c\N�

v	\w A� nV�W�EM�E VTW A� nIGKTJDKET� OMDV F�[J� FICIT� YMP� \db` @�^^^N�

v	_w A� nIGKTJDKET 4' +7=� F�[J� kKDD� YKFO� �d` @\bb_N�

v		w SO	^ YICCVUIGVDEIT� Y� OCD 4' +7=� F�[J� pKy� AOO @\bbcN� ba	^bc�

\�	



v	`w O� OTWGITEM 4' +7=� F�[J� kKDD� q FOM� �	\ @\bb^N�

v	aw p� rV�KWIGT� �^c`� YjpS;er;	�bbuc`�

v	dw ��;�� gCCEDGVBCD� F�[J�pKy� �NF� \\^ @�^^\N�

v	cw r� oIG�K� F�[J� pKy� kKDD� LJ� \b	c @�^^^N�

v	^w F� �ICU� �� oICZGVT�� VTW r� {�� F�[J�pKy� AFJ� b`	^b^ @\bbbN�

v`bw �� lV�M� eVC� �EyKT VD \�JD XTDKGTVDEITVC YITZKGKTMK IT {CDGV;pKCVDEyEJDEM SBMCKBJ;
SBMCKBJ YICCEJEITJ ixBVG� AVDDKG \bb^f @AVGM� _b ; OHGEC 	� �TI�yECCK� {oON�
@\bb^N�

v`�w o� �ICIJ�ET� ��F�[J�YITZ�oKG� I� \da @\bb`N�

v`\w r� oDIKM�KG� SBMC�F�[J� SOKP� �\� @\bb`N�

v`_w j� o�BG[V�� @\bb`N� �KH;H�ub`b	b	c�

v`	w o� �ICIJ�ET VTW �� l�VT�� l�F�[J� AOP� aa` @�^^aN�

v``w O� A� FIJ�VT�KG VTW o� O� �ICIJ�ET� F�[J�pKy� AKL� �ad� @�^^cN�

v`aw o� �VT� 4' +7=� F�[J�pKy� ANN� �b^� @�^^�N�

v`dw S� qIG��ETE� F� A� LET�� VTW ��;�� gCCEDGVBCD� F�[J� pKy� AFN� b`	^b� @\bb�N�

v`cw O� qECVTW�EM� S� yVT WKG �IC�� ��;�� gCCEDGVBCD� VTW p� oTKCCET�J� @\bbcN� bcb��_^�`�

v`^w p� q�VCKGVI� S� qIG��ETE� VTW ��;�� gCCEDGVBCD� SBMC�F�[J� SOJO� _d_ @\bb_N�

vabw X� kI��DET 4' +7=� YI�HBD�F�[J�YI��BT� GLP� dd^ @\bb^N�

va�w A� X� FIW�IGKDJ�[� hE�� jCK�� Y�VJD� ODI�� �VWGV JP� a\c @�^c^N�

va\w A� X� FIW�IGKDJ�[� oIy� �� FVGD� SBMC� JP� \aa @�^c^N�

va_w q� kIGJDVW� XTD� �� AIW� F�[J� SN� \ca� @�^c^N�

va	w L� r� qIVC� Y� �� nKCU�K� VTW q� �� �KTTET�J� pKy� AIW� F�[J� FJ� ``_ @�^^bN�

va`w {� O� �EKWK�VTT VTW {� �� rKET�� F�[J� pKHD� MGI� �	` @�^^^N� TBMC;D�u^^b�b^	�

vaaw e� YJIG�I� rKVy[ XIT F�[J� GK� � @\bb\N�

vadw k� p�� F�[J� IZ ODI�EM SBMCKE FO� d� @\bb	N�

vacw A� O� kEJV� o� FGVDD� p� oICD�� VTW {� �EKWK�VTT� OTT� pKy� SBMC� FVGD� oME� KK�
_`d @\bb`N� TBMC;K�ub`b`b�	�

va^w p� kKWTEM�[� qGV�� �� F�[J� MO� ^_^ @\bbdN� TBMC;D�ubdb\ba_�

vdbw p� kKWTEM�[� �� k� k[BUIJ�EDJ� q� jGV��BJ� VTW L� SIBVEJ� SBMC� F�[J� SKLM� _^`
@�^^`N�
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vd�w k� AVGDET 4' +7=� SBMC� F�[J� SFPN� a^ @�^^aN�

vd\w p� kKWTEM�[� SB�CKITE�V NM� _	` @�^^cN�

vd_w p� kKWTEM�[ VTW �� k� k[BUIJ�ED�� oIy� �� SBMC� F�[J� MK� ddb @�^c\N�

vd	w p� kKWTEM�[ VTW �� k� k[BUIJ�EDJ� XT �SVTDKJ �^^b� FGIMKKWET�J� FVGDEMCK
MIGGKCVDEITJ VTW ETDKGZKGI�KDG[ ET TBMCKVG MICCEJEITJ� 	\;`	�

vd`w p� kKWTEM�[� @\bb`N� TBMC;D�ub`b�ba`�

vdaw p� kKWTEM�[� �� F�[J� nm SBMC� FVGD� F�[J MK� �\`�b^ @\bbcN�

vddw �� oET[B�Iy� p� kKWTEM�[� o� �� O��KCET� �� FCBDV� VTW q� jGV��BJ� F�[J� kKDD�
YNMJ� \	c @�^^cN�

vdcw A� X� FIW�IGKDJ�[� oIy� �� SBMC� F�[J� MO� \d\ @�^c_N�

vd^w p� kKWTEM�[� �XSp;q\;_;��	ab� LBUTV @�^dcN�

vcbw F� nGVJJUKG�KG� SBMC� F�[J� YGJP� \_� @�^ddN�

vc�w n� h� qKGDJM�� F� LVTEKCK�EM�� VTW A� rKGG�VTT� F�[J� pKy� ANI� 		\ @�^^	N�

vc\w o� FGVDD� XT �r�V� p�Y� @KW�Nm xBVG�;�CBIT HCVJ�V� yIC�\� dbb;d	c�

vc_w o� Y�VH�VT� F� oMIDDI� VTW {� rKET�� F�[J� pKy� kKDD� ON� 		bb @�^^`N�

vc	w e� YJIG�I VTW o� FGVDD� FGKHVGKW ZIG XTDKGTVDEITVC �IG�J�IH IT pKCVDEyEJDEM rKVy[
XIT YICCEJEITJ VD FGKJKTD VTW hBDBGK OMMKCKGVDIGJ� qBWVHKJD� rBT�VG[� �d;\� �BT
�^^��

vc`w q� jGV��BJ� p� kKWTEM�[� k� AVGDET� L� SIBVEJ� VTW �� FCBDV� XTyEDKW DVC� VD _	D�
XTDKGTVDEITVC �ETDKG AKKDET� IT SBMCKVG F�[JEMJ� qIG�EI� XDVC[� \\;\d �VT �^^a�

vcaw q� jGV��BJ 4' +7=� o{qOejYr;^c;b_� SVTDKJ @�^^cN�

vcdw F� LVTEKCK�EM� VTW o� FGVDD� F�[J� pKy� AOK� b_	^bd @\bbdN�

vccw o� FGVDD� qGV�� �� F�[J� MO� cd� @\bbdN�

vc^w oeOp� �� OWV�J 4' +7=� F�[J� pKy� kKDD� IG� \a\_b\ @\bb_N� TBMC;K�ub_bdb\`�

v^bw A� n�EDGI� �� �yVJEC� p� kKWTEM�[� VTW �� k� k[BUIJ�EDJ� Y�KM�� �� F�[J� YMF�
�\c� @�^caN�

v^�w oeOp� �� OWV�J 4' +7=� F�[J� pKy� AON� ba	^ba @\bbaN�

v^\w qpOrAo� X� OGJKTK 4' +7=� SBMC� F�[J� SOKO� � @\bb`N� TBMC;K�ub	�bb\b�

v^_w q� q� qVM� 4' +7=� SBMC� F�[J� SOKO� \c @\bb`N� TBMC;K�ub	�bb\\�

v^	w oeOp� �� OWV�J 4' +7=� SBMC� F�[J� SOKO� �b\ @\bb`N� TBMC;K�ub`b�bb^�

v^`w FrjSX�� �� OWMI� 4' +7=� SBMC� F�[J� SOKO� �c	 @\bb`N� TBMC;K�ub	�bbb_�

\�a



v^aw �� A� oET[B�Iy� o� �� O��KCET� VTW �� rV�V� F�[J� pKy� kKDD� LI� b`\_b� @\bb\N�
TBMC;D�ub\b�b�`�

v^dw L� r� pEJM��K VTW A� n[BCVJJ[� SBMC� F�[J� SFPL� 	d^ @�^^aN� TBMC;D�u^abab_^�

v^cw �O^d� h� OTDETIGE 4' +7=� �� F�[J� ]JO� \_\` @\bb�N� �KH;K�ub�bcb	^�

v^^w jc^`� A� O� kEJV 4' +7=� F�[J� pKy� kKDD� LN� \d^c @\bbbN�

v�bbw jcb\� k� O�CK 4' +7=� F�[J� pKy� AFF� b`	^ba @\bb\N� TBMC;K�ub\b	bb��

v�b�w SO	^� o� �TEK�K 4' +7=� �� F�[J� ]MP� o�bd_ @\bb	N� TBMC;K�ub	b_b_	�

v�b\w Yjpjo� L� OWV�IyV 4' +7=� SBMC� F�[J� SOGN� �\	 @\bb_N� TBMC;K�ub\bdbb`�

v�b_w FrjSX�� o� o� OWCKG 4' +7=� F�[J� pKy� kKDD� IM� �`\_b\ @\bb	N� TBMC;K�ub	b�bb_�

v�b	w FrjSX�� �� OWMI� 4' +7=� F�[J� pKy� kKDD� LL� �^\_b\ @\bb\N� TBMC;K�ub\b�bbc�

v�b`w Frgqgo� q� q� qVM� 4' +7=� F�[J� pKy� AOM� b_�^b� @\bbaN�

v�baw oeOp� Y� OWCKG 4' +7=� F�[J� pKy� kKDD� LO� bc\_b� @\bb�N�

v�bdw oeOp� �� OWV�J 4' +7=� F�[J� pKy� AOG� b		^ba @\bb`N�

v�bcw �� hCIG�I�J�E� �� qGITEI�J�E� A� Y�I�TVM�E� VTW O� �EJEKC� @\bbcN� bc���_da��

v�b^w o� FGVDD� @\bbcN� bc���__a_�

v��bw �� A� oET[B�Iy� o� �� O��KCET� X� O� �VGHKT�I� VTW �� rV�V� OMDV F�[J� FICIT�
YNP� �b\` @\bb^N� b^b���`da�

v���w �� qKG�KJ VTW �� pV�V�IHVC� SBMC� F�[J� YKML� \�` @�^^^N�

v��\w O� A� rVCVJ�� O� L� �VM�JIT� p� j� o�GIM�� A� O� oDKH�VTIy� VTW �� �� A�
�KGUVVGJM�ID� F�[J� pKy� �KL� b^abbd @�^^cN� �KH;H�u^cb	\^b�

v��_w g� oMVyKTEBJ� O� AIMJ[� X� S� AEJ�BJDET� VTW L� r� pEJM��K� F�[J� pKy�AFN� b	`\b\
@\bb�N�

v��	w A� O� oDKH�VTIy� XTD� �� AIW� F�[J� SJP� 	_cd @\bb`N�

v��`w L� O� qGI�T VTW F� LVTEKCK�EM�� F�[J� pKy� AKO� \	d	 @�^^cN� TBMC;D�u^d�\baa�

v��aw oeOp� l� Y�V�KM�E� e� L� nBDEKGGK�� A� O� kEJV� VTW A� kIHK�;SIGEK�V� @\bb`N�
TBMC;K�ub`b`bb^�

v��dw SO	^� A� nV�W�EM�E 4' +7=� �� F�[J� ]MP� odb� @\bb	N� TBMC;K�ub	b_b\_�

v��cw e�K SO	^� Y� OCD 4' +7=� �� F�[J� ]MP� o��^ @\bb	N� TBMC;K�ub_b`b�d�

v��^w e�K SO	^� o� �� OZVTVJEKy 4' +7=� F�[J� pKy� AFF� b`	^b\ @\bb\N� TBMC;K�ub\b`bb\�

v�\bw SO	^� A� �� AEDGIyJ�E 4' +7=� �� F�[J� ]MJ� o	_ @\bbaN� TBMC;K�ubababb	�

v�\�w SO	^� e� OTDEMEM 4' +7=� F�[J� pKy� AFI� b\	^b\ @\bb	N�

\�d



v�\\w o� �� OZVTVJEKy 4' +7=� SBMC� F�[J� SOGK� �a� @\bb_N� TBMC;K�ub\bcb�	�

v�\_w SO	^� O� pEM�VGW� �� F�[J� ]MG� o�`` @\bb`N�

v�\	w SO	^� e� OTDEMEM 4' +7=� F�[J� pKy� kKDD� IM� b\\_b\ @\bb	N� TBMC;K�ub_��b\	�

v�\`w SO	^� Y� qCB�K� �� F�[J� ]MG� oac` @\bb`N� TBMC;K�ub	��b_^�

v�\aw SO	^� Y� AKBGKG� �� F�[J� ]MP� o�_\` @\bb	N� TBMC;K�ub	bab�a�

v�\dw SO	^� A� AEDGIyJ�E� OMDV F�[J� rBT�� SJN� �`d @\bb`N� TBMC;K�ub	bab���

v�\cw SO	^� Y� OCD 4' +7=� F�[J� pKy� kKDD� IN� �^\_b� @\bb`N� TBMC;K�ub	b^bb	�

v�\^w A� kI�UVGWI� �� F�[J ]MK� �b	b�c @\bbcN�

v�_bw �� hB�BJ�E�V� �� F�[J ]MK� �b	b�^ @\bbcN�

v�_�w X� eJKGGB[V� �� F�[J ]MK� �b	b\b @\bbcN� VG�Eymb^b_�b	�`y� vTBMC;K�w _ AVG \bb^�

v�_\w �� YVJJET� VTW j� qGVD�IyJ�V[V� F�[J� pKH� MPL� a` @�^^^N�

v�__w p� pVHH VTW �� �V�UVM�� OWy� SBMC� F�[J� JK� � @\bbbN�

v�_	w j� o�BG[V�� F�[J� kKDD� YOL� �`b @�^dcN�

v�_`w F� pBBJ�VTKT� SBMC� F�[J� SKNN� �a^M @�^^\N�

v�_aw �� �V�VTDEK 4' +7=� F�[J� pKy� �MN� \d	a @�^caN�

v�_dw Yjpjo YICCVUIGVDEIT� n� O�V�VM�EKy 4' +7=� F�[J� pKy� kKDD� OK� �\d\ @�^^`N�

v�_cw rjkXgo;_ YICCVUIGVDEIT� O� OT�KCEJ 4' +7=� jBG� F�[J� �� AGM� 	__ @\bbbN�

v�_^w k� nIGWIT VTW �� �I�KCJVT�� F�[J� pKy� � NL� _�_a @�^^_N�

v�	bw o� eBGUEWK� p� pVHH� VTW Y� nVCK� F�[J� pKy� AFI� `_`� @\bb	N�

v�	�w o� eBGUEWK� p� pVHH� VTW Y� nVCK� XTD� �� AIW� F�[J SGI� b�	^b_ @\bb	N�

v�	\w F� OGTICW� n� AIIGK� VTW k� �VK� �rjF PGGJ� bb^ @\bb�N�

v�	_w FrjSX� YICCVUIGVDEIT� o� OZVTVJEKy 4' +7=� VG�Eymbdba�_b_	�

v�		w X� eJKGGB[V� SBMC� F�[J� SKIP� �\dM @�^^`N�

v�	`w j� o�BG[V�� ET C3%*44?",1 %2 �,'=�%,2=/%?43, ?4947%!/4,'. ", ,&*74+3 !0-."*.� H�
�`d� SIyIJEUEGJ�� �^cd�

v�	aw �3"'"*+7 C%",' +,? I,.4' %2 >4*%,J,4/4,' � K'0 �,'43,+'"%,+7 L%3F.0%!�
LVG�JDVWD� nKG�VT[� \bbd�

v�	dw q�qVGGIEJ� SBMC� F�[J� YGJI� _^b @�^ddN�

v�	cw O� qVCWET 4' +7=� FGKHGETD �XSp;F�;`c�^@�^d�N} �VW� hE�� GL� d^ @�^d_N� @MB�BCVDEyK
K�KMDN�
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v�	^w L� qCI��ETDJKy� njeh F� ^^` @�^`cN� @�BMDITN�

v�`bw L� oKEUKGD� F�[J� pKy� kKDD� FM� �_a @�^c^N�

v�`�w o� OyKGEM�Ky 4' +7=� �XSp MI��BTEMVDEIT;F�;c`;`�\@�^c`N�

v�`\w �� qV[B�Iy 4' +7=� �VW� hE�� NJ� �c` @�^c`N�

v�`_w �� oDVyETJ�E[� �XSp MI��BTEMVDEIT� F\;cb;dad�

v�`	w O� qVCWET VTW o� nKGVJE�Iy� �XSp MI��BTEMVDEIT j\;��cb	@�^dcN�

v�``w p� kKWTEM�[ 4' +7=� F�[J� pKy� AFG @\bbbN� b_	^b��

v�`aw p� k� �V�K� F�[J� pKy� kKDD� ML� �^` @�^ddN�

v�`dw p� k� �V�K� F�[J� pKy� �GK� \c� @�^ddN�

v�`cw O� e� A� OKGDJ� F� �� n� ABCWKGJ� VTW �� �� WK o�VGD� F�[J� pKy� �GO� \ab @�^dcN�

v�`^w F� �� ABCWKGJ� O� e� A� OKGDJ� VTW �� �� LK o�VGD� F�[J� pKy� �JG� \a`_ @�^cbN�

v�abw �� q� �IHKCEIyEM�� q� oM��KJET�KG� VTW q� j� oDKGT� SBMC� F�[J� SKNI� 	c` @�^^\N�

v�a�w e� �V�V�V�E VTW �� O�VEJ�E� F�[J� kKDD� YKMK� db @\bb\N�

v�a\w F� �EKTCK� �� O�VEJ�E� VTW e� �V�V�V�E� F�[J� kKDD� YFMJ� �cd @\bbaN�

v�a_w e� oB�B�E 4' +7=� F�[J� kKDD� YKIO� \a_ @\bb	N�

v�a	w �j�;Fo j`	^� e� oB�B�E 4' +7=� AIW� F�[J� kKDD� SJM� \`\b @\bbcN� bd���	^	_�

v�a`w o� �[MKM�� SBMC� F�[J� SNKP� _^^M @�^caN�

v�aaw O� nVC� SBMC� F�[J� SOIP� �	_ @\bbdN� TBMC;D�uba�bb^b�

v�adw �� pVZKCJ�E� F�[J� kKDD� YIG� \c� @�^cbN�

v�acw �� pVZKCJ�E� F�[J� kKDD� YJPO� _d� @�^ccN�

v�a^w F� OJCVT[VT VTW ID�GKJ� �XSp YI��BT N Qh� G� ^^ @\bb`N�

v�dbw A� X�VJV�E� r�Fba�AVET�� gMDIUKG \bba @\bbaN�

v�d�w LXoeg� e� �V�V�V�E 4' +7=� FGIM� kjOFuj�O MITZKGKTMK� �EKTTV� �`;�^
oKHDK�UKG� \bbc @\bbcN�

v�d\w S� rKGG�VTT� FGIMKKWET�J j�Ob`�\bba @\bbaN�

v�d_w hXS{LO� A� O�TKCCI 4' +7=� F�[J� pKy� kKDD� IN� \�\_b_ @\bb`N�

v�d	w hXS{LO� A� O�TKCCI 4' +7=� F�[J� kKDD� YFKN� cb @\bbdN� bdbc�_a�	�

v�d`w n� qKTWEJMEICE 4' +7=� SBMC� F�[J� SOLI� \\\ @\bbdN�

v�daw F� qBK�CKG 4' +7=� e�K OAOLj{o YICCVUIGVDEIT� XShS� hGVJMVDE� kSh;bdu\	@XpN�
SIyK�UKG c�\bbd @\bbdN�
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v�ddw F� oVCyETE 4' +7=� FGIM� XTD� MITZKGKTMK kjOFbc��EKTTV� �a;�^ oKHDK�UKG� \bbc
@\bbcN�

v�dcw A� qVCVTWET VTW ID�GKJ� SBMC�XTJDG� VTW AKD�� JP� ��b @�^a_N�

v�d^w e� S�BKT;LET� �� FKTKy� VTW ID�GKJ� �XSp YI��BT GM2KINJ @�^d�N�

v�cbw q� o�V�UV�EVT 4' +7=� SBMC� F�[J� SMON� d_ @�^c\N�

v�c�w F� l� OJCVT[VT� FGIM� ��X XorjFF� LBUTV� �BTK �b;�`� \bb\� �XSp J @\bb	N�

v�c\w F� OJCVT[VT� FGIM� X��V�FI�KGVTM�B� VTW F�[JEMJ VD D�K eBGT IZ YKTDBGEKJ� pEyKG
jW�K� �IGCW oMEKTDE�M � \	d @\bb_N�

v�c_w F� l� OJCVT[VT� OXF YITZ� FGIM� OIF� �^d @\bb`N� �KH;K�ub`bd�b`�

v�c	w F� OJCVT[VT VTW �� j�KC[VTKT�I� FGIM� ��XXX XorjFF� LBUTV� gMDIUKG \^;	�\bbc
@\bbcN�

v�c`w F� l� OJCVT[VT� hE�E�V YGO� \bd @\bbcN�

v�caw F� l� OJCVT[VT� FjFOS N @\bb^N�

v�cdw F� l� OJCVT[VT� @\bbdN� bd�b�	_\\�

v�ccw O� lETM�KT�I� FGIM� ��XXX XorjFF� LBUTV� gMDIUKG \^;	�\bbc @\bbcN�

v�c^w �� {� OUGVV�[VT 4' +7=� @\bbcN� bcba�\d^b�

v�^bw �� {� OUGVV�EVT� �� A� X�[BGIy� A� S� ��VM�VDBGEVT� A� O� �I��ET� VTW O� n�
��BWVyKGWEVT� F�[J� kKDD� YMJM� � @�^^	N�

v�^�w �� {� OUGVV�EVT 4' +7=� F�[J� ODI�� SBMC� KI� \`\ @�^^aN�

v�^\w �� {� OUGVV�EVT 4' +7=� F�[J� ODI�� SBMC� FP� �c	_ @�^^dN�

v�^_w �� {� OUGVV�EVT� A� O� �I��ET� n� k� AKC�B�Iy� A� S� ��VM�VDBGEVT� VTW O� n�
��BWVyKGWEVT� F�[J� ODI�� SBMC� FL� ^c\ @\bb`N�

v�^	w �� �� kKIT�VGWD 4' +7=� �dD� Xjjj FVGDEMCK OMMKCKGVDIG YITZKGKTMK @FOY ^dNm
OMMKCKGVDIG oMEKTMK� eKM�TICI�[ VTW OHHCEMVDEITJ� �\;�a AV[ �^^d� �VTMIByKG�
qGEDEJ� YICB�UEV� YVTVWV�

v�^`w O� O� o�EGTIy 4' +7=� �� F�[J� YICCI~� NK� Y��\d^ @�^c	N�

v�^aw X� nITM�VGIy VTW k� AEB� YG[I�KTEMJ JL� �c_ @�^ccN�

v�^dw A� OTWKGJIT 4' +7=� SBMC� XTJDGB�� AKD�� SNII� a`^ @\bb_N� TBMC;K�ub_b�b�`�

v�^cw e�K oeOp YICCVUIGVDEIT� M�%,*4!'&+7 >4."1, N4!%3' 2%3 '04 O%74,%"?+7 A3+*F43 +'
ND��P � �BTK �^^\� FBU;`_	d�

v�^^w OkXYj YICCVUIGVDEIT� �:��Q A>N R MA"/4 !3%S4*'"%, *0+/843P � YjpSukrYY
\bbb;bb�� �VTBVG[ \bbb�

\\b



v\bbw OkjFr YICCVUIGVDEIT� SBMC� XTJDG� VTW AKD�� SJIN� �\� @�^^bN�

v\b�w �� OD�IIW 4' +7=� SBMC� XTJDG� VTW AKD�� SMPF� 		a @�^^�N�

v\b\w O� OTWGITEM 4' +7=� SBMC� XTJDG� VTW AKD�� SKJM� _b\ @\bb	N�

v\b_w e� kI�JK VTW �� �ED�KCET�� XTDKGTVC SIDK YjpS;OkjFr;^�;^`�

v\b	w �� OCCEJIT VTW �� YIUU� OTT� pKy� SBMC� FVGD oME� MP� \`_ @�^cbN�

v\b`w O� kKUKWKy� SBMC� XTJDG� VTW AKD�� SNOL� �a_ @\bb\N�

v\baw �� OUKCK 4' +7=� SBMC� XTJDG� VTW AKD�� SNII� a^\ @\bb_N�

v\bdw q� SECJKT 4' +7=� SBMC� XTJDG� VTW AKD�� SKII� �da @\bb^N�

v\bcw k� �IDM�KTDV 4' +7=� SBMC� XTJDG� VTW AKD�� SNII� db_ @\bb_N�

v\b^w O� �VET 4' +7=� LVDV MCBJDKGET�m O pKyEK�� OoA YI�HBDET� oBGyK[J ihj�MG @�^^^N�

v\�bw �� qCB� VTW k� pITVCWE� C+3'"*74 >4'4*'"%, T"'0 >3"2' �0+/843 @oHGET�KG� qKGCET�
\bbcN�

v\��w o� O�KTWICV 4' +7=� SBMC� XTJDG� VTW AKD�� SJLM� `d_ @�^c^N�

v\�\w O� rVTWUII�� OkjFr c^;dd�

v\�_w o� FVCKJDETE 4' +7=� SBMC� XTJDG� VTW AKD�� SNJG� d` @�^^^N�

v\�	w o� FVCKJDETE VTW �� AMLITVCW� O!+*4 *0+314 ", "%,"5+'"%, ?4'4*'%3. � YjpS� AVGM�
\bbd�

v\�`w k� �B�VG� U"3.' 34.&7'. 23%/ �&V�& *%77"."%,. +'
√
sNNWX=Y G4Z[* � ZIG oeOp

MICCVUIGVDEIT� FKT�VU {TEyKGJED[� \bbc�

v\�aw n� �VT qBGKT 4' +7=� SBMC� XTJDG� VTW AKD�� SKFF� \\ @\bbaN�

v\�dw k� ABJV� M�QN� !+3'"*"!+'"%, '% Q\>QA 2%3 AC� 474*'3%,"*.P � YjpS� _� OB�BJD
\bba�

v\�cw e� AVDJBWV� MAC� 2%3 �:�P � oHKMEVC hIMBJ �IG�J�IH IT AEMGI;FVDDKGT nVJ VTW
oECEMIT LKDKMDIGJ ZIG eGVM�ET�� Xjjj \bbc� LGKJWKT� �c gMD�� \bbc�

v\�^w p� YV�HV�TICI� MC432%3/+,*4 %2 '04 �:��Q AC� U3%,' Q,? Q74*'3%,"*.P � ^;D�
�IG�J�IH IT jCKMDGITEMJ ZIG krY j�HKGE�KTDJ� O�JDKGWV�� \^ oKHD�;_ gMD� \bb_�

v\\bw �>O;Y]R� eK�VJ XTJDGB�KTDJ� oqOo	\cY;�VTBVG[ \bbc�

v\\�w �XkXS�� O!+3'+,�^ U+/"7- I9439"4T� Lo�ab@y� ��bN� hKUGBVG[ \� \bb^�

v\\\w p� jJDKyK qIJM�� O� �E�KTK�� q� AIDV� VTW k� ABJV� Xjjj eGVTJVMDEIT IT SBMCKVG
oMEKTMK ihj� KP� Qh� F @\bb_N�

v\\_w �� lVTKyJ�[ 4' +7=� FGKHGETD �XSp F�_;\bba;�ac� LBUTV \bba�

\\�



v\\	w o� Y�KGTKT�I 4' +7=� YqA FGI�GKJJ pKHIGD \bbc� noX pKHIGD \bb^;b_� _a�

v\\`w OCEMK� F� �BE�KG� SBMC� XTJDGB�� AKD�� SKMP� \c @\bb	N�

v\\aw oeOp� �DDHmuu���JDVG;JU��ET\H_�ZGuETWK��H�H�

v\\dw Lb� �� j� YIIHKG� SBMC� XTJDGB�� AKD�� SKIL� 	� @\bb^N�

v\\cw o�L� @\bbcN� �DDHmuuJBTJK��ETG�GBuMWJV�KTWVuWEJHCV[kKyKC�H�H��WP	`�

v\\^w o�L� �DDHmuuJBTJK��ETG�GBuMWJV�KTWVuWEJHCV[kKyKC�H�H��WP	`�

v\_bw YqA� @\bb^N� �DDHmuu�����JE�WKuWIMB�KTDJuLgY;\bb^;hKU;\__��D�C�

v\_�w OkXYj� @\bbbN� YjpS;krYY;\bbb;b�\� OkXYj eLp c�

v\_\w OkXYj� F� YIGDKJK 4' +7=� @\bb\N� YjpS;krYY;\bb\;b�a� OWWKTWB� DI D�K OkXYj
eLp c�

v\__w �6B A4*0,"*+7 O'+'&. N4!%3' Y<<^ �

v\_	w �� X�K�VDJB 4' +7=� @�^^cN� VG�EymH�[JEMJu^cb\b\	 y��

v\_`w h� nKBGDJ 4' +7=� SBMC�XTJDG�AKD�� SKPL� ab @\bb_N�

v\_aw r� OCyVGK�;FIC 4' +7=� SBMC�XTJDG�AKD�� SKMK� \dd @\bb	N�

v\_dw X� kK�GVBJ� SBMC�XTJDG�AKD�� JGO� 	_ @�^c_N�

v\_cw k� OH�KMKDM�K 4' +7=� SXA SNII� `\� @\bb_N�

v\_^w n� ODIEVT 4' +7=� SBMC�XTJDGB��AKD�� SKMG� 	ad @\bb	N�

v\	bw o� qVGJB�� ET _� �,'=�%,2= �+7%3"/4'3- ", D"10 Q,431- C0-."*.� XDVC[� \bb	�

v\	�w L� �VGCKT 4' +7=� SBMCKVG F�[JEMJ Y GKI� ^� @\bbaN�

v\	\w l� oVW[�Iy� SBMC�XTJDG�AKD�� SKFO� db @\bb`N�

v\	_w �� yVT kII� F�[J� oDVD� oIC� JL� \\d @�^d`N�

v\		w �� AIJKJ VTW o� j� LKGKT�I� Xjjj eGVTJ� SBMC� oME� MF� �d_ @�^c^N�

v\	`w A� �IUV[VJ�E 4' +7=� SBMC� XTJDGB�� AKD�IWJ SMMM� 	\^ @�^^_N�

v\	aw �� qVG[J�KyJ�[ 4' +7=� SBMC� XTJDGB�� AKD�IWJ SMJJ� \_� @�^^\N�

v\	dw F� kKMI~ 4' +7=� YAo eSu^	;_bc�

v\	cw �� qIGIWKT�I 4' +7=� @�^^`N� ET XTD� YITZ� IT SBMCKVG eGVM�ET� VTW pVWEVDEIT
AKVJBGK�KTDJ� O�JDKGWV��

v\	^w A� S� ��VM�VDBGEVT� FVGDEMCKJ VTW SBMCKE MN� �_�a @\bb_N�

v\`bw OekOo� @�^^dN� OekOo XTTKG LKDKMDIGm eKM�TEMVC WKJE�T GKHIGD� �IC� \ YjpS;
krYY;^d;�d�

\\\



v\`�w �� nIBJV�Iy 4' +7=� �XSp HGKHGETD� �GM2JPPL2LK @\bbcN�

v\`\w �� S� q[M��Iy 4' +7=� SBMC�XTJDG� VTW AKD�� ET F�[J�pKJ� SKKF� aa @\bbaN�

v\`_w o� n� qVJECVW�K 4' +7=� SBMC�j�JH�eK��� KG2M� __a @\bbcN�

v\`	w �� LVy�Iy 4' +7=� FVGD�SBMC�kKDD� N=GNPB� `	` @\bbdN�

v\``w �� LVy�Iy 4' +7=� SBMC�XTJDG� VTW AKD�� ET F�[J�pKJ SKLN� \c` @\bbcN�

v\`aw �� A� kBDJKT�I� �� �� A[VC�IyJ�[� VTW �� L� FKJ�K��ITIy� F�[J� FVGD� SBMC� kKDD�
M� \d_ @\bbaN�

v\`dw X� l�B�Iy 4' +7=� �XSp F�_;\bb`;�\a @IT pBJJEVTN @\bb`N�

v\`cw �EGK FVW M�V�UKGJ VTW YVD�IWK FVW M�V�UKGJ ZIG D�K krYU �BIT J[JDK��krYU
ETDKGTVC TIDK� krYU ETDKGTVC TIDK�

v\`^w YAo ABIT eLp� YjpSukrYY ^d;_\�YAo eLp _� �` LKMK�UKG �^^d�

v\abw �DDHmuu����GI�VMKCC�WK�

v\a�w o� �IGHVG� AYF;FAe oDVDBJ� oBHKG �j�q � �st gHKT AKKDET�� LKM� \bbc�

v\a\w �� OWMI� 4' +7=� F�[J� pKy� kKDD� LI� \�\_b� @\bb\N�

v\a_w p� k� pV[ VTW A� LVB��KGED[� TBMC;K�ubdb\b_^y\ @\bbcN�

v\a	w k� A� AECCKG 4' +7=� TBMC;K�ubdb�b\`y� @\bbdN�

v\a`w �� �VT� VTW A� n[BCVJJ[� F�[J� pKy� �NN� _`b� @�^^�N�

v\aaw �� �KGTKG� F�[J� kKDD� YJPL� `\b @�^ccN�

v\adw r� oIG�K� r� oDIKM�KG� VTW �� nGKETKG� SBMC� F�[J� SNIL� `adY @�^c^N�

v\acw {GxAL� �DDHmuuD��H�[JE��BTE;ZGVT�ZBGD�WKu BG~�Wu �

v\a^w Y� O�BEVG 4' +7=� qGV�ECEVT �IBGTVC IZ F�[JEMJ MN� _�^ @\bb	N�

v\dbw �� L� qV�B�Iy 4' +7=� SF MK� ^ab @�^c\N�

v\d�w p�qGBT 4' +7=� GQ��A \.43. G&"?4=� YjpS FGI�GV� kEUGVG[ �IC� jTDG[ �`b�_
@YjpS� nKTKyV� o�ED�KGCVTW� �^^	N�

v\d\w SO	^� jBG� F�[J� �� SJ� _c_ @�^^cN�

v\d_w �DDHmuu����TKV�ZGuVUJu�D�CuEVKV�\cd��D�C �

v\d	w o� n� AVJ�TE�� �� �� nBWE�V� X���AIJ�VCKT�I� p�j�FGVKC� VTW O���oEKG��
VG�EymTBMC;D�ub\�bba`y\ �

v\d`w A� nICBUKyV 4' +7=� F�[J�pKy� JPPK� b\	^b` @\bb`N�
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